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7. (p—9q)® 8. (x—4)8
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(8) m+m-—2 (4) > +2y—-38
(5) x* +2x— 15 (8) k* + 4k —82
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(15) p% — 4p — 77 (18) k* — 11k — 28
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(8) 2x3+9x + 10 (10) 8a? 4 10a 48
(11) 7x®* 4+ 25x 4+ 12 (12) 15d® +11d+ 2
(18) 8m? +-29m + 9 (14) 12x? 4 81x + 20
(15) 2x3+ 9x 44 (18) 4x? 4 18x + 10
(17) 4x? 4-18x 4 8 (18) 6x%4 28x 4+ 10
{18) 10x? 4 28x 4+ 9 (20) 8x*+4 27x + 9
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(1) 8x:—10x + 8 (2) 8p2—17p +5
(8) 10m2—19m + 7 4) 802—11c+6\
(6) 2d*—15d + 25 (8) 2x3—25x + 50
(7) 8y2—81y -} 66 (8) 15c2—19c 48
(9) 4x*—28x + 15 (10) 822—10a + 8
oML &air
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B-7. sryelii URSSD : ax® + bx — ¢ eupand
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srrewiin u@SHs ¢ 68x? + 7x — 20
Biay
6x3 :|- 7x — 20 ssuafés ¢
= 6x? 4 15x — 8x — 20 20 x 8 = 120
= 8x (8x + 5) 120 = 15 x 8
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(+15 —8) = +7
= (8x + 5) (8x— 4) | IF (=8 =+
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ud 9 8-7
(1) 2a? + 7a - 4 €2) 242 +a— 8
(8) 8x2 +7x — 20 {4) 8p% + 6p— 12
{5) 8x? 410x — 48 (8) 5a? 4 482q — 27
{7) 6x2 L+ x—15 (8) 18a% 4+ 92 — 85
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(1) (a+ 4)(8a—-1) (2) (2a + 8)(a—1)
(4) (p+4)(8p —8) (9) (5m + 4) (4m —8)
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(1) 9x? —65x —4 (8) 6x? —x —18
(8) 8x —6x -5 (4) 8x* —5x -8
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P(x) = x3 — 2x? 4+ 8x — 4 erooflsd P(1), P(2), P(—-2)
< Bweup Pisir wPrigdsamarujh sRTH Uliguwisd RS Curib.

wGasGh Caranas £H

(x-1) —2 P(1) =1-248-4 = -2
(x—8) 2 P2 =8-8+4+6-4 = 2
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starGeu,
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P(x) =8x? —ax + 11
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a=38.
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v mItid GCareney UGG Carensuy Ihigs)
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(2) 2x? —4x +a x +1 9
(8) 8x% —6x? +7x 4+ a x—2 21
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(9) x3 + ax + b ereirp U PUILE CETITW (X — 1 )BphsD>
aEss 8 18. (x — 2)pd aGss 5H 28 eraflsr
a, b@er vwHIESMTE STHT .

(10) 2x2+tax + b ereirp udUyS Caramaiamu (x +2) QpHed-
uGss 55 21. (x — 3)Ped auGss 8FH 11  ereflsd-
a, b@er wHydsmer s &I BT S.

X9 61 F6iT
(1)a=7 (4)a=-6 (7)a=8 (10)a=—4,b=5.

C 8-11. &sryowflg Capmib

@F eamenswr wHCpri  eTawr LSHISTH  euGS ST
DeQaustr W RuaTeaRlisr NGSFH PG, Qe
usIDILLS CaTemaus@d@l QurBbgiorseorsd, BHS Csm
psIsr 2 galows Qarair® priv Carensusaiiss eu@sHasr
SOV G STy RlSET STERr GuIsid.

cr@,ig:a’sawnl@ :
x3 ~6x 4 6-8% (x—8), (x— 2), (x —1) eTTUaS
STJ NG TS DEHLOWJLOT 6760 & BTG G

Siey 2
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b apee8sd sTHSH&CsTRlTL. Caremayd @iCpurgn. &
smaw Gereansy swsdt Garensy sTar @b,  apsit oy tor Paeir
acien Qaremeuudsr eTps Gravr® wrPsefigud T HES
wpmen gl 197 SuIB Qodigldh Carensy wrprusddmpsTd g
FwELi Carananur @b, &wddd erer Caraousamer Benwdk
©Curg 9Cr unyuld asrer wrPalidr Gawetiasr swwrs
BméaCausitBib. ’
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sws it Carencuseafisr Qursgy Sulg CUBISET 1

or Rasir Lig. Carensy
7
X, y 1 a(x+y)+ b
X, y 2 a(x? +y)+bxy +c(x+y)+d.
Xy P Z 1 a(x+y+2)+6b.
X Yo 2z 2 a (x*+y? + z%) + b(xy + yz -+ zx)-
+e(x+y+2)+d

Lud H& 8-16

(1) Spssrgyib Carensuaaflsy cTamey Fw&d @6 aranas eTard-
ST VT B4

(a) x3+y* + 8x + 8y + 5.

(b) xP +p° + 4.

(c) 2x? — 9y,

(d) 8x? 4 2xy + 8y® + 6x + 8 + 6y.
(e) 8x? 4+ 8y? +x + 7.

(f) 5a® — 8ab 4 6b* — 2a + 8b — 7.

(2 a b c@s 2ypin uguisdr @iF FWEST Carensusnus
TPSIS.

8-17. auleL Fws&i Garensumer

‘a(b+c)+b(c+a)+c(a+b) earp Caremusur
TBHSSE QaretGaurtd. G F0 a-&& b-sownpd, b-&@ c-emwyih,
-6 a-swuyh Gy HuIB GaiCauri. GUOurwgy HmLdsl:
Qugb Garemsu b (c + ay +c(a+b)+ a(b +c) pG.
Bé Carenauyyh eogedsy enplivl L Carsvauyh Q6TGpur@Gd.
Assmsw  Carmaussr et cwifi Caromaast ear
Sppset@umh. a b, ¢ sTp epsirm wrpsmeryth Q-
a8 RSl Howsy @b wTHpsoss Qelnweria,
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a(b +c) +b(c +a) + c(a + b) asrumzs spdawrs
Za(b4c) srer ﬂ@ﬁmlﬂb. 3 eratueng ‘Adwor’’ erars
U &8 CuaTBn. @ Fal’Led sTeirp Qur@eflsh LSTUR SB0
uBdpgi.

Pt

C (N
\
ut-th 8-1.

TOFsHEsTLR 1@
iS5 Fmees : z x(y — 2)

Krel 3
Zx(-z2)=x(y—z) +y(z=x) + z(x—y)

=Xy — XZ+ yz—yX +z2x —zy
=0¢

TOsHSSTLH 2 :
afSHs améGs : 3 x? + 23 xy.

Bigy :

% x2 4+ 23 xp.
=x?+y + 2 + 280y + yz + 2x)
=x2 4y +22 4+ 2xp L+ 2yz +22x
=(x+y+2)?
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uudHs 3-17
NG 5¢ FMmaEGS.
(1) zx (2) 34
(8) 3 (a+b) (4) 3 x &+z2)
(5) 3 (a® +b%) (8) 3 (x*+y°)
(7) 2 (x+y) (x—y) (8) = (a+b+c)
(9) = (a+b—c) (10) 3 (a—b—c)
{11) 2 (x—y)x?+xy+y?) (12) % (a®+b24c?)
(18) = (x¥4y*—29) (14) (Zx)* — 3=

(18) Zp'(g+r—p)

6l sML_Har

(1) x+y+2z (8)8a+2h+4 2 (4) 2(xy +yz
<+ 2x) (10) — (a+b+c)
3-18. sy piiyd GHETADUKAT : UTEHS APORISAT
Pwara) suils :
x X x = x?
(=x) X (—x) = x*

Vxt=4x asbeog) —X.

LsoaE SHMHESWTS £ X 6TOT sTUHSIMG AIpdatb.
x8xx8 = (—x8) X (—x8) = x8

1
ﬁf’:.—:bxs::!:xex’

x8xx8 = (—x5) X (—x8) = x!°

1
A x10 = & x8 = ixlox’

HxtxB6xt = (—5xt) X (—5x%) = 25x8

25x8 = £ 5xt = & 5x8x*'

S—X—3
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Peneralsh Qarsirs :

(1) erevhr @Gooor sRISEHS(H TOT samilg wenpliuy. aul&sapsol:
STy 560 Caushr(h b, .

(2) SPRse ool aids yusddr AGES Sibs
TeutT sliedr By (H&dsd LT SuwirGLb.

(3) e@f saaalipeg @® Woas auiés apow, RO GDD
uids apooth Ppes Qm uiEs apomssr 2.ar®. GO
ool resr ) lens aufss mpusans wL.GCWL Frib
FuurLgPhsd GALCurm.

TRSHSHTCE : ’

144 al? b8 c?Qisir sutds apooth TS,
Biay ¢
NTd4aTT 5 &
1 1
= 182a L8 5 Ik PR
1248 bt c?
12a8 b4 c.

uud % 3-18

97 aumsuaTey D POT suT &S APVBISNETS ST TS,

]

(v é &6 &G&siT)
(1) at° (2) x!e (8) 25%° (4) 189x4y®

9atbt " 8m8ys
. 8,2 B B — ————
(5) 2-25 x8y (6) 18x7y8 (7) 5029515

0:81m? (x + v)?
) TeTpiq + 1®

(10) 88 (x + y)* (y + 2)® (z + x)*.

(9) 1 T%x”y” 214

3-19. wids apood : sTyenl! pen m

Penarey Gaifs :
(a4 b) =a? 4 2ab + b?
(a — b)t = a? — ab + b?
(8 + 8y)? = 4x? + 12xy 4 9y?
(8x — 4y)? = Bx? — 24xy 4 18)?
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Vo' ¥ Pab + b? = (a + b)
Ya* = 2ab + b2 = (a — b)

Vax? 1 18x - 9y? = (2x 4 8y)
Vox?® —24xy 1 16y% = (8x — 4y)

sTRSHSsTLH 1

25x? + 80xy + 9y% @it aulsés apevid &rabrs.
Biay :

£5x% + 80xy + 9y?

= (9x)% 4+ 2(5x) (8y) + (8y)?
= (5x + 8y)2

v 85x% & 80xy + 8y? = (6x 4 8y)

TRSHEFSTLH 2 @
(x +y)? = 8(x + y) + 9 @&t auisas apoord srabra.
Biey : -
(x+y)2—8((x+y)+9
‘x4 y =k ereira.
(x+yp)?—-6(x+y)+9=k—-6k+9
=k* — 2(k)(8) + 3?2

= (k — 8)?
uids gpoo = (K — 8)
=(x +y-—8)
e 3-19
19631 61 MEUSIT 61 D DT 6uT SBAPVBIGMET & ST T .
(1) a? 4+ 2a 41 (8) x? 4 14x 4 49
{8) x? 4-16x 4 64 (4) b* —10b 4+ 25
- {8) ¢?.—20c +100 (6) m?—22m 4121

(7) 16x? +24x + 9 (8) 9x% 4 80x + 25



(8)
(11)
(18)
(15)
(17)
(18)
(19)
(20)
e1)
(22)

(1)
(11)
(19)

3-20.

80

49x? —-14x +1 (10) 884% —80a + 25
9xz & 48xy + 64y (12) 18a 1 72ab + 81b%
4/% —28lm + 49m?  (14) 25¢% —B80cd + 384?
4a%h? + dab +1 (18) 25x?y —20xy 4 4
x¥ + y? 422 4 Bxy + 8yz + 8zx

pr L+ q* 4 r? + 8q —8qr 4+ 2rp

(m -+ n)s - 12 (ni + n) + 86

(x + ) ~10(x +yp)+85

10 (x —p)* -8(x —y)+1

4(p+ @*—28(p +q + 49.

AP ML & &T

a+1) (4) (b-19) (7) (4x 4+ 8)
(8x + 8y) (185) (2ab +1) (17) (x+y+zp
(m4+n+6)(22) (2 + 29 —7).

UTEHHAPVID 1 QUBH&H S QsrLimHer

THSHUIHTLER ¢
6u it & SAPsULD & 60T .
(x* + 8x —18)(x? —x —8) (x* + 7x + 10)

Siey
arysflOu®B s s,

x? + 8 —18 = (x+65) (x— 8)
x? — x — 6=(x—3)(x-|;2)
Xt 4+ 7x +10 = (x + &) (x + 6)

V{x? + 2x—15) (x* — x — 8) (x* + 7x + 10)

=V(x +8)(x—8)(x—8)(x +2)(x + B) (x + &)
=N +6)7(x—38) (x + 2)°
=(x=+8)(x—8)(x+ 2)
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Lud HS 320

et sumover ot Fdr eutdappoiismerd srairs.

(1)
&)
C))
4
(6)
1))
()
(8)
®)
(10)

(X2 + 8x + 2) (x2 + 8x + 6) (x2 + 4x + 8)

(a2 + 7a +18) (a2 + 9a + 20) (a2 4 8a + 15)

(* —8p + 2)(p2 —8p +8)(p? — 4p + 8)

(m2 —7m 4 12) (m2 — 9m + 20) (m 2— 8m + 15)
(¥ — 8x — 4) (x2 + 8x — 28)(x2 + 8x + 7)

(x2 + 4x — §) (x2 + 11x + 80)(x2 + 6x — 8)

(%2 + 7x — 18) (x2 — 8x + 8) (x2 + 8x — 27)

(a2 — 9) (a2 4 8a — 15) (a2 + 8a + 15)

(12x2 + 19x + §) (8x2 4 22x415) (6x2411x4-8)
(4x2 — 8x 4 8)(4x2 — J2x 4 6) (4x2 — 18x+15)

O L% T

(1) (x+1)(x+82)(x+8)
(8) (a+8)(@+4) (a+¥6)
(8) p—1)(P—2)(p—38)
(4) (m—8)(m—4)(m—§5)
(5) (x+D(x—-—D(x+7)
(8) (x—1N(x+8)(x+86)
(7)) (x—2)(x—8)(x 4 9)
(8) (a+8)(a—8)(a+6)
(9) (8x -+ 1)(8x + 8)(4x + &)
(10) (8x —1)(2x — §)(8& — 5)

3.21.

UTSHEAPOID : UGHHBHD WPe» D

vy Caremsusafiedr sutdsapobiaaner, sTabr seafl
H5H Qelieug Cursd aGSS0 (e powl uwst Ul S Huyb
&T 3T SOT LD
© 9x2 —80x + 25 @6r uirds apvsmss STRTGUTID,
M. X.—8
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9x9 — 80x + 85 = (8x + a)2 srsir gy Qsweir Gourid.
= 9x2 4 Bax + a2
—80x + 26 = Bax + a2
=a(8x + a)
=a(2 X 3x + a)
a= -5 stelTugy Qzefiay.

Bameard sméswrs auGSse wepuld £peurmorm
Qednusor ib.

8x — &
8x | 9x2 — 80x + 26 (8x)2
9x2
8x — 6 — 80x + 26 (8x — 5)(—5)
— 80x 4 25
-0

TS PISTL®D ¢
4xt—18x3 + 20x2 —80x + 25 Qe autdsapsvid STOHS.
i) :

2x2—8x+46
Ox2 | 4x4—12x34+29x2—80x+25
4dx% (8x2)2
4x2-8x —12x3429x2
—12x34 9x2. (4x2~-8x)

. X{—8x)

4x2—-8x+6 20x2—-80x1+25
£0x2—80x-+- 25| (4x2—8x45)
xX(8)

0

S Ndxt —12x% + 28x2 —80x + 25 = 2x2—8x + &
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Lud p& 8-21

O auimd udgrpiyé Caraassisr uids godismard
aralr &,
(1) x% 4-8x3 4 3x% 4 8x + 1
(2) x* —4x3 4+ 6x2 —4x + 1
(8) 4dxt — 20x3 4 29x2 — 10x + 1
(4) 26p+ — 20p3 — 28p2 + 18 + 9
(6) x5 4+ 2x5 4 8x*t 4+ 4x3 4 8x2 + Ox - 1
(8) 9x6 — 24x5 4 18x% — 80x3 + 40x2 + 25
(7) 18x% — 24x3 — 7x2 + ax + 4 @® aaqp wtdsth stafsd
a @er uwdiny sretrs.

(8) 26x* — 80x3 — x2 4 ax + b 96 oy autdsnh aafid
a, b @it wPHOysr ereirsr P

afl smr. & ar
(1) (x24+x+1) (2) (x2—2x+1)
{8) (8x2-6x+ 1) (4) (6p%> —2p—38)
(6) (x3 +x2+x+ 1) (8) (8x3 — 4x2 —6)
(7)) a=128. (8) a=86,b=1.

3.22, S0Gum Qurg agd® (1. Qu. a1.)
Pooarayu®sHs Asrers.
24, 80, 38 caasalisr f, Qu. a. srEEYb Yo poOW
upP gposeTCar o8 bHmEACprid.

84'=83x 8
80=2x8 X6
86 = 22 x 82

24, 80, 38 @657 . Qu., au. =2 X 8 = 8. @@Guﬂ'd)
5a2, b2, 20ab3 @ 5. Qu. au. sreTGurib,

5a2b2 = Bxa? x b2
80ab3 = & X 82 X a X b3
5. Qu.eu. = & X ax b2

§ab2
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TR HEETL® ¢
4x2p3, 8xy> @eir &, Qu. a1, &rrsabra.

Siey:

4x2y3 = 82 x x2 x ys.

6xys =8x 8 x x X y5

8. Qu. ou. = 2xys,

Ll H& 3-22
8657 eu@eusweu pisr . Q. o, ST E.

(1) a7, a* (8) x5, x¢
(8) ps8, plt, p7 (4) d4a?, 8at-
(5) 7x3, 14x5 (8) 24a2, 864a7
(7) 10a2b?, 1544bs (8) 20x3y2, 26xy*

(9) 12a%b%cS, 16ab3ct. (10) 12a3b2c2, 80a3hc?
(11) 10a%bc?, 16ab%c3, 20b3c?
(12) 4dx?y3z2, 12x5
(13) 8xb, axy
14) pm, pm+1, pmit
ol s & 6ir
(1) at  (4) 2¢2 (7) 6a®%? (11) Sbe
(14) p
3-28. . Qu. ar. : aper gy Garenausar

QrevrB  Spveog Qredry.pHe Cuput. Carenousefsdr
. Qu. eu.  srow  apgefsd Supops  aryfliiu®sHa
CarsrerGaushrGib.  Deitaorit <djeu i Hleir Qurgid sryemft
amaré &1y & Sred upHed sy Quiug 18, Qu. au.
-GN

THSHEETLE @

X2 = 8x — 10, x% 4+ 9x 4+ 14, x3— x— ngnﬁau.m.
& BT S,
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x2 —8x— 10 = (x—6)(x+2)
x2 +9x4+14 = (x+7)(x+8)
x2 —x—86 = (x—8)(x+ &)
8. Qu. 6. = (x4 2).

v n® 8-28
ey sumeuayeup Bt f. QU. &1, STHTS,

(1) (x+8)(x—6)(x+Th(x—2)(x+ 8)(x+8)
(2 (a—1)(a—2)(a—8)(a+6)(a—1)(a—2)
(8) (a—b) (a—b) '

(4) x2(x — y), x3(x — y)?

(6) 8x —5,98x — 15

(8) x2 4 xy, x2 — »?

(7) a% — b2, a® — b3

(8) x4y x3+y3

©) p2—4.p2+8+2 p2+p—2

(10) x2 — 8x + 9, x3 — 27
(11) x248x+ 165, x¥ 4+ 4x — 5, x2 4 8x — 10
(12) 6a® — 7a — 8, 1042 — 11a — 6, 242 + I1a — 82
(18) x? —6x—7,2x2 —x- 8,x2 — 1 ° |
(14) -m2 + 8mn + n2. m% — n2, (m + n)38

ML F6IT

(1) (x+8) (4) x2(x —y) (8) x+y
(11) (x+56) (12) (22— 8)

8.24. B8 my Qurg wrikg (15, §. w.)

PoorayuBs5é Qardrs.
25, 40 @er 15.4.10. STZILD (PSH PEOW ﬁ@mo’qah.rtcmnb.
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26 = §2
40 = § x 23
. & w. = 52 X 23
= 26 x 8
= 200.
TRIHEETERD ¢
168x2, 24x3y Geir 18.8. w. srafra.
16x2' = 8% X x2
24x%y = 23 x8xxIXy
18, &. 0. = 24X 3Xx3Xy
= 48x3y
und HS 8-24
D aumauaTaup Belr £, H. w. srchras.
(1) x2, x3 (2) -a%, ab . (8) x&, x11, x€
-(4) 2a2, 8a% (5) - 8x%, 12x3 (8) 182x3, 20x5
(7) xy,yz (8) a3b, ab? (8) x2Zy3, xy3

(10) 8ab, 8bc, Bca (11) x2yz, x3y
€18) 10a2be, 18abc2, 20a2b2c.

o L_FHB6ir

(1) x3 (4) 8a> (8) x2y3 (11) x8yz
{12) 80 a2b2ce.

3-25. 1. 8. . apair g BETarEaT
FTOIHISTLE®D ¢
x2 4+ 8x — 8, x2 — 6x + 8, x2 4+ x — 8@k 1. A. w.

STETS.
Biay:

x2 4 8x — 8 = (x48) (x—1)

X2 — 8x + 8 = (x—4) (x—2)

x4+ x—- 8 = (x4+8)(x—8)

B oo = (x48) (x—2) (x—1) (x—4)



87
Lud 58 8-25
1961 sueusrasp B 18, A, w. srars.
(1) (x+3)s (x+y)2, (x+y)3
(2) 2(x—y) 4 (x—y)2, 8 (x=y)
(8) 10 (p—q) (g=r), 16 (q—r) (r—p)
(4) x2y (x+y), 8x2z (x—y)
(85) min, m2—n2
(8) m--n, m34n3
(7) a2+8ab4-b2, a2 —b2
(8) x3—1,x2—1, (x=1)2
(8) x24+8x+2, x246x48, x247x412
(10) x2—-9, x24+82x—-15, x24+7x+4+10
(11) 2a02—-5a-12, a2 +a—20, 442+83a+8
(12) B8x2+18x+46, 16x24+7x—8, 10x2+18x—3

R eI EHaT

(1) (x+y)® (4) 8x%yz (x2—y%)
(8) (x—1)2(x+1)(x2+x+1)
(11) (2a+8)(a—4)(a+5)(2a+1)

3-26 ABRAFuw gy CHETOMSET : &K BHSG BV

PoosarayuB s Qarsrs.
8, —5, 4, —7 ashruen wppdssir HSb.
%-, _—35-. -:_27, _517_ sTSTUST  (pugdsefsr  @rient.

sorroorer e Gupm T ST < (Sib.

BsGureBeu P(x), QO(x) # 0 srarusr @ usdbgipiyd

Carensusst 6Teofl6d, g—(();—)) em alfgem Casrensuwir Gib,

x2-6 x2—-8x—8
x2—4dx+7" x3-8x2+5x+1
amdE Ao TOSHsETL DT opSib.

stairuer aldpum Caranas
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et sofigsHo .srergy CureBear efdgupm Csrenas
smeriyth  smlLeb, sfdésagn, Qumdsayb, aigdsayb,
Smésajnh  Fuend., o  sfgsHO  odTar e Hser
Baupmd@id Qurmbgiid.

. 8 2x3 3
sTRSSidsTL LTS, 70" Ex5 5

B st CurenCeu,

4x — 20 . 4(x-=5) _ 4
8x — 15 = 8(x—86) )
2x — 20 _ B(x—10 R
8xZ — 80x 8x(x — 10) = 38x
?P-8x4+2 _ (x—-(x—1) _ (x—2)
X2—4dx+8 — x-=-8)x-1D = (x-9)
v He 8-26
& (5EGD.
x2 4x
D =% ) gy
6x + 10 8a — 18
®) 6x — 16 (‘%) 8a + 8b
—4 2; — 8
®) T— ®) F=—
x+y : 8 (x + »)*
M w= ® soG T
x2 + 11x 4+ 80 x2 4+ x— 8
(@ x2 4 8x — 156 (10) x2 — 1
*x2 - 8x 41 2 —5d + 4
an Srsrra (12 FTorr 54
2x2 4 6x — 12 &5x — &
18) 2% — 6 ) 5 —"s7 78
m3 + 8 2 L 7x — 16
a®) e a8 ghra—ie
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s & 6T
1 1
(1) g (€) (—-1) (8) 5 ¥
(11) ;‘—i—; (18) T2 (16) %—33

AB-27 A s Canenaisalar QLimpdsd
4 5 _4x5_=20
7 9  7Tx8 88
P(x) _ R(x) _ P(x). R(x)
O(x) = S(x) — Q(x) . S(x)
(O(x) = 0, S{x) = 0)
DICEEIET T TSI B

2 4 ‘
188575 Kpsd QuBEGa.
Liay
2 4 2 x 4
x+ 8 X F8 T 18 (x5
— = 8 TITTY
T (x+8) (x+5)
_ 8
T x2 4 8x+15
TESGIGSTLG 2:
QUMmESS :
x2—-x—8 " x2—-8x—8
x2 + dx + 4 % x2—-7x + 12
Bioy

x2 —x—'8 x2 — 8x — 8
x2 + 4x + 4 ol Tx +12
_ (=8 (x42)  (x—d) (x42)
T (x+2) (x+8) T(x—4) (x—38)
_ (x=8) (x+8) (x—4) (x+8)
T (x+2) (x+2) (x—4) (x—38)
= 1




Qu@a®, iy ujoreTTd Bl muéd &mISH TPDHIS—-

(1),
@)
@3)
(4
(%)
@)
)

(8)

80

uud H8  8-27

x— 2

—8

2 X8sx_86

&x + 16

8y —18

2y -8
(x+38) x

x2 4+ 8x 4+ 8

4x +18
8x

——

x2 =

9)
x+ 8

x+ 8
x24+11x 4+ 80

X x2+ 4x +38

x2 —8x

x2 —-8x + 9
x2 —4x + 8
x2 -8

x2 + 8x 4+ &

x2 —86x
X — 2x —16
x2 +8x + &
x2 —-7x + 8

x2—4x —182
x2 4+ 4x + 8

x2 =4

Xx24 B8x 4+ 8

x2 +6x+ 86

x2+ 6x + 4

a? 4 ab as — bs

a2 — b2 " ab(a + b)

8x2 —-2x —8 8x2 +-68x— 9
4x2 + 6x —8 8x2 + 17x +12

(9)

(10)

A emiL_SHar

- - 2 1
M T @iy ™M 5Tz

x—-2)
(x+2)

(10)

8-28. AL zap i Crremausalsr argssed
BAoarey LB S5 Q&reirs.

3 .15 3



MeastCuralas

a1

P(x) . R(x)
Q(x) ° S(x)

=F)
Q(x)
ICE 2T Tl I
UGia @
ax 4 bx

S (x)
R (x)

ae_bi.’

as + agb 4 b2

ax + bx

~ 4% — b3

a2 — b2

a® | gb + b
ax -+ bx

- asd «— b3’

ad — b3

=@ T ab LB
x(a 4+ b)

22 — b2

(a —b) (a® +ab 4 b33

=a¥ L ab 1 bt °

= X

(a + b)(a —b)

aud e 8-28

UGHES.

8x +182
6x -
X2 —~ Tx 418

(2)

—5— T (% + 15)
= (x2 —18)

L x—4

® 16x3

x2 -85

10x
. x2 4+ 8x — 658

4 x2 4. 7x 410

X2 —x —80

T xT 1 éx + 8
L x2 4 6x 4 4,

)

24+ 6x+6 7
a? —8ab 4 2b2

x2 —x ~18

a2 —B8ab + 8bh2

{(6)

a® —8ab + 20b2. & b -+ 12b2



(7) a@msgs:

x2 —18 2x2 —8x -2  8x

2 —~11x -4
x3 -8 " 2x2 +9x+4

x2 4 2x+ 4

el smi_&eir

,~ 2 , —-85)(x—4

(1) 5 O 5 -8y (5) ETDE=
1

@ sx71
8-29. aiAguw o Curarausalsdi gnllLed: (uGHssr swd}
Beoerey uBGHE Qarers.

:l_ -, &
1 Tar
445
11
-2
1i°
Sl Quoub Grewr® NEswm soraefear LgSesT

PETpTE BEmbsTed O Gdrarhisafisr QHTGHEMME Falll.
eoria.

ﬂ@i@e’s@rdm 1:
Sl (s

y
, 7
Bley :

~Jl>¢

X
’.7+
_x+

e -ql‘e

7 .
a@ﬁgé&fri@ 2:

. . 2x + 65 + x4+ 4
LR x2+6x+4+6 ' x2+6x+86
gtey:

x 1+ 6 x+ 4
x2 +H6x+6  x24+6x4 6




o8

_2x+85+x+4
T x24+5x+ 6
_ 8x 4 8

T x? +6x+ 8
. 8(x+8)
_(x+'8)(x+2)

S
x+ &

=

L 58 8-29

S’ (Bs.

(1)
1))
(6)
€9
(8)
(10)
(1)
(12)
(13).
(14)

(15)

x L o,.q

4x
Bt

o)y ¥

Tx 5x
(D g3 +357

2 4
8x Tar )

x—6 =x486
8x +

xp T xy

1ix  -7x 5x 8x ’\x
a6 T 5ab ®) g1tz ta7

a—4 a—8 ,6a+ 10
ab + ab + ab

s 2
Bx —10 T Bx —10

5x—15+ S.—-x
8x -9 T 8x -9

x 8
x? — 88.+x’ — 88

x i 1
x? 4 8x -1 x2 £ 8x + 1
2x i 12
x3 +10x4+24 * x2+10x 24
2x —10 x 41

X —bx -8 +x2 ~5x 4+ 6




94

x2 4 2x 2x + 8
(18) x2 4 8x + 8 +x’+8x+9
. x2 4 2x 8x — 88
(17) x2 —Tx +12 +x2 —7x 4182
x2 ] 8x —7
(18) x2 +10x + 21 +5z +10x + 21
6L & ar
4x > 8 1
1) - ()] £ Q) =5 (12) —8
8 - x — 1
(16) frgar (18) ——‘x—}—s
B-80, AR apa Caurwausdr sl ed: Corgyusle
ug Sasr
Benarey suiks.
5] 7
ie T
=§_g +§g [12, 16@ss 5. A.10. 80]
_58
-7 80"

W (CEXAL T I
. 2 8
F s ¢ T+ x + rpe

Btay :
(1 4+ x) (2 — x) @br 15.8u18. = (1 + x) (1 — X)

g 2(1— Xx) 2 2x
T+x U+ 0(l=% (I F+00—x
8 8(2 +x) 8 + 8x
I T = (i v (1 Fx)(1 —x)
2 8 2 — 8x 8 + 8x
T T T—="0+n-n T &Grnd=—mn

__2—-2x+8+8x

T (14 x)(1=x)
'8 + x

i —




956
TGbpEsTlEH 2

x -4 x— 2
x2—3x+2+x2;—'6x+4

(DS :

Biay
X2 - 8x +8=(x—2)(x-1)
X2 —=6x+4=(x—4)(x - 1)

(x? — 8x + 2), (x2 — 6x + 4) @er f.Auin,
= (x— 1) (x — 8) (x — 4)

x—4 x—4 _ (x—4)(x— 4)
xI—8x + 82 (x—=2)(x— 1) (x—8)(x—1) (x—4jy

_ (x — 4)2
T (x- 2)(x = 1)(x—4)

x — 8 _ x — 2 (x — 8)(x — 82)
F—bx+4 (x—H(x—1) G- (x—1)(x-8)

- (x — 8)2
T x—4A)(x—1)(x—2)

x —4 x — 8
x2—8x+2+x2—5x+4

(x — 2)2
(x—4)(x—1)(x- 8)

_ (x — 4)2
T (x=2)(x - 1) (x — 4)

+

(x — 4)2 + (x — 2)2
T G-DGx-9 -4

x2 — 8x + 18 +x2 —dx 4+ 4
(x—1)(x—2)(x — 4)

8x2 — 18x + 20
"-"“(x—- D{x—-8)(x—4)




Fal(Gs.

1
&
(5)
&P
@)
(10)
(11)
(12)
13
(14)
(16)
(18)

<€17)

a %

Sx 2x
4x+ 16 T Ex + 20

2a+4+ 8 4 4a
a%-18 8a + 182

x+ 8 + 2
x2 —-8x+ 16  8x— 9

2x — 1 + 53
x2 4-6x4+ 8§ x4 4

x — 1 x4+ 8
x2—25+x+5

3x + 4x
x2 4+ 8x 4+ 8 x2 4+ 7x + 10

x -+ 1 4 x — §
8x2 — 8x — 1 ' 8x% f4x + 3

S 1 2 1
¥ T 4x+8 xT1b6x4+8 R Fexi2

(8)

2
6+2x—9
x + 1
[y
6T L & 6¥F

8x — 15 9

4 4 8x
@ S=e U sy

) =
2x2 + 2

«{14)

(8x+1) {x+13(x~

8x— 18
1) (17 x— 8



97
8-81. RAZepz Cursnausdr : 55@5‘5553

STRSHESTEG §i

FMEGS ¢
2x X
x+8_”‘_47_'

Biey:

4, (x + 8)@str 1B.fltn, = 4 (x + 8)
g _ (8x) ) _ 8x.
xFE8 T x¥8)(D A=+ 9)

i_x(x+8) S x2 4+ 38x
4 T 4(x+8) T 4(x+8)
x4+ 8 X 8x (x2 4+ 8x)
2x 4 T 4(x+8) 4(x+38)

8x —x2 —8x

4(x 4+ 8)

__ —x2 4 bx
T 4(x 4+ 8)
ST RS pIaETEH 2 @
FOHEGHS ¢
x4+ 1 _ x+ 8

x2 4 7x + 12  x2 A4 8x 416

Biey :
x2 +Tx +12 =(x + 8)(x+ 4)

x2 4+ 8x +18 = (x + 8) (x + B)

(x2 + 7x +18), (x2 4 8x +15)@etr f. Ao 0.
=(x + 8)(x + 4) (x 4 6)

Ebl_ xdd_ (xkD)(x45)
X3 LTx+12 - (x+8)(x+4)  (x+8) (x+4) (x+8)
x+2 x+8 (x+2) (x+4)

X1 8x+186 T (x+8) (x+8)  (x+8) (x+4)(x+8)
Mo Xn""‘?



98

x41 x+2 o (x+D)(x+6)
X2F7x+18 ~ x2¥8x+16  (x+8) (x+4) (x+85)
(x+28) (x+4)
Tx+8) x+4) (x+5>

(x2 4+ 6x 4+ 6) — (x2 4+ 8x + 8)
BRI
. x24+8x+ 65 —x%3-6x -8
T TG+ (x+A(x+6)
_ -8
T+ 8)(x+4)(x+6)

uip® 3-31
&FMESS
w5 @53
®E-%5 @53
® 55 = 5 © g~ o
(7)5—4-%—3% '(B)xzﬁ_ﬁfx

. Ex - 2 7 6x
) X2 -9 x+8 (10) 2x —10 ~ x3 -85

(D F—ss —1573

- 2p p
(12) sp s -2~ s —7re
.- 4x - 8 x4+ 7
%) o mTIE T wovriTE
5 4
(14) x2+6x+6 x*+ox+8
(165) X x ox

x2—3x+"2+x2—5x+3"x2__4x+8_f



88

s mL HBar
8a 5x
1) = 3 55
, 9 — 6pg — 8x 4 85
(©) gpegr (10) 57 —25)
p® — 6p )

48 H—horoe-n 1%

38.82. @muyd sFwshLUTRSHET

x€R, ax + b =0 asrp ety yopowd QAETOTL.
o ug§ swaTur@assiisr Siay ST e pow o HEarGas
P pHsTCorrih. M swSTuTiLy ) @ drer orPulsr ug. £
BEYD DS QB Uy é susTur® siaTi@Bib.

a,bceR a*0 eefid, ax2 +bx+c=0 e8P
swasrur(l Qm uy-& FwusTur® steriiu(@ib.

8x2 4 10x +8 =0, 2x2 — 6x + 7 = 0 eravusar Q®
ugd sudsrurBsmde aTOSsider . (Hearr@b.

p(x) @0, pla) =0 pearsd a erérugy p(x) = 0 Feir
APSOLOT ()LD,

TRSBESTLTS,

P(x) = x2 —8x42@s0 P(1)= 12 —-38(1)+ &
=1~—3+ 2
=0

P(2) =22 —8(2)+ 2
=4-642
=0
P(8)=82-8(38)+ &
=89 -8 4+ 2
= 2-

1, 2 ergruer x2 — 8x + € = 0 Qi apsviiserr b,
8 sterugy x2 — 8x + & = 0 G&r aneviosir M.
P Aouyé susrurcy 7 2O poiisss 2 &F @,



- 100

QT p s &Py

4000 yrBesendE wsrGu urn@Gsorsiutasr G ugd
sustursart upB HBsEmpsert. & . 565mpd
BT O WEBL Ty sewily Cueans Qo uyéd FwusTUT®B
sefler Siayd SuTih ST UG WD WPNDEETE DS WIT T
Lri. 8.19. 59810 ety aurpps QiHud sefy Cuans
Wrow GUst Qo uyd susTurhadars SidGL s pous
PP ®HBTT.

8 -88. srylURED Qo Ly & swIrur@saisr Sied
&600T BIHEMET & BT 6307 6D

C(CEX LT ICR K
gidas: x2-28=0

Biay:
x2 -25=0

(x+5)(x—5)=0
x+6=0 sz x—65=0
x = —b ooz x = §

Biays sewrin = {5, —5}

ThSHssTL®H 2:
Stés: x2+Tx+ 12<=0

Biey 2 |
X2 T7x+12=0

x+Dx+8)y=0
x+4=0 ooz (x +8)=0
x = —4 jsbeogy x = —8
Bitoyd sowrih = { —4, —8}
a@SHEETL® 3 : '
Stés: 8x2 4+ 10x+8 =0



Saeay:

101

8x2 4 10x +8=290

8x2 4+ 89x 4+ x4+ 8=0

8x(x+8)+1(x+8)=26

(8x 4+ 1y(x+38)=0

Dpreug 8x + 1 =0 ooy x + 3 =0
X = — 3 SjevgG X = — 8
Bitayg sewd = { -8, —}}

(1)
(8)
(5)
(7)
(8)
(11)
(18)
(15)
(17)
(19)
(21)
(28)
(25)
(27)
28)
(81)
(83)
(86)

uf p& 3-33

Wer-au@mh o unF swsTurPacfisr Siajdsar SToTSe
qx € R) (1 — 15 weré aard@asr) '

(x—8) (x—2)=0 (2)
(x—6) (x~7)=0  (4)
(x48) (x—11)=0  (8)
(x+6) (x+12)=0  (8)
(x+8)2 =0 (10)
X (x—8)=0 (12)
x (4x—8)=0 (14)

(6x—1) (8x+4)=0 (18)

x2—1689=0 (18)
2x2-7x=0 (20)
X2 +14x+48=0  (22)
x24+11x4+80=0 (24)
x24-x—-72=0 (28)
x2—x—12=0 (28)
ex24-65x+2=0 (30)
2x2-8x+1=0 (82)
x24+10x+25=0  (84)

4x2—28x+48=0

(x—4) (x+85)=0
(x—2)(x+6)=0
(x+8) (x+8)=0
(x+8)2=0
(x—1)*=0

x (x—=7)=0
(4x+8) (2x-T7)=0
x2-88=0
2x2-50=0
Sx24+4x=0
x24+24x+148=0
x2-21x+104=0
x24+6x—160=0
x2—-6x—81=0
8x2410x+8=0
4x2+8x-5=0
x2-8x+9=0



102

B dL_SHar
(18) {8, — 6} (18) {5, - 5}
(81) §{— @6, -8} (28) {—6,—5}
(27) {4, — 8} (30) {— 8 -5

7
@ {3}
3-834. BmupF FwWITUTERSIT : LWSTLITEHS6T

a@sassrii@® 1:

ef Qus ahiggid Jsar atssin Cetpg 56-sGF
Fwh erafled HbD TR EMNTE HTONS,
Biay:

Bwo. TRHT = x T &.

DS autdsh = xX x = x2
x3 + x =68
x2 +x—-566=0
x+8)(x—-7)=0
x= — 8 gpoog x =7
~8&N. eranGou x =7 eaa&tuCGs QurmssLTar
e wr@id. b st = 7
sfurt $H6d ¢
7T4+72 =74+ 49 = 68

a@IHEeTLEH 2
gt oempuldr fearih Bger HEvSHS . 2 1B F
- SPsn.  yopulsr goyuldst uriuerey 120 B2 aefih @ips
Smpulsr, Ber, Basvriamrd STHNS.
Sympuler oo = x 1f eTsirs.
S pulsir ferib= (x + 2) £



108

Sogulsh urdusrey = x(x 4 2) 182
x(x + )= 120
x2 4 8x = 120
x2 4 8x -~ 120 = 0.
x4+ 12)(x=10) =0
x = — 12 Isevogy x = 10
x=— 12 eadiug Qurgdswpps. aolas, x= 10
ST & Qarelr ar Causir Hib.
S pulsh paeotd = 10 18

ympudelr farid = (10 4- 2) 8
= 1218

TR SBGHHTLR 3 2

®®m QstGsrenr wpdGarswr g Heir &ier $Heir  Borid
13 Q. wpp Qo véstisaisr eirgy wHGprerenn afi
7 Qeld HyPad aafd b WECsrew SHST  LrLaTEE
AT 6OF .

Biay :

X+7
u_th 8-2.
sienr s Hdr Boria = 18 Qs
DB wHp udshsaldr fardisdr = x Qel, (x4-7) Qet
ST &%,
Ggrayev Gz Pppiuy.,

x2 4 (x 4+ 7)2 = 182
x2 + x2 4 14x 4 49 = 189



ig4
8x? + 14x - 49 — 169 =0
2x2 4 14x — 120=20
x2 4+ 7x — 60 = 0 (Fusrurient. 26 aiG&s)
(x+12)(x—6)=0
X = =12 sv0&% X =&

x=-— 12 eagrug OQurpsswnmns; X =96 earge
QarereuCsp Quirmbgid.

QeiiCarew yéCarenr$HET LSSBISST

= 5@#8, (5 + 7) Qef
= 5 Q&uf, 12 Qs

W&Caremt $ AT Ly LTy = el X9 x 182

(1)

(@)

3

4

(6)

(C))

2
= 80 Q&2

Lud 58 3-34

B S5GSHTor @m Quo corseiidr Qumes
usvsir 420 srafled sLQeuAT BSmOTE ST RIS,

81y A® ugdsarels ARG I8r WILG Hseflsr
Qu@ssp usst 240 pas arartuBApg sTafle,.

" uel(p LGSSMTE STETS.

IDSsBsssTer QM SO®p sTTasfr sufdsds:
Safledr m.(H@sb 202 sTaleh 61T EDNT S ST 60T 650

Pt eTelT, T QU@EaD FmedH b Suwseu g fRedr-
4 . _

ENCEL —2—(!) sTflsh, DUQUTTMATS ST WIS

@t aTalr, Gyt Qu@EsH gmadPewts Curd 6

BLBG; SuHpIET s (B0 5&@ &Lowb 6Teuflsh, am
QousiramenT & &T 6T .

ECELICEE T T g Buss erabraoficir el dsie
seafler qaBosd 77 araofllsd, BslQouRtTamarsE STRTE.



(7)

1C)

(9

{10)

(11)

(12)

(18)

(14)

{15)

106

8o RSsOSpdrer g fidr wL_dfaseldr QumEs -
usudr 294 stefish, HQauahrassmord STabTs.

B0 Qusd aaraend@sTer alGHured 5. sjoupPHar
Qumésn usstr E00 ereflsd, sk Oloushr asnerd-
&I T &

S® BFsusua awlbsir Fpperay S0 1. suawelsr
vrluetey 160 82 erevfich, Sysusuwisler Bor, s
SN S  &ETRHTS.

® FHiT At udsdSar Berd 80 S. myeir-
auwtenind &phgnn QauefiGw s yssoupsrar LTS
Qesvdpg. urenguisr urtiuere; 2568 W82  sTeflsb, .
ure gulsr @LIL ETSrRr ? .

®® Ossisus swiwslsr Berid 20 18, s 15 8.
S FF S HPob DTS FLO BTN LTS -
Qesbdpgr. uremgufsr wurdiuerey 96 182  sreofsb,.
uren GUlsr sysevih 6TeT ST P

o QetiCarenr (psCaraw s Hdr oyg.Ldsth 25T
e wysSemns o _f@éru&'. SFas. b PECsremrs-
Sar uruerey 8 QB2 sTaflst, DbupdCarent G Ssir
& D DT MU ST I &

P SahiBdr sTyuTih 17 Q&8 gt GSHWrh
D& Prsmgel 7 Qslf Pad awfd, b
In_LELREST. Q& TeiT 67 6T WéUG STV S,

P® QssiussHsr apemew oL Her Beris 65
Qel. g For, DEVGmG el 35 Q&S
SPab Tafled,  HE QFdiusSHHr & pHparanaud-
ST DTS,

gt @, 9004 Ao Cuarrassr ambifarrt. .
Cuarreldr edemew . 1 Gopidmbsred oul-
Qs b 80 Cuenrrdasst JyPsors eurtBudmpHmis
uri. sui suriidu GUaTT&&sT 7 S Baner P



108
o s & 6T

(1) 20, 21, (2) 16. 18, (3) 9. 11. (4) § Sbem §,
45) 8 ooz 2. (8) 4. 5,8, (7) 14721, (8) 20, 26,
() 168, 105 (10) 2 & (11) 136 (12) 12 Qs
(18) 820 R @s8% (14) 17 GQauf (15) 150.

uUrTL §F FHHELD
1. upQproeswnssr
(D) (@ + b+ )2 =a2 + b2 +c2 4 2ab + 2bc + 2ca
() (a+ D)3 = a3 + 8a2b + 8ab? + b3
(@) (a+b)3 = g3 — 8a2b 4+ 8ab? — b3

() (x+a)(x+b)(x+c)=x34+(a+b+c)x?
+ (ab + be + ca) x + abe

(2.) (a + b) (a2 — ab + b2) = a® + b3

(est) (a — b)(a? + ab + b2) = a3 —b3

B, ax2? 4 bx + ¢ st umpd arjeiIuB S S

(1) ac@sir aryewnls Cary amard &TOTS.
(<) (1) ac Bens sTRremrrarTsd &ryeufisaliasr oDz
b apsab.
(2) ac @y sravTewTTRIT &TFenflsafisr aldHur
g5 b Gpaayh Hyowunp srreellE Cory e
Cai 10 s B sayb.

(8) bxg @ eglysarel GAGOswSH
STy 6mf) & 6T .

8. QuiQuerSg amrumdstule udgimnd GCarensy
P(x)gp (x — a)psb au@géds BE P(a) PG,
(B85 Coppmib)

4. P(x) srsip usgmiyd Csremeuulss P(a) =0, a#= 0
st pred (x — a), P(x)@&r @ sryemil @b,
(srgevl s Gz mmib)

a srerugy P(x) @6 133 8unb strauBib.



6.

107

Uy itys Carensuasaflar f. Qu. au, 8.8.w0, sutés gpsuy
STEYB0 PHAuupHH ToT sohs. s e p-
SEHLD Clurmbgth.

P(x), Q(x) # O stequsmey wsdapiiyyd GCarenaisarrewsed -

P (x
Q(x; a8z upmy Camensuwir @b,

ALy Cermauasafisr QuUmEsH, auEGSSh, Tl i s,
sfspsv PAwapmn, dzym cahrsdr CurerCp:
Qe . ’

ax2 + bx + ¢ = 0 (a, b. c € R. a %= 0) gt Uy Fusr
ur(® & G. )

x2 4+ px + g = (x — [) (x — nm) 151 pr6d

x3 +px + g =0 acrugar Sieys s { [, m} pGHW-

DT Yoy F GFm Hemeor

1. &1pé adbrsupier alfensus arars.
(®) (8p — 8q — 4r)?
(@) (7x + 8)3

a b\3
(@) (‘b_' = T)
(%) (x+7)(x+8)(x—4)

2, x-i—xi—-‘lnsuﬁsb.

1 1 )
3 2 — - — 0
X% + x +J€+x4rx2 +x7 fer

wHIQusdrer ?

8. srrsmflULBSHs.
(o) at — 4bt
() x2 4+ x— 110
(@) 80 — x — 48x3

4, 2x3 — 8x2 4 px - 8y (x — 2) G uGEs GH
18 eroofish, p @i LHIGUSTET 2



108
H. arramﬁl.'xu@,dsgs : x3 4+ 4x2 4+ x— 6

8. 4xt — 20x3 + 88x2 — 20x + 4@sr euldas oW
& 6T %,

7. x2 — 2x— 15, x2 + x — 8, x2 4 10x + 219
18.Qu.al. TS,

x3 4+ 1 x2 + 2x — 8

8. s@AGS: 5 gy 18 X xT_dx — b
x2 — 9
T x2 - 85
1 P) 38

9. FBEGS : o a-b+a2——b?
10, @it aicr, a1 aidsn JpBweuHPsr s B0 78
sTefsh, DjsiQeueRTeneRTdS ST S.

G siad m@ 9jsir i
Rauriiny gropqwusuns (1901—1850)

. 67600, 6T, (D6l eneT TS G &G R_VAD BPdsUQUDIh
Housdar pryrwser Gerener @ WLIGUXBL sWFCums
spourt, @at Ogear PpPutewens Ceaidppeaut. eurdd
ssrerLieul sTaguIw aswhgelearTed HG PUEDLWTS oL G
-uupp Apgoerwureri FeuCr Jpeuri

&.19: 1840 pic PTG WIS silen & i
Quittor eigTUrF ‘Qpp STERT 6T HOETUD BT6H (G suf Ssmhsefier
Sa(HporEd Smp [BuUI’ STy @mPorsi. Qooor Qod
greher areTp sewilp HPEst 1770 pib K ey sidas
-{pem pudsd Quinniggésrigenri. @jsuur T ig-GeoBus
CanIflgh ubsowsspss smfigl Cuprdfiud  arfd
STETLOT HSMHRT QLW P SNl HF Qer® s sri.

(p(Lp 6TRHT 6T B earuylh

(o) 4 aisanaseisr SaBsors ;

{<p) 9 sordisaliar (B0 3

(@) 19 prevvand HP&Gsalicdr muBaors ;



109

fp Quan saTuCs uydt. @iydismer Pemldss usod
wary GCareeal HeoL_pgsert. pwG HFRST HTTEULISRTET
ooutast 1886@d Quudisr @m uvgSHowunn, 1940 Fd
ppouursayh fm9ds Bspesrer sri@amaruyb acrirt.

SFerity : glk) =2k + m—8; m .—_-[ (%)t ]

[x] stshugy x gp o9 84T B0 Quiiw @oag eTERT.

-1 e (2)-(3) == [(B)] -

g(l)=21+1-2=1 Gz QuisGu.

(V= maf2] -
k=2qbamreo(—2—) =4.m—[4]_2

g(2)=22 + 2 - 2= 4. gg Quiwr yHt.

3\3 27 a7

g(3)=234+38 -2 =0. Qg surfim yFHi.

. £ 8\* 81 81

g(4) =2t + 6 — 2 = 18. @Qaoh eurfin yfHi grer.

pid @pPu prien.d Geips stav. sreiv. Peiemer youf
sofislt  Siallst STTHTLTS RO QPUY ST W T A H (S
Cuaib 2 wips HBIGsalar wmBsored sugb umssHs
o Puweor tb.

TRIHBFTLR :

B QY STETWIT Hypsih HHEGaT 615 smerufelr
S.Pagoorad s p Quigib? .

\729 o5
k= 6; ( ) =11 m=11

g(6) =264+ 11 —2=178
78 @pprib HDSGsd FBsOTS 9O WPy TITMTITS
& parn-yib.
- ) X p— 4



110

Curdet oorhe, Suissr ppPL  @rTOrEIRE
Poserayd QerpRurifeyssr usrelydbrgusr ¢ (Sdrever et
aefish Bhs semaurar Gspoh*’ e p fSward GO
Qerenai.

Sty fut ufins stéuan sl up fu o yST eIBuL_roed,
sy Peptacis srogomguyh. pltusosgyd sESHd
Qarahry ®hsg. s HGRdGh upfulsd FRUyobs
Houstiar pryrueTsr Houisst Qo ofwrer elusHd wenp
appg, smhs ewdpe Cptps CGullipiy HGi.

Sy @ust, AuucLi, ursvari, By ror gupeiT,
Saustiar prrrwswar psdu @pHu solly HPesT Reofer
arerp oot @ausy Ppsistalisdr. sl eodpe
Bug 5T Sefiss wresfdatisst srrarb. sutsaflsh Loy
upd HPss Blserd @o wrenlldswresd Hsyw wHpuBHwssh.

Cxiayha Djerml
%60l s wer mib - Guenr. 3

swaar wr@yr ?

S SMBE QTSI PITES sBH apsrm Gui sreusd
gop SaiorTed  elerféstiu@RErpart. QaiQargambd
et p Qs Paer g mBsr perit.
pi s 1. prer Qarene Qelnuafvsme.

8. s gHosTmN Qs sTererafshamsy.
8. preér sperpsS A HbTLISH.

e 2 1. yerpgib $HOsTane QFwlg Qs rerarafsana.
£ 2. HpohpssCsT® preir CuAdQsrairy. mpCsar.
8. 2 b5 & Beir BTUST BRI D
Q&oﬁr I %wﬁ@,&@g 68 erréi)msﬁ@mm.
2. myparpsid SHAST e Qs 510 aT hrL_reir.
8 ey HHer ,msaurums-rsurp,mrﬁuﬁsw & gy Quoidy,
speQalr meurt ﬁ.,fﬂlu S ) Q& efteth gasm@p ST gy Hwedr
QurdiQusrgn  wpp @I GG QuiQuisr gib &Toush ienp
Sigeusoi SPpsri. wrt Qerevowred sty s BBy 4s.



4, yerefl @uied

4.1 Bspoydicipursd

yoirell  afsuy isemen

TOSBSETLD:

o® gl @srar 80 wrewreudisefsr ewrkh (QFd
Sogsurs) QsrRaéstu’ Berarg. s5Ghs ey oL Casaf

mm&ﬂu@'ﬁgmgﬁmm&
WiRWH GudGh wopsw UL aGUid oD bG
QaraGLrd. g BarGid HE&ra) s itCeurid.

amers Gt 0sPSH 9B Fapayiuy wsd HowES.

188
161
185
180
158

-

gioy :

. Bsowibsg jeTey
Bad Gophs derey

Glolr & g upsir e aeuy b &eir

@Goppyg 6 Fw 9Nay P Qauelisdr  BoésCousr®
af&ar

Quosofisv 1897 ey GevL-Qaief amfu = T P e e

1686
160
188
189

182

188
157
189
164
187

af&ar

182 168
166 189
188 168
156 188
159 185
= 189

= 155

189
168
189
187
156

= 1689 ~ 166 =14

= 80

14 p

Bapays



112

aatCGa Cait 0 g (Ddsdm.pw Fwifflay GeoL.Qaisft 3.

ey BHen_Qauef @ PuS Hssit B&1pQsusthr
15461876 i 8
1867:6—1606 M )
160-5—1685 N 5
168:6—186'5 W 8
188-6—169'5 N M 11

3 f= 80

xusfildgs

ey Gev.Qeuafissr 164—157, 167—180,...erérmy
Bobzrsd, Ihadsr G srmeast 157, 160, .. ertu@fadsn
Cron adrp GYoud gpu@h. searGa, 154'6--1575,
A876—160°5. .. adig Gfey QoL Qauefad a@SHE
Qa&rsiren O L. (Heir oreor,

Ll H&R 4-1

Qrumid slayiiamé@s 558 ey Qe Qauefiasner 5
Czt pRsB 55 Hepaiunpud gyomwss.

1. 90 aENSgsier 35 wremaisefidr  erem
(88 5@psurs.)
45 82 83 36 38 38 31
456 47 82 85 43 38 40
438 45 49 34 35 38 80
88 4r 41 37 38 387 389
81 84 39 49 42 40 44



118

L. Qe oard sIpYssHH UL FT &GS QnéGw .
86 Qgrmifen e tseafissr eyref suwg (o Baais).

84 41 89 380 29
89 386 87 38 40
38 44 44 85 42
40 388 85 37 45
38 28 389 82 381

8. 40 @adrrusisefst QApsd FrEGuUy QedwtLBID
ugoueTey (QanéGLi Hwms wrs).

14 13 14 18 15 20 22 238

16 15 20 19 15 17 18 23

18 24 17 20 11 18 24 14

14 12 21 17 12 19 11 249

22 23 22 16 21 23 21 13

4. om Poeuerd surfiss 25 e griens soL.desmed
soflsir ol tb (185 Gev).
7-82 7-35 7.80 7-82 7-27
7-87 7-29 7-88 7-40 7:44
7-81 7-84 7-44 7-89 7-46
7-46 7-38 7-41 7-80 7-24
7-35 7:-80 7-89 7:84 7-85

4.2 epww AIliy 9)aT ST

4.2-1. gpoflgs wrBsallar s CQF Frred

Qar@ésiul - elsughisafiss sl S Ogrensamut aflaurd
&efisir T MGMEWTH GHESS AmLugy sl (HF errsm
starou(pih.

x =

LR
n

aBsgEssTL® T:

o® Ohusdasrer 5§ Getenersefisdr g9 Harer
T (HE Qeevayast weampGu . 60, 6. 70, @. 90 m. 120,
@ 150 st pred D& GBLUSHET Frrefl vy e Qo
sTeuaueTey ? '

M. X.—8



114

Biey:
120+ 150
L grred uglyd Qswey = @m. 60+70+90-5{- 0+16
4980
5]
= @m. 98

aTOSHSHETLG 2 :

R eugnis 86 Q& o wyusier 4 wrswrautsEnd
87 Qs8R uwrupsiter 5 wrewreuisenth 68 Qs @ wyerar
8 uwreweuisesd QmaSprisdr. Suisgpew  erred
Q.wrth sTereor ?

Biay :
(i) wrewrauisefisr syref @ wyih
86 x 4467 x5+ 68 x6

P A+5+6
264 + 335 + 408 _ 1007
- 15 15

= 6718 = 671 Q&8 (1B FmSawrs)
(ii) vlpuwed womm :
Qer@Péstur L aluTRIGEHESH DL-L-UDMTT HOWESHIL
96 sumoryy X@d STEWTEUTLD.

. uIyth L0 600T 6\J iF & 6Yf 68T
(RS Qb)) | cTorGana
x I fx
68 4 284
87 5 885
68 8 408
n=3f=156 |3fx=1007

. _3fx
Ty
x =121%Z = 68718 = 871 Qa8

(B8 Svésona)



115
(i) 2 3Cssdh m LB+ sgref wop
BL@S s afoug Bisemer stafidiLB S5, 2.5C556 sl (Hé

sraef Qarop aRHHs0aTaH PBmbg oG Huir s s
ST, T (HF errsd srawrsord.

2. G355 ayref A = 67 Qo ereira.

DT T 2. 5CgsF syram 0T 600T 61 - & 61f 657
QFl8 @b ulsdmba Coupur® | sTawrsmléana fd
x d=x— A
€6 ws 4 -4
87 0 5} o
és 1 8 8

sf=15 fd=g

=44 34
F=At 5y

32 = 87 + 723 = 87-18 = 871 Qauf (B Amssiors)

Ll HP 4-2

1. S&r sumousTaup st Fal_(Bé Frrefmwsd Sravs.
(i) wasd n Gu eTairaafisr aarbiser.
(i) 1,1,2 85,8, 18. 21, 84, 55

(i) 9o wrasSdr wad 10 priselsd gF GubBe
o.&5 Qauiu Bemev (°C):
82-8 88-8 28-8 3888 804
808 8156 388-4 824 32-1



118
(iv) @f opfart wal Cuy GivwsHd M wr 55 Hd
Apps 20 Gppmgsaisr saomast (A4 o)
28 84 24 21 80 22 386
29 80 40 25 80 41 88
2.8 20 80 88 21 80

2. Q& aumih Hepeys Ll uwieled 2 siter afeurmisshisr
FrrFfenwd &rers.

(i) pm ea@ulssior 50 wrawauisdr @ Ggiafsd
Qupp WHORLICH S6ir.

SIS 10 20 | 80 40 50 60 70

LT 63T )1 T & srfl 68T ;
U 8 9 8 i5 9 4 2

(i) 90 Osrfpsresmuls usfiyfiyd 30 Gausmeswri
Sefler sTenL_&s6iT.

(gg“ésb) 52 |58 |60 |55 |68 |70 | 75

Papomuetr | 7 | 6| 4| 6| 8| 8| ¢

8. posogamald w urgdlsd W prer syrem
sumwrarth upgo 10 soasaflsv . 7, B35 15 aoL
&ofled . 12 etafled, eTebour smLaofigid Cotpg yrmpdE
FFrEM su@orerh wrg ?

4. (i) 8 ecraraafisir syrefl — 8. aGaurit srabr
Gewrr(Bid Sggd snlyerred yHuw sFref  sreb
suereay 2

(i) 12 earselidr syref. 6. gaGurt s
ujib 3 s Qu@msRerred yHw srreM sTaisuaray P



117

aFemL. &Har
Loy HEEID i) 148 i) 81°88°C
(iv) 2-92 &4
2. (i) 87:8 (i) 618 &4
S. @ 10 4. (i) —6 (i) 18

4.2-2. QgurL idFwrer wrpPasalsr . 0F Frrsif

Bapayts ulywelsd @ e et Qeueld@sir i HiEd
afleuy issir @suGeursirmud 19 Noymwwih g ey wBH
Quaaflp@Gsd swwred smaslu@h. @ Ghay GeoL.Qsued
Geir S sTevemsvemwfujh Gosh bMWD Fal'ly Gy STLT6D
UGSy Whsy wROQuan @oLsdpg. Qeosl uweasr
u@sd @O Bspad ulgusls srgmih Qgridddurer
wrPuisr s B srref arabrGuri.

TRSHESTLE :

4-1 @ 26 TOSHESTH S L susneruld
@ 6iren efsuymaofisiruy. sugulsr Frred 2 wrd wrg ?

Siey :
o s 6uit & 6fl 631 SR eymwwd
(i) e wy (Qof @) T wfléans o
X 8 fx
156456 — 1675 S 156 488
1675 — 1605 5 159 796
1860 6§ — 1885 153 162 810
1886 — 1665 6 185 980
1665 —- 189§ 11 168 1848
/=80 sfx = 4911
2= zfx = -4—9-1—! = 168'7 Q&8




118
(i) e 48Cz5s syrsd gorp

e 4Czsd syreM A = 182 Q&S eTars.

un&frmis-ﬂﬂdr a;f:i“;'&
carn (Csf Qo) | GAqmuvud | werefidsns Gugur® fd
! f d
164°6— 1575 156 S -8 — 18
167-6—180'5 169 5] -8 - 15
1606 - 1886 1882 153 0] o
168-6—188'5 185 8 3 18
1668-6—189'5 168 11 8 68

- 2fd _ 51 ’
T=A + Y _162+§5_1e2+17

U #rref e writh = 1887 Q&rd

Beoopuile s ®F sgash

Curiyaefish il  wenp Osrupplu@aums Bri
SPCGourh. aIQeurm Gurilig ulsr Qe fwusmowrenndg s
sésurm P padr Sturelsstu@hspar. BapSHCspn
arg Pfopuille. sl BF syrofowd srawreorid. DY P L
amrpdamauisdr unmal QurmLlaaiisr elenso wiey, oxPHuy
e wiey Cursk pouperpd SSTEHL. Pepul L. sutl’(BF orref
vusiuBEpg.

DICEX L EYICE E

®® Curiyulsd @ wrersusr @,tﬁhﬂmdz. ST (5,
AP Phw Cgireymafsd yopGuw 72, 90, 88 wHB
OQuelrast Qupdprear. @4 Caineemdy ywopGu 1, 1, $



119

e1edrpy yereflest eflsstiuBADg STET T, DD LOTCRTISE
Qupp wHORusitssiisr FenpuIl L s BF srref wrg ?

Biey :

Fenpul’ L. sl B& grref :

3_72x1+90x1 4+ 88x38
- 14+1+8

_72+90+258 __ 420 _
- 5 -5 =i W

T@EsEkeT B 2:

M Qarifs PmsuarsHd 50 CGuir waRfsE ;. 8 of saad.
380 Gui wefiéE . 4 af s, 20 CGui waNdE m. 5 of epid,
exHuib QuPMTed peuiseT M WLNSGL Qumd oFref
o Huwib wrg ?

Siey :

@gnkﬂsulrsmf" o Huiid (wewflé G

6T 6007 630f1 b 6 B auTufsv) .
x w wx
50 3 150
30 4 120
20 S5 100

Sw= 12 S wx = 870

Zwx 870 80-83
S w

X =

0
12

@ wé@L Quod srref oo Huih @. SO-83.



120
vl H& 4-3

1. ddraumd Aspeiucywlysior efurisamsgs srred
ST T &

@) (i)

o5& Ceusmsvwir_ s afl6ir wrgé | CelBuGurfddr

FLELAT LD 6T T ool s s b CaBny | o160 vl & smes
(murudsh) f apurudsd f
126-175 2 ' 50-52 7
175-225 22 52-54 10
225--275 19 54-56 15
275-325 14 56-58 12
825-875 3 58—-60 1

3 f= 860 5f= 45

2. OFraph eaurdsmse Hoplill s BF srref

&IT 60T &,
1)
wrg et Huw | o wiey QuGsurt
&g 2 wiey 6T 6057 sl & &
] (emumrufsv)
A1 8 500
B | 8 1500

C 10 ’ 2000




121

(i)

Quir msir ;?:;ﬁ feop
%
A 10 6
B 24 60
C 80 50
D 40 75
el smL % gir

(1) (i) @ 245 (i) 54-56
(2) (i) ® 888 (ii) 814

4.2.3. G BHmo garey

sdouriismery  urtsgap Gar  errefowd  ashriBur
e.gaug [ LMD garay oEb.

Qer@éstucL. efsurdisamer o pouRame L
Qoig uflmeuls Hwgsrsd psEal0 e drar ofleurih
Sjevevg pBefgusirer Qo efeuriisefisr sl B errem
oA syeney sterILBA DI,

sterCGau, G Bewsv yarey &rewr

(1) Qar@sainuniL edaurhsoma o nlE ot wfiasads
STUPHIS.

(2) elsugdisafleir sTatremidens () R HUTTETED

50 opiy (&) Qlorwrard. 56 QAo
e puysefler sl QF srref sreirs.



122

SO pSHTL® 1

sryowrd Apoutsgpdsrar Cumigsaflss @ Fgeuss
Qupp ysrefiasir §, 2, 4, 8, 4, 1, 2. @aupiar Gt Bansv
DjeTey wrg ?

iy :

afsurdisemer gp auflsnaullsd o1 pgus.

1,8, 2,8,4.4.5. @asr 500 2pivy deugy o piourdw
8 oypGib

e Beveowsray 3.

STRSHESTLR 2 :
aurenyp FTGUY PITWFSuIsd @ CariLghod 40
arey Qoesafisr Sarmsst  (Qel @sb) 198 sumLrg
STWT UL LGy,
178 128 145 150 182 1568 158 140
138 185 185 144 125 187 178 146
168 188 185 152 149 148 119 188
161 142 154 185 .142 147 188 128
150 140 188 147 144 145 184 14e

Bss Pon_Peveowsrey wrg ?

Biey :
durmsmm  gpaufmeulss sy Gsroumis 6wl
AenL a8pg.
119 185 188 144 1486 150 158 184
125 185 140 144 147 150 157 185
126 185 140 145 147 152 158 188
128 1838 142 145 148 158 181 178
(182 188 142 148 149 154 188 178
7@55{)115@ 2 puiysst 20sugy @ piinh 2leugy @ miliyid
<P S 1D, ’ ‘ ‘



123

Sjemer e pGuw 148, 148,

146 + 148

oL feveowsray = B)

= 146 @s &

uud 5  4-4
Paoumn clagnaoist G Amowmazamord ar wtrs,

1. (i) wad 100 Quis starsshiar suflans.
(ii) wad 100 oy Tarsaiar sufiene.
(i) ooy 6 asir, gup 7 adr, alB 8 a6dr, Herug
O aeir. uga 10assi.
2. oo OQgrfpsron 8 urghisefsd Qupy agursrth
(%) : '

19-8, 20-2, 18-8, £2-4, 20-8, 20-0. 18-8,
19-7.

8, umsma wserd HEHL WL H@us STL.eHAd
@Owupe HyPamyr QupCpri ool aldans 3,

77, 75, 78, 88, 85, 81, 86, 78, 76, 81, 85,
74, 68. 79, 77, 70. 71, 84, 80, 89.

4. Qum pei aE P dTug wraBisafld FTame
' aflug Hlsv GuipGCari sTavrTenlldsms :
8, 8, 4, 5. 4.8,8, 8. 10.

aF ML _FHer
1. (i) 605 (i) 50 (iii) 8
e. 19-859, 8. 78 4. 8

4-2:4. (y)g,@

Bo Gsresuis: iBgsura PepQaust Osram@arar
aurd @b wapd Csreddst oo srrefurad Qersrard
uf. 8& srref @as® srariu®Epg.



124

Fl L &6, srvsmiiast Cursar paupsp alHCuri o1 bB mid,
Tz ey  BgHurs eA@buLLC@  aurheluBE DS
osrums yPug Bss Coon. HSHGO Quilgud uwesr
UPNS YeB PG
[ EICKEY L

1. eQsugmisefier BepQaiRdr &mers.

2. afausdisl (g s 2 wits HapOaar Ty Qmbsrsr
S SCW & Tars Qarsrs.

TS HEETEH 1:
Qeir eumeuer o H st WEH ST S,
(i) 8,8,6,8.9.9,9,11,11, 12, 18,9
(ii) 4,6,9,11, 18, 186, 17
(iii) 8,4,5,6.5,86.8, 8,8,8, 10.

Biqy :
() @5 GsrEeHIs 9Gsr HapQausir 4 ;
8@ Haposusir 2 ;
11961 fepQeusir 2 3
ame, B QareHls ws@® 9.
(i) @Pb @siQaurm efeuy s Her BspQeusiramyh 1 pasi.

(i) @Hd 5@er HapOsusir S.
8Qsir HapQeushr 8.

eraCou, Qs OpT @GSl 5, 8 srsirp Qo YEH ST 2 slreren.

TRSHIEHTL® 2:
587, 803, 59°5. 618, 589 srehr p 5 eravirssir Qawsbrr.

Qﬁ#‘@ﬁﬂaﬁr (i) @C@& erref, (i) S fencassray,
{iii)- ws® PpAwnpemps sreirs.

&ivyx
{) &LBs srred
= 1(58'7 4 80'3 4 595, + 618 +.68-9)
e} X 2980
e 598



125
(il) Qsr@ssiuL serasfisr goaflos

58+7, §8+9, 595, 603, 6818 Gsu aufimFudadr mm:u;b
S esrergy Sepoug e giy. earGe, BeoL Bemsowieray
5+85.

(iii) @F psuBeurm afsuyptd Q&Irsubr@mm ﬁ&p@msoﬁr 1.
stanBas, @Hd wsB Qévswsv.
ud 58 4-5

19eir m@msurmmﬁsor (i) @ @& erref (i) B Bancy-
werey (iii) pe® pAwealpenps STOTS.
1. 18, 21, 14, 18,12, 15, 20, 16, 14,11, 20, 18,
22, 16, 15, 17.

2, oo Badr, gug Taesr, LB 8Basr, @mug: 9,
usg lO0ssr.

8. o0, 11,18, 17, 12, "18, 17 18, 18, 12, 18, 0,
1§, 16, 0.

o smL 6T
(1) (i) 18-4 (ii) 168-4 (iii)) wpa®@ @Gomev.
(2) (i) 825 (ii) 8 (iii) 10.
(8) (i) 11+08 (ii) 156 (iii) 18.

4-3. uygegdsr g,mwaa’i
4-8:1. afsa

A, B arsirp AMa0ar. aplidarpisst & Ryl disefds
Ths5s pLLmsmar SUISHGCsurid.

- el Qurgs |sal (B&

1 2 8 4 5 |t dissr) syraf

A 15 | 80 30 0 |75 150 | 80

B |20 {80 |so |80 |40 160 &0

a. X.—5



126

srrefuls@mpsy AR BeHurer wrpur® 45, o»p
surer wrpur® 0. parred, errefulsdmpbs B@eir 185@
wrer wrogur® 10, Gepaurenr wrgur® 10. sten Geu B@)eir
UL AQSr fHUL gosal & Frrs @_6T6T GI 6TSWM VML,

Cuogid,
A @t UL diseflsir eféer = 76 — 0 = 765.

B @er gl ksofisr efée = 40 — 20 = 20.

@diurp efleuydissr entow Ry Hereld@mbsy sTdiuTI
wrelusiTerer STHTLUMSE ST D FHAND DT OYBET LIy
SOGIT DT QY ST 61601 L1Li(H AT DT .

ure gl HeToysEneT SGTH afFe PGh. QETHES

urL daugdsesst s ewipss paomalpen BHadé Goanss
el p@h Qe Cuusiear Caupur® of F& T tuBEDS.

uud & 4-6

ulSpfast 4°1, 42, 48, 44 pAuaHBO @ sirew
saT& Gl TmuCugyid 10 sMTEGsEES ofémes aamTd.
SC® TS,

4:8-2. gollgs wrpgsalsr P aiewdsih
8.85,7,9,11;
38,4,8,8,10, 11
P AW G erehr suflemesafligid efder = 11 — 8 = 8 b
Beulgib 3,11 HpHdw Gary easirasr Qrar@aEn
Qe Cuusrer  efeugiiasemers upPB eféer pEE eTHOD
G HeSouHoenso. LHarTsH, QETH BHueTer efeuymissT DM

DpUh By LuDL WiITES Qarar® urasmd araws S
B sad vwaTuBRDG.

Sl devdad sTawr
1. &Gll(®é syref X erchrs.

2. al @4 syrefdgd gaarnm alaur s5pk o srew
aleva&E1s d = X — % arebrs, ,



127
8. d2? srers.
2
4. ewdsairsiss errefl 02 = g—nf’— ST S,

3d?
n

8. L dlvsan ¢ =

THSHEsrl®m 12

Pi et dr ABTLSa8SHD WD BTG wWrss Caiey
SN R LT LT SR SGU UTL. $H0 QuHD WHOCUSET S6T
{%) popGu 42, 80 48, 88 Eh. Qupdsr Hor
s Eth STaTS. .

Biey :
afeuy masefledr sreiremfdsnas, n = 4
42 1- 80 J- 48 4 88

sl (P& grref,

4
158
=z = 89
10 SCL1evbr Fut' B syref | eflevsslsit
x Wb mpg efevssd |  euFdain
d=x—% d2
; 42 + 8 9
: 30 - 8 81
48 + @ 81
88 -8 8
3d=0 5 d2 = 180

cn‘/ ,/‘80 ﬁ—c_sT‘_szase

= 8708

_ GphaYy 2 polES u:rnﬂassrﬁsér 5d=0. Bz .
Berganarsrsd QaTsiromeorib.



128
Ui ne 4-7

Pt su@msueTeu el L. afdaih srebrs.

1. ydw ureniiudsd a{mmasu Qupp pefwsd &b srl s
uied srewiiuce. 10 g Qargg wiGaremy uLms
seflssr Syl 1UE S -DjeTay&sT (QFl Geb)

4, 8, 8, 10, 12, 14, 18, 18. 20, 2&.
2, @i exfle 8 syarBasflsh HE&CLrut wrgSHd QIS
e uten &y (Qsl8 @sv)
9, 18, 9, 8, 8, 8, 9, 8.
8. 10 Gar s udrenemsefles @i ayarigsd Crmils surdss
ul L Garfasiier sroraniidomns (%)
8-0, 88, 82, 9-0, 6-8, 89, 74, 8+2. 88, 76
4. ugperemsd @sTH QuisHrmismeary uwg urtés.
10 pebr@Baefisd fuldaiul L. susigipisafiay
67 03T 61 & M . .
7, 20, 21, 18, 15, 10. 12, 29, 85, 28.

9 50V 1. & 61T
(1) 5-745 (2) 8:87 (8) 0802 (4) 878
4-8:8. Aayed ulguidlor QI alwsatd

Pspayn vlyuwsdsd n efeurdiast QsrBésiu_me»

B BT S elwdan, ¢ = d afdZ

TRIHNSSTL® *

@i ongrldl earfughd yHu Gra Qpsd &m@uq.m:u;
Sgw Hapey’ ulgws srou@eterg. @i eflaurtisafisr
S Bwsssmss STaTs,

Ly iy .
(0oL Rb) 5] | 7 9 11] 18

U@ Ceun i

eretrefames | = 1214 ] 8] 4|=f=20




129

Biley
x f fx d=x—%| d2 fdz?
5} 2 10 -5 25 60
2 14 - 8 e 18
g 4 38 -1 1 4
11 8 88 + 1 1 8
18 4 52 + 8 9 38
5f Zfx % fd?
= 20| = 200 =118
_ &fx _ 200
% = 57 55 = 10
B sfd? _ 118 E—_é__
s f 20 1

Cud pe  4-8-3

Weir sumptd Flapays ul g weaefisr St eflevdsld arairs.

fole 8 5 4 1 |sf=15

{r| 8| 87| 18| 8 e 1 |sf=40




130

8’

x| 126 | 175 | 225§ 275 | 825 | 875

f 2| 18| 25| 80| 12 8 zf=1ooF
4.
x |61 | 6a |87 | 70 | 78
s 5 | 18 | 42 | o7 8 sf= 100 l
i

, M em1_FHBar
(1) 888 (2) 188 (8) 68:10 (4) 292

4-4-1. Bespssa: Dol sd |

Pepssauiup® 9gph a@Guldsd &pp g LuDLS
s@mssamer BatrBib Bensr ayuB S HéCsTsit Gsun th.

1. em swaurditiysg GCergenerulss oHulBd alsnerap
Esfler DRT SHI& G 1D, Fn PGeuaf] (S) sTer LB,

2. smpQeaefiufelr 2 _sswrih, H&hs& (E) stariiu@i.

8. om Hapiduisr Bapsse P (E) = J}%}

4. OKP(E)< I
THSBBHTLH 12

1. om prowwin &G s g efuphn BHephdAuiay
Hapsaay creirer ?

Biop :
FamQeusit S = {H, T}; n(S) =2
Bapsdl E= {H}; n(E) =1

n(E) 1

n(S) 2

P(E) =



131

TR HESTLR 2 :
usmL e @LB 680 (i) uar s, (i1) 4 -&@Cusd,

(iii) 8 @&r m:..m@. (iv) O afiqpd  PapsAufsr Bapsaap
wrg ?

Siey :
mpQeuefl, S= {1,2,8,4,5,8}; n(S)=18

(i) usr ster elags BEPsH
Ey,={28,8}; n(E))=2

_ ﬂ(El) . 8 _ 1
PEV=%5 =& ~=2
(i) 4-&5Cusd afqgd Papsd

(i) 3 @er vt elagh Aspsd
Ey={88); n(E)=2

(ivy O eScph fappsdl £, ={ }; n(EY) =0

TQBHESTLHR 3:

7 Bt upgisend, § Hulyl upgisapd 2 ster S LT
dppy Fwuniiy geopuld RO Uby THSSILILID g
) poowors, (i) Auiurs Qoés fspssa) urg P

Biey :
(i) eoulgusrer QUTss vpgaefisr aavafidems
n(S)=7+6=128



132
Bl ug a@ssLUBD Bepsd E, cTers.
n(ky) =<1

(i) Aaudyd upg sTRE&SLUED Bespsd E, crers.

TaBSHBHTLH 4 :

90 Qunuld 20 ossayaTyRISsT R 6raTer. o HBHisH
8 Gopur(® 2ereremay. YU QUi uldmBg ooeaurdiing
Wenpulsst RM B s STrSMS STHUUSDHETET HepF Eey
wrg ?
Diay :

Qurss mq.an'mﬁmsrﬁs&r sTaTemiidena n (S) = 20

D606V &lg &0 g BIGeTIeT eTTenfldenas = 20 — 8 = 14

Bevev &lg.&TTID eTHS UL Bapdd E stars.
n(E)= 14
. __n(E) 14 7

Ll S 4-4-1

1. 1 gaed 10 eusgwsior erolrasT @eleursdrpn o
ST HE FLued TWsSIUBEDS. jeuH R QTS
Fweuriile) (L. QUTDIGR TBS5TH g (1) @oHem
sTeremrna, (1) @rieni sTmemrra, (iii) Sgpysb UGUL-&
Swpwsrs, (iv) & @& wi_BisTe QoG P& 1p& Fufsir

Papsse; wrg ?



188

2. 90 dmarwrB L ewlgisiter ysteflaafsr wdiyssT
Qer(éslul (DeTerar. Sjemeu  FLaITUIOL 26T er enas
sTeaoflsd @i henu meut ety (i) 2 (ii) 8 (i) §
(iv) 10 wpdw ysrelasdr s e HapsAulsr Hapsan
wrg ?

i 4-1.

3. om usoL 9m yop ofFlulired (i) QHom 6T,
(ii)) @rlew stodr, (ili) Sgmef-& Gevpeurer s1sr,
(iv) 5g oo Quilur ereodr Ggreir misug parer Hapsaan)
wrg ?

4. 8 HAsuys CGarebssr, 7 Bowd Garelssdr, § usmesd
Carslssr 2sTer m soUlB®mHH FuauTiiiy wenpulsh
om Gared sTRésliuLrd g (1) Audurs FHoss
(i) Bewrs Pmwéas, (i) usemswrs Gués (iv) B
wrs Qeoeurosd QpEs Hapsaey wrg ?

af WL BT
1 .. 1 ) 1
() )5 )z (i) o )
2 .. 8 1 . 1
@) ()= (i) = (iD) 7 (V)=

M. X.—9



184

L. 2 s 1
8 ()5 @) 5 (i) g5 @) g

L7 L 1 .. 18
(4) (l)% (il)go- (ii1) T (iv) 56

4-4-2. Bspssay : Dolyssd 11

TRSEHTLR 1:

$Cr Cprosfd @ Hreaw WS M WD STy, o Husls
ulired (1) gpudd elsmeareysst wrenen P (i) @y
somevasr Couer pieugparer Papsen wrg ? (i) @ophs s
PB g Corerpusparar fepsasy wrg ? (iv) KO s
wil B Corarpaugparer Hapssay wurg ?

Siey ¢
(1) @mw srevwmsst 965 swwS P RO WD SO,
&1 Pwdu@uCur g Cgreir b allener ayseir :

(Y- 3V &L Tl
HTERT WD THIT6T WD
H > H
T > T

ut_th 4-2,

samy Qeusfl S = { HH, HT, TH, TT}

(i) n(S) =4
row® somwsst Curairmib Hspsd Ey = { HH }
P(E1) = 4‘1' .

(i) @o®pisdy 9B s Cared pw PepsH E, stsirs—
E, ={ HH, HT, TH}
n (EQ) =38
P (EQ) =3



185

(iv) 9Cr g@smn LG Carergin Aspsd E; s,

E; ={HT, TH}
n(E£;)=2
P(Es)"-‘%:%

TBSEHSSTLEH 2':

PCr Cprsdv’ @m usLET @B wop ofslulL T
Siup Bed Cgreir b a1 seflsr s (Bsso (i) 10 s, (i) 18

Ps Qosda Hapssey wrg ?

Biey :

() 8Cr CarsPse @m uasdLasT @G wanp eIFOILL L Ts>
THu@Bs 6 2 8 = 86 eflsnad Brigasr L BEU o

Qeuef S stars.

S={(1, 1) (2 1) (8 1). (4.1) (5.1).

(1, 2), (2 2), (8,2). (4.2), (5, 2)
(1,8), (2 8). (8.8). (4.8). (5.8).
(1. 4). (2.4), (8. 4). (4.4). (5.4),

(1. 6). (2.5), (38.5). (4.5). (5.5).
(1. 8), (2,6). (8.8), (4.8), (5, 8).

n(S)= 886

F(H@L 10 s 2 erer Baipsf) E ereira.
E={(4.6) (5.5). (6,4)}

n{E£y;)=38
8 1
P(E) = o = 15

(8. 1),
(8. 2).
(6. 8).
(6. 4).
(8, 6),
(6.6) }+

(ii) ga@asv 18 & o srer fapdd E, erelrs.

Ey=( }
n(E;) =20
P(E,) = 1(Fsg) .. 0




3,

188
L pR 4-4-2

8Cr Corddsd Qw pravwwBias @ wmp & ebry. 67 Fwlr
ulersd (i) @rebr® wéssr Garearm, (i) oo b CaTs m.

(i) @Cr 9oy v Gk Carearp, (iv) G G eir prinsir

BGés fapssey wurg ?

2Cr Gprsded epsrmy prevTwEEsT m D FEHTG
TR L 1ed (i) gHuBd deereysefisr swm GQeusf
wrg ? - (i) apstr 1 gemevast Carairp, (iii) apsrm Lpdssr
Carairp, (iv) @@ smwemi g QGorarprod Gmbs,
(V) 20 Wb st $ Corestprived Ynss Hapsaey wrg ?

@Cr Gbgﬁﬁsﬁ 8@ usoL.adr om waop efFLUCL T
FmBs0 (i) 8 wys, (i) 8y of_s Gmpeurs, (iii) 8gp
ol Bgdure Ques Papssay wrg ?

2Cr CprsHd Qm usmLast o wop ofFtul rsd
() o vamLUI® 8, Gramraig LssmLulsh Qrlie
stedr, (i) PeQeurm useLulgyb 4 e s Qufiw stadw
Careit meoug perer Hapsse wrg ?

oF WL & 6T

. L8 . 1
(1) (1)—:1- (i1) - (i) —;— (iv) 5

<2) () { HHH, HHT, HTH, HTT,, THH, THT, TTH.
TTT}

1

(i) (i) 5 (0 + ) &

o

. .. 7
@) () o () 75 i) LR

@ 0 5 () o

LY
ol =



187

4-4:3. BDrpsza): s CLd AR : oo pGuirsr y
A&y Bai1psdRasear

brawrund sairBgi Corgenaruls, semev alugbsTed L.
Gooetiar 2 pursd smporh.  AESTH SN
Qdon e, uswL 2 BLlBHHe80, QHMD ETHT
Carer farrsd, @rienL. oTeir Carar pafsbensy eTergy o mid
wrss smp Qugnd. gQarsh pred, Cupssir. HepFAulse.
oty Peppsic wHps Peswyh aurdnldon. HSsmaus
Bapéfasr parean pQuire g aAdh B Ramar sT6uT Lt

u(Bto.

Bsp® wLrprs useL. ML (HSHH. @I enL. T
afupbs G 61T OIS, UST 6T ePPafebemey 6TETE G M EUISOT S+
TR Prsh, 2 FPriienl. TN PG, UST TVT D
HGh. Qs B HepsAasaflauth Quirgisurar afeneray o GL.
sTarGeu, @b AspdAseir parenpQuwrearm alnd@Gn HapsFAsdr
Djsbev. '

BT s@TQWTIAN uTL G Hd sswrth A@esr Hrinys s A”
ETRT DAL

AUA = E; ANA" =9
e &RTCLTsevsur 2 Bapgsadsh DT S5d ST LD

Sap@uafl S pok. 490 Hepids s dald, s
vy fapsfls samn A’ @b, -

TG,
AYA' =S ANA' =9
Guogith,
n(AYA’) = n(4) +a(d4)=n(S)
o n(Ayd’y n(S) _
PAVD == = e =
Guogud, S
, W H(A) 4 n(A)  n(4) | n(A)
PeapAy = n(S) T n(S) +n(S)

= P(4) + P (4}



188

, n(4An4y 0
PlAna) = n(S) _n(S)—O
s1607 P&

A 4 parepQurary cleddw PapsdserrarTd
P(AUA’) = P(4) 4+ P(4') = 1
P(ANA4") = 0.

QeupPesiisirgy P(A') = 1 — P(A)

AQ ~ A samis §Dsared P(~ A) = 1 — P (A)
STl Yy HECpTib.
S1RSB1HBTCEH 1:

useoL. e mUBgelsd (i) 8 alup fapgasy (ii) @smgp
<9;susufr§ sTebr efagis PapsEey sTsiTeT P

8oy :
(1) 3 efugs Bapsd E| sreirs.
_ n(kE,) R
Py =2 5 ~ @8

(ii) 8 @ysveor gy stadr ad(pib ,r_@#g‘p&eﬁ E? sycira,
PEENE)=P({})=0

P{E,) =1 — P(Ey)
1
5
=6

TR S Sidbar '@ 2:
206y Cnr 5 Hd QT LEBL &6t ey ofsinuntc daiw
Y Bad 7T g mBas 9 Jods Papgaa; wrg ?
P AL
g (DB60 7 eﬂam..ds@m Papsf E,| eréirs.
E, ={(1, 8), (2, 5),(8, 4), 4, 3), (5, 2), (8, 1}}
P(E,) = n(E;) 6

——l e

n(sS 368



i

1

189

D& 9 Ha.d@h Papsd E, sisira,

Ey = {(8,8)(4.5).(5.4).(8, 8)}

P(Es) = N~ Bna

"P(EyNEy;=P({ })=0.
P(£1U£2)= P(£1)+ F(E-g)
8 _ 5

4 1
56 756 =3 ~ 18

Q

|

[V

uud HF 4-4-3

20 Qsrifpsreeudss & QurPufwsd susheupisenh, 10
Cupurieenurerisepn. 85 GauenswTl sehh 2 6rareri.
DS OzrifnHenensouder Qurg Curégé snssHHG RO
Qurpuduied  susbsupCrr  bevg CupurieneiwrerGrr
soourrss CaiposRéatu. Hapsany wrg ?

P Qg ulsysier 8 Aeutny, 6 Geusirener, 4 BeoB s up S
sofelmbg & suruity weopluy @m upS THEBL
uhEpg. Ubs (a) Ay DG  ~OausT aneTiwrs.,
(b) Aaniy ysbevg Sevwors Feveorios) HOUUSHETE
Bepgsay wrg >

@@ Curle ot upsusdd @ Curiiri @,qsmr'rmgfra.
ar Bepsaa 7 QIovLraugre ey Hapsan 1. oG
wasoTeugTaGar  Gbwg Qe raisTaGar  a1yTwd
Boés Paypsan wrg ?

9Cr CppSHhsd Gy r® usmL &6 B W m eSF LI L Feb
PUCrm use-wigk @HD TR JVVG o (DB
9 Awvids Pspssay wrg ?

M emL_ % 6T

1 81 18
1) g5 ® @a b+ & o 12



140

4-44 Brpaps0): e ilLd afP : QHTHHGWTIT 3
B VEBT B Bapd Auar

A, B stésruenau B ST RISETTRTTED,

n(AUB) =n(Ad) +~ n(B)y — n(4ANB)
erer puib yHGaurd. erer@si. A, B srsirusnsy o Fapss
asarrerTsdy  Qeralm Hapsfuls gCsaub HCnT Dlsoge
By ar@Cor Pauph Pafpsea arar wppuBGauri.

n(AUyB) _n(A) +n(B)—n(ANBSB)

P Cag By = n{(Sy n{S)
_n(A)+n(B)_n(Aﬂ'B)
T n(S) T n(S) n(s)
= P(A) + P(B) — P(ANB)
ereor Gour,

A, B @@ pQuidry edwsars  Hsps Assrorerrsh
. P(AUB) = P(4) + P(B) — P (ANB)

TOSHESTCE 1:
M usL. 2B (B@80,. @Henpn sTEI Doz apsir B
- wLnigassT Carerpib Pepsse sTdTer ?

Siay:
pa® Papéd @ppenp sTeubr efl(pBed
; - . 9

A={1,8.5); P(A)=—

Grarre Papsd aps Bsir Lk edaps
' B=(3,8): P(B) =3
Gren® BapsHaend Besupb &evor b

ANB = {8}; P(ANB) =

®|~



141

Bron® Papsdaaish gCaauth PH Y FHpd 67 sufsd
AyB={1,8,5,8};

4 2
sturtds @
P(AuB).:P(A)+P,a’B)—P(AﬂB)
3 g } 4 2

I E Y M- sl il -3

FPIpsETCEH 2

A, B stgrusy o Papdfadr

P(4) =025, P(4uBy=0272; P(ANB) = 0-14

Sekvprsh P(~Blurg?

2,

P(AUEB) = P(A)-+ P{(B)~ P(ANB)

P (B) = P(AUB) — P¢A) + P(ANB)
=078 - 0:25 + 0-14
= 0-81 :

P(B)+P(~B)=1

P(~B)=1 — P(B)
=1 - 0:81
== 0'89.

L HR  4-4+4

5C1 Gy &Hb Hrev (B uswmi. & 9O wasp ofF it reé
pah vemtild Giler. aaw pbeg FBsh 10
amsés Ssipseay wrgy ?

A, Berstruss B Bspddlast P(A) = 0°4, P(B) = 0°5,
P(ANB) =01 esiiprsd (s eu@ates aum sir Ay,
EY oy

() P(~A) (i) P(~B) (i) P(4yB)

s X 6



142

8. 9Cr Carsdd @O PrOTwwd RO USHLL PG OB
ofF i@ BT pevt.  efenoTey (B SV DVVG P OIEL
ugHETET Hepsan wrg ? ’

4. 1 qpgeb 12 cusmy Q6Ter 6rourssr GEUOUTTT M PE
SOTEE Flnd sapsiul Dererar. Dupih & s
Foaim ity wsmpliuly Qurpéd st S0 Dpsg @It i
STSUTEOOTT GEYLD  HISLBU G OLASHT MISY  QUE@GLI(BLD 6T 600T 60T 1 Byl
Blsueor tagd E®ousparer Hepssey wWrg ?

O ML 6T
) é_g (2) ()08 (i) 05 (i) 08 (3) 5
1
(49 5

4.4:5. Bapsse: QuEssd A : srrr Heipd Near
PO BINVUSHS RH WoOp HOY. 6 PuybGurg Ssmeu
afudng eers QarsiCGour. @pfspsd Cs 5o wih:
SuetiLreus LmpnuUTas sevry sF BuynCurg e aCayr
1p pCeur & sayeugisiems ; L. Qetliongifisvamsv, ) svdr (B
Bapsflaeasd soidsaturarana, QST fupnpenal.

@Cr CrrsHsd Fyar( proawWBISTIOT QUHLIHD STl
sTPuptCurgl oo pramwsHd o Bsbeugl L)y aSiga gk
oo rarg preavisd o gmeo eveug 1y el (paigih s6ir mss
Carstigy Ogrfuppmey. cTarGey, @sbonens [FHapsaer
griupp fapédadr erarru@Es par.

Gurginite A, B aerp Grav® Hepsfeasd  speitme
PAepauBar Faprusd QoLuGasr wHOprarm Hapes g
svegt Haprws Guouads fepsaald rHph @ Sr_réer
ey Boisrd Siadm Pepidasepd FriuHy Bahd e
67607 s (Bieh.

7Cr CprsHsd Grev® srfupp Bepsdsdr Bagargo
Baspgasy uphar gafllssell Hoapssageiadr Oumesis
U é (& suid G,
sTeor Gout.,

A, B sterusnsy @)y air(® é/ﬂfug')p 'ﬂ&@écﬂdﬁd‘r 6T 68T pred
P(ANB) = P(4) P(B)




148

Bar pepsaalsr QuEpbdsd A5 pon. Geéradd uwer
U usnsW 196 a1l (BI5 67 (H & Gid &TL.Besr alerd@BsiTmer.
STEHSSSHTER 1 ¢

267 Cprsddr QG vsoLai Qo wop efFlulL T
(1) @rabr@® 6 @eir, (ii) @6 w @b, (iii) 6 Fsveored Bmbs
Papssay wrg ?
Bieoy

@Cr Crrsddh G usLET O Wop efetu 5
gpu@h 36 eimmemmer auflmed Corgamrs awd B
ST EMBE QFlusord. T, GFRILIL L sy bg Hap
SEWeUS Graug o efig.

e SyamLrH
uGeL LSS

b
o 8
T

% 6
6
~6
\%N % 6
6 <
~ e

uh  4-3.
sRemer &y Papsaay
(8]'8) & X § =58
=%, 8) gx ‘é*= 858
(~6, ~6) & X% =58



144

P (8, 6) = P (epgsd ussm_ufsh 8) X
' . P (2aug useni_ufsh 8
= b d 1
= %8~ 38
P(8, ~8) = P(pwsdusoruls 8) X
P (2ougy uassmi_ufsb ~6)
_ 1 " 5 &
T 8 © 6 86
P(~8,6) = P(uwsdussmuish ~8) X
P (2aug usentufeh 8)
_5,1_35
~ 8 " & 88

P(~8, ~8) = P {upssd rsmiuld ~8) X
P (Baigy e ufeh ~8)

)
OJICII
X
CDICYi
|
[V ]
s

s161Geu,
1

(i) P(@yer® Badr) = P (6, 8) = e

(i1) P(@@ 6)=P(8, ~8) 4 P (~8,8)

(iti) P (@rebr® ~ G asir) = P (~8 ~8) = 3365

TR sssTi@ 2

2@ Ggrfperemowdd suriésiu@iv arew Gamas:
peiTpre  Geamg.darnd (~ Gsau) Gureusmperer Baipgsay
1
10°
651 pT & Glouig. &8 Bahsaan) wrg?

Qgcvel S eurewt Gsun.ser urdiderrer. @b (LpstT piLk



145

Aoy :
(R4 asaméeﬁsu QegluL deng  (pcpeaugith  aUSHTWIT LA
Cagmawrer uGHow L Bib susoy g Sty STRRTOTLD),

&,
@ e
Slau

&raninqm
Blaug

. Blsu Yo
(7.1 EA oy
Oty
17
9 Gion 10
% noBen
%o
~ s
uL.ib 4.4

1
d QT Geuly BT Hre Qoulgds BEpsan; = 1 — 0= —-95

P (st Gaugda) = P (wpaorag Qoigés)
X P (8oug Gangés)
X P (Beug Qaun ds)

_9 .9 9 729
=736 ” 16 * 16— 1000

QI gEsrLH 8:
. 4, Bararp Qrar® palrutasr g Carenwd g way Osdid
priasdr. o6 Cauomwde 4 CstiRs@éstisn. EAETLE T 1))
1 y 1
- B GatilaspssiiuL. fepsan o Beumd el

Bumeodg (i) CafdQas@aaiu (i) (B,grh(‘@g:, SBLLL.T106D
Bods fapsan; wrg ?

Blay e

(Gsn .l th sumrwrwsd, fapsedlds QuEdsd ofSmuwr
CpfReniwr st wisir uGSHG Stey arsmraorid).

M. X.—10



148

() 4.B Csipos@ésiufn Bspidssr srtupp

Papdfast b,
. 1 - 1 1

> P(ANB) = P (4) P(B) =T X ==3g

(i) B@aumb CaipRs@datiurod Qusgh Hapid
septh sriuppenauCu e,

s P(~AN~B) = P(~A) P(~B)

= [1—-P(A)] [1~P(B)]

1 1
-(=4) (-4)
8 4
=% X%
24
-85
el HS 4-4-§

1. @ foud sxﬂan,@emﬂsi? 2O 6)963’)‘6‘ (pSmET 1L G H ST 6o

4 i - . 5
JEEILE 1Y) 5 Qg.uTs suart b Ly dser g ;’5}‘5@‘5‘5@.,_? .
CaipPs@isin L efang woamrdgy QFgurs euerit g

et 37 Bepssa) wig ?

2. 96 usSsssdpirar sembGamemr A Stée Payes sey
0:75; B Stés faopssay 0:60 . SULS &b Heb
suoauriy opuld Csts@datiuc L P SREmSG
(i) Boued Sids, (i) A pbag B Stds Bsppgamudk
TN &,

8. A, Basruer Gm ertupp Bapddiadr. P(A) = 0-4,
P(B) = 05 ersbrprsd

(i) P(4ns) (i) P(AN~B)

(i) P (~ANB) V) P (~4A\~B)

{v; P{AUB) AW Heps arch .

™



147

4. g@eut 26 yper@sefld o.ulCrv® oiusparer Hsp
356 %; oL wameredl 25 syalr@selid e wiCrr@

Botugparar Hapssel g %@L’D-v 25 oysr@saflsh
(i) Qoaipn 2u&Brr® Gnds (i) st wl @it
2 uiGrr(® Gmas (i) vensrad wi G 2 w8Brrd Gmss
(iv) eoauCGrauibp@at w Gd 2 W¥BCrT® Badés fapsaay
wrg €

& LS &T

(1) g_ €23 (i) 45 (i) 0-9

(8) (i) -2 (ii) 0-2 (iii) 0-8 (iv) 0'8 {v) 07

€4) (i) -g— (ii) %— (iii) 1—45 (iv) %

4-4-6 popgsa): QuUBisd AP srifsp Hen)sPsar
2 flsutiyy 4 Boo Carddsppsirer eouldmpgs 2 Carelasner
sTR&GL Fapsfoow aprrdiCarrih, apged Sared TR (Sth
Quragsy Gurgsapsrer Carslast 6. :
st G,
2 4
P(@)=5: PP e 5
Sreawemb Gared stHa@ubourqpgy euulgisrsr GCorsbast 5
@b, @zedsd THSSH Aadurerred & Carsdaafish 1 Haulnp
4 fenk.
sTanGe,
P(f)= i P(f)= =
.( )"" 5 L )'_ 5

wso Cared feowrarrd 5 Carsdasaficd 2 Aauliy; 8 Bourh,

P = 25 Pp) = 2

T Gou, Qrebririh Gardd TBEGLAUTE Bshsaa; apmeda
a@gs Coarddowd sriggsrarg. BEfaspéladr sifss
Baips Esdr op@.



148

TQEHIHTC® 1:

o® ouulsi 4 S 5§ Hauly vpgiser o fier. Qm ubs
TRIH DL Ll BErGh CurL s wHApT® upsTa
Gren® upmesr Qurpsd sT(HdsuuB AT per. Sjsmar
(1) GrenGn gowrs (2) goim Sob, QRETD Sfautiurs
(8) Grar(n Auliurs Grés Hspaaa) erdrear P

Bieoy:
e g
. : Ui g
o Y, 3
U g
4 5 &
&
5/9
& 47 &
*
§
uLh 45

4 3 12

P(3 8) = 9 X § =78

4 5 g0

Py ) e g% 7= o

5 4 20

P(a,B)= 35 X g = 58

5 4 20

PO, M) =5 X 5 =535

(1) @ren@n gowrs @mds : P (£, 8) = TZ: - é_

(8) osirg Beoh, wAIprermy Hulurs

Hods: P(5, &)+ P(8, 5)
20 20 40 5)
e TTE T 73T B

(8) Gueaw@b Aauiurs wds : P (H, &) = —§ = 18



149

HAQEZHSTLR 2 ;
K@ Qui_nuled 100 grradrdsvidssr asrorer. oo DHRd
20 gopur® esrerenny. QUi ul8mhs Fo auriitiy wenpL
Uy Q& paTdidr  arpre 2 grrarflevdsst  QsTi_T B
StBHéaliu@Hesr per.
(i) osualybrBi psisosmeuwirs,
(ii) yafrebr@h @ pur® 2 6rermaurs,
(iii) yeualzabrned o@rTm GoDUT® e.sTersrTaaun W
QpréTg  pisvsrseyn  @oLugpsrar Hepssay

wir gy ?
Biey
Enemiey
: g e 6L it
.o "%y _— BEO6G
LT T@TE UL
' 20
89 Médey, %9
100 jsil @spune
20, 2 61a g
100 80
®@ounG 59— meag
2.6
B 9
99
BEpunh
L deg
v, 48
aflanen oy Papsaey
8o s 4,79 _ 816
195 7 651 AsioL1F &sir 5 99 T 485
S® B, RO G pur (Hisir ar 4 .20 _ 80
1.7 w681 Pleivi f &6 5 29 485
S G pUT(DSTaT, HIm BEvew R " §_9__ - 80
157 768 Ao a6 5 90 — 485
B oo pur@eier 1 s 39 19
199 7657 Flofot i &eir 5 ~ 89~ 498



1.

2.

3.

4.

150

) B® yrrefevi_taseEnh phomLTs BOds

, _ 818
Pap peoy = 5=

(i) @ nrrardlsvdasend (G purBHeraraaiurs
: : _ 19

(iii) @Frm Gopur® e oo sraajh, wLHIAPTE MR B
sreaib Qoiuspere Pap san
_ 80 8 _ 180 32
=dps T 495 J95 ~ 99

wud H3 4-4-6

20 smorwgsior 12 yleoragst 10 gl ssr
o (B psoev upiept&6ir. & surditiy apsmpufsd  SisupH N
Ambgm ot nET IS Q5T pra GTaT®H apilem&er 61(Hdat
ultL e ooy (i) GredrHis psow Yl gmrs DRSS
Pep saay wrgy? (i) Gravr@on QslL et ssrrs
mwés ey seay wrg ?

o® meoLwgsior 100 wribupdassst T piwl (Hib
Qs QuUBurergl. &w ety s pufd saeniudeBmbha
et per Ger @aToTe @TeH wribuwhsamer T S BT
g Caauih @61 podsv T bUPTE Gnde Bap saeny wTH?

om Qulinuls 7 Awly Apu Cuerrdsepn 8 S po
Cuenrésand 2.dremear. & euritiy wenpudsh 4 ersirsud
20 Cuertensu g CatQsB S5 951 B sTairsut wHADT(m
Cuerremens Cot pRsBasdpri. @moumd Cottds®Bs s
Cuerréasr (i) Cr BApwra @mds (i) GoudiGoumy
BPpwurs Qoés Hs) sgeay wrg ?

@ ouuds 8 usme Gardlaeny 4 wEsesi Carslapmin
oterer. HPOBIG F0 Tty e pudsd 6557 st 1Nty
, DT PTS @@ Carelamear s Qar_ipg c1BssTe 0L 1)
Garel wErearraayh Grarreug Carsd’ U FWT GajD
Bods Pap saa wrg ?



2.

617 6MI_ B 6T
15 .. 1
1. ) gg (i) g%
1
2 55
8 7
3. M 1z () 17
8
4 33

urTLF F@hHh

SAOLLL. U edaurtiaams $ QarEgsseiiug Hshayrs
L pwd e, faper ulguwusld dardiadr @day
emT&SUUC B pidaurm (Ifielguh osiTer aawaldms
(Bs1pQeusivr ) &mras@x_@a ST SL(id.

2

() n sraysafisr s CLHéFsrefl 7 = -

2.5Cz5 srref A asfied, guLBiFyrad
s=a+ 2, (0= x-ay

(=) Bspayiu’quwelsh sl @Fyrsf
- _32fx

Y i {(5f=n]
a’ A~ 2 5Czs arrsf
g ¥ = 4 + L7 zf { & ﬁf—”(xf-A)J
X1s Xgs worceees s Xn TR D DjsTOGOfSST Bt Pemsd Hjaray

(1) n= 2k—1 erstrp weopuis Qpepuwrarrsd M = X«
(=) n = 2k ereirp gpanpuish Gyt entrerred

_ Xk X
o = 2

sfougtigener Bapa)s vl wers EHEs, 186 eWils
Baponisdr Qarsini. ey ¢sE ohG ..



152

§. ofsurdisaiisr s awips DeraldGL, s Gophs ar
adp@ aster elHursnd of &5 staruid,

8. (=)

(=)

7. (=)

(=p)

(2

(=)

- (o)

so0G s wrPeefisr HU L. efevdsia

g = E—df; [d=x-—3]
‘V n

Bapayl ul g wels S afevdsid

= [T, fi=x—3
o =7 { X - X

o0 swurdlyF Gorgsmearudsd gpul olamereag
safisT ymarggdaamry g p@Qaadl S stariufid.
oo pIQareflulsh o U semrid FahF R E starJu@ib.
n(E)

(S)

2 pdurs Hawd Pepsdulst Rapssey 1.
e nfure Bayprs Fepdfulsr Hasssy O.

0 Bapsfliar fspseay P(E) =

20 Fepdfl fapbsre, wpQprary SsTa sTHT
oy BspsAast DT PRUWITST g of VEG LD
B FFaar starupin.
A4, A" erdrus Q@epQuitedry efndGn Hapsd
&0ereflsh, P(A) + P(A') = 1

Svvg P(A) = 1 — P(A4)

Gugib PIANA') =0
4, B stsitue @siranpQuirsst g efiwdGn G Hapsdt
&6 By6bsv sTenflsy

P(AUB) = P(4) + P(B) — P(ANB)

P Sspéd Fapos wplpr@ Bapéfuler Hap

gamoull  urHEaelDmORUIST BT  yenes  Erga
Bapdflaer stem uGin,

A. B status grgr Hapd s stafsd
P(ANB) = P(4) * P(B)

Gey tumigsr Ber Baggy Cergaarasfsn Bap
HEEDN S SWTEEL 0 Goyth,



',.1 .

i

158

Heireor Yoy F GFr Bewear
B smaLullmibs a@EsOLL. 20 wrbupdisefisr
sTenL.&sir {Qyrifsv) 1965 u B Lom gy.
108 128 S0 118 99
107 22 107 g8 1828
78 84 70 86 82
187 119 80 81 90

Gisueleuy BisEndy e ovamwwrer  1GFGa e ST
Czipds® 55 Sepaps ulipuwed yeomuwsEs.

tidreu@h Pefa)d ulnwlseaar efeuyBisehdHs Frraf

STAT &,

x S
45 - &5 (]
55 — 83 8
i 85 — 785 12

¥
:' 75 — 85 2
i 85 — 95 2

! ;

x 2 86 | i | id

8 Z P ISf=t

f 4

P——

g oudish 68 feow, 4 ufms, & Syl Li@ST
2irsTen. pupOBmba cwetirlliny npeaptld om v
erpdeiu’e reo g (1) USHFLITGEoLT Selsgyl Fiaud
ursCouir @Bés Fopsacy wrg ? (i) wioosursSeur
Sty AastiuraGeur Gesorwsd Ruds Pspseay urg &



164
5. o usor @auwop TeouGapS. SQar® e oD
Garergs  gapdgydrer  ysefiaafis ah afdans
(i) > 65 (i) < 5ps Qods Papgse urg ?
AL ST
(2) 859 (8) 8-24

- . 1 L. 25
@ m> mE  ® mg )

Caiayhe SHarmi
Heovils et pib ¢ Guene. - 4
&8s srgmih aweauls: sTaTamer 6T pH Mhy SO
smer sTHSSHE Qasnsi_ra,., Spagy St euls Hoypud
T s sTYSUUL ReTerensd sauafidsab. Aeup Peir e goF
wred gmaut Bmarss odTamsTd ST NG WD, SeuGauT (@

I ,
1 3 '/ @
8
5 - . Z;
R
o | n g/
) - Cs
13 | 15 7
‘ 7 19
! /(g/ ! 21 ,
L = 23
Ve 25 | 27
) 129 | 3
| WEEE
uLir 4-7.

SLoLuuh arly. HHo Soui Seosrds STEUOT Q6T ST
sTer edaTeyaE. ‘plb’ sTafed, DI L w ‘Spth® 7T D QFTEL
Bupyph sreraury CuansularGush maudsajb. ‘G’
Queflsr «Gebemew’ e16irp Ga msb Gropymid @ eiren eur DI Guoensuleir
Cuosh soudaayd. PHg SiL-wLSDa LD oadsEdr JnHmD



166

Sprperlg QaTpre HEHEE poTufiih STl ey

p. yeuf
Bomer &5 e1bremenr spsut aresrurt.
B0 "~ o |
T3
s | 7 W54
10 1
14 | 15 ARi[hG 7
! 18 19
26 27
,,//‘;GMC&% 30 | 31
T smuE
uw 4-8.
LT
4 5 3
5 . :

w2 | 3 777
AMNTAR)
14 | 15 %f////////kg/ 7

20 21
22 23
29

31
008

ub 4-8.



156

sTarasr e uls uwps Yopulamars oraTGUrids
QIO S TRHOTY RHDD STANSNTS LsiTeT 7 jsvsvaur &

8 e

0 | 1

12 | 13

| 14 B
4 24 | 25
Z Wé/{///’% 26 | 27
00 28 | 29
_
WSE
L ih 4-10.

m 3
g% 17 g
‘@l 18 19
& 20 | 21

22 | 23

24
26
28
30
(e Lypid

uits 4-11.



157

aoramer Freabii g wrarsHh HBéG ufmsudsh STapd
ord 0 H(Hé® Gavsh 1 perrd Qe wpgeoris

1% | 17
D
S BT et Al B
20 | 23
SNPCT I | =
22 | 23
N S 24 | 25
HINIOT0
26 | 27
RN 28 | 29
=2i®
o @ .30 | 3
h“ )
(983r LoD
Li_ih 4-12,

S ufgb, 1ot HBséE @owsn 1 pearrsd G abriris-
Sl ulsnn Egpid HBEG GeoNsh 1 Georred aperprid-
- eI RS GLo.

0 1 2 8 4 e osar
nar HOEG HEEG OEG BSG ADEG DL s

1 1-2° 1

2 020 1-21 2

8 120 121 1,2

4 02° @21 122 3

5§ 120 021  1:22 1,8

8 0-2° [-21  1.22 2,8
A7 1:2°  1.21  1.22 i, 2,8

BaCureGsy 19p sTaTEEHD SVBSGIOTeTOT. gy’ @sbenev,
sttty @ udivsesd I, O erarp SretrinorarSHs e srer
86 srarasisr wIiysamd Qarair_ssanur@h. §mGure
88 susmy, 127 susny Direr STATSDM S Fa DD I .DL_SMET
puwri Qe is.



5. Sjemeilued
5-1'1 ulesd: ypougdusieag

Poarajsis
Cpitiiu L sSHsT ypluydiuerey
= Ul L&SHHT B Fspparey X UL I-_sFHar 2 wirih
Gpioul L ssHdr Qursst urduerey
= ULL&SIHST ypuurlusrey + Lt sS5H6T Sl
uytusrefsTt Q@ LB

AABSHEHTLR- :

8® CriiulL 8586 iy lurah § Qelf LéasymLL Fib
ués YsGarawrd HGw. YSHT 2wrd 12 Q58 erafed,
QSAT  Ypluruerey, QWris uylueTey SpBWed HM S
aTenE. (Y8 = 1°782)

ey :
suLEs WiGaraur At Fnperey = 15 Qa8
ulL &SP ypny Luerey = g S Hperay X 2 wTid
= 15 X 12 Q&82
= 180 Q&152

. F1LsEs paCsrent 58t urtuarey = a2 x YO
4
5xX5x 1782
== %0
4
= 10-885 Qs182

Fu52

UL &SHST QUor $ Ly Dierey
= ypourduerey + g Oy Ouer afeT Qoukg
= 180 4 (2 X 10-825) Q#182
=180 + 2163 Q5182

= 201-€S @152



159

U B 5-1+1

L. $ps sair. garaysoarysmlw  ul L shaafsr ymis
ug tiuerey, Quor & gLy fiuerey @y fieupepd STETS.

(V8 = 1-782)

aglq.uué& 6uig euLb ®_wyib

1. 8 Qe ussgpsirer Fgyth 10 Q&
2. 8 Q&8 udawsirer &gy b 20 Q&
8. (15 Q#18 X 10 Q&8) yereysirer Qesususd 12 Q&S
4, 8 Q&8 udswsirer FL&ES upéGeremnTid 15 Q=8
5. 10 Qa8 usaupsirsn pupnlS mCHTawTID 12 Q&f
8. 8 @&, 15 Q&8 uééma@sﬁm QFmGsrsmr

&G esreor th 20 Q&8

e eni_&ar

(1) 240 82, 812 Q582 (2) 640 Qs182, 788 Qs182
(8) 1800 Ga182, 2100 Qs162

(4) 270 @Qs182, 801176 Oa1f2
(5) 720 Qs182, 12886 Qs182
(8) 800 @52, 920 Q.82

5-1'2 wuilLab: SIT YTy
Bowaray smis:

ULl L &S H6r &6r 6T ey
= ulLadPar g ouyiuerey X ulL &SP 2wy

v THSHESTLRD ¢

0 ulL s fdr SMUuUTaD 4 Gsd usswerar UEIG
S nCasTeRT gL WG, UlLsiHar 2w 10 Qe
sTafed, HUILL L85 BT gar jerewaud sras. (Y3 = 1:732)



i80

AoFay .

S liUss S AT Urly = QUG DCETET S BT
Uy ueTey

=
= Bq2 Xlg

4
_ B8 x4x.4x 1782
- 4

= 41588 Qs152

SOT ey = B¢ urierey X 2 wgih
= 41588 X i0 Q#1838
= 41568 Qg:63

Lud HF 5-1.2

Spsargmid SErasmaTemLul Ll kisefisr ST Sjeref
~sommd sravrs. (5 = 1'732)

Dyl OL&S D 2 wirid

1. 7 Q&8 usswsier Fuuds WEGaremrid i4 Qs
2. 6 Q&1f nEsuusiver @gEE DCsTETLh &0 Q=8
8. 10 Q&if X 12 Q518 yerajsirer QFsuusth 15 Q&8
4, 8 Q& ugasupsirer FGirth 145 Qa8
&, 7 Qs8, 10 Qsif ussteaamen $ Qareai

QeeGaremr paGaremwrih 9 Gl

oo TR 7a.8

(1) 297-038 Q&i3 (&) 1870-58 s«183
(8) 1800 Qw83 (4) 928 Q&3

(5) 815 Qegs

:E-18. o (amar 3 LeyiiiioTey
fenare) enis @
B ameTileT euemer upduerey = 2Rrh

~Rgmearuler Qurssl uriuera) = 27r (4 4 r)
(r = e @ererlsr i, h = e @eerudsi ewyib)



181

ST G SHESTE®R ¢
gt 2 meoeruflsr @y 12 Qs8, 2wrih 80 Qef sresisd

DS Susmer Ly CiueTey, QurSst urleTe PIAWMHRDE
HITGHTE .

o

DT :
2 menerudelr euemer wTLLETey = 2Rrh
= 2XTX12x80 Qs1f2
= 72071 Q&52
2 meeruder Quor Sl urluerey = 2%r (h - r)
= 2XTX 12X 42 Q82
= 1008R Qs152

i HE 5-1-3
; : 22
g0y ¢ Grudpd wueGe ™= S adp  wBlomud
(SRR gRICT YR

1. BPpsargmin SETejE@marymiaig S meoeridar  suenar
vriuste; Guridsd  urliumey- AU HmDd &TETS

Kby 0 {7) 2wy (h)
(a) 21 Q&8 20 Q&5
(b) 28 Q&8 15 Qa8
(c) 175 Q&8 12 Q&8

2, ot e @msrulsr gt upiuerej 164 QFl2. &g 2 wrd
16 Q& sTafled G auamer LiFLILIeT®y 6TeT e P

8. gt o Goerulsr gyn.éd spmerey 100 Gsif. @aar 2 wrh
16 Qi sTafled HHOT CUmET LFLISTA) 6Taire P

4. gt e @merdlsr afil kb 21 Qs @ sar wrh 22 Qs
STGUf6Y BIBHEOT Glemen Ly L6y eTeiTar P,

F. Quew® epmstsofilsr sprussst 8:4 stairp ofdflg s Hauid
SupPar euwgdissr §:6 adrp OdssSHab asirarare.
Giedh Bls escner Ly dusTsofish c98gh erdrer 2

M. X.—11



6.

162

pl o .momearulsr eusner prduerey 1780 Q2. oy
i b 14 Qo sToficd SyHeir e wyh eveirer ?

et e pmarulsr Qurdsly uglusie) 748 Q&f2. myssn
&y 7 Qel -erefed DFsSr Lwygih sTsTRr ?

e EHar

(1) (a) 2840 Qs182, 5412 Qi52,
(b) 2640 G#182, 7588 Qs82
(c) 1820 Qs182, 83245 Qs132

(2) 704Q@s82 (8) 1000 Qw52 (4) 1452 QsB=
(5) 5:8 (8) 20 @sif (7) 10 Q#i8

- §5-1'4 o _@emar : gar gerey

Penerey sais :

o @enerisr sar erey = Nrih ST DeOGSET

(r = . @mearulssr gy, h = @ Berulsr e.wyid)

TRSHSHTL® ¢

pf 2 @mearisr ellib 21 Qef. ygar 2wy 12 Qe

eTefled Dy Heir ST DTy 6TEIT T P
Biey s

1.

o _menerulsr Sor eTey = Nr2h

28 21 21 .
7 X—2—X'—2X12 Q&8s

= 4158 Q&153

L HP 5-1+4

’ AP 22
@Ay - Qiunlpd G T = - TS D wSlepus
uvusiuB S Hs.

Spdargmih  SereyEmETY LW o (Bmerulsir  ser
ST WOUS ST DI S



¢'§c

T

168

&7 (1) @ wyi (h)
{a) 7 Q&L@’ 10 Q&8.
{(b) 28Qsf 30 Q&8
(c) 106 Q&f 15 Q&8

@t e.@amerelsr efili_1b 85 QF. gt wgh 18 QEl.
B GET ST BiET6Y 6TETERT P

Frem@ agmradfildr gyriiss §:8 srarp offssHanb

Disup At e ugradr 8 : 4 earp A His R ereTeaw.
S p it oar SisTaceldr e?dgh srsirar ?

Bran@ e.moorasidr Sprics, o wrdss ZyerHCo
8 17 arsirp el As S Hpusraraw, e H OB ST ByoTOySEAST
e A g cvaivam P '

Fw awsmsdar Serer Srawd @ensTaefst 7 Eser
4:8 cisiip Alsgsbaysiarar. Buphar aar STy
seafler afi@gh oredraw P )

o e.menen ullsr sylig Ouserey 80 Q2. g s o wyith
10 Qa8 srefich B 56T GO BOTQY STSHTET P

@t o meverulsi ¢ Fpperay 264 Qef. s Lwirih
40 Q#f sTofld BB SXT BIETENUSG &I GUIT Be

ot a.gmsTidedr sar oerey 6600 QFf3, Bger e.wpih
21 Q=8 6vNed DB T b 6TOTET P

et emmer e Corgmensd Gurulsr efi b 1 Qas,
SHd 20 Qxaf 2 wrsAHpol urgysh esreTg. urg
gedddr -tshH aalr 188 stafd d Grruigisrar
LTGF & SF6T sTEDL.ODILG STEDTS.



10.

11.

(n
@)
()
(8)
(11)

5.2

164

22 Q&S Beruptd, 12 QFf sve0th R.6ier R CFdiua
ST S0 udshiast oty Grmury aumerd g
Getutiu@n L mmerulsr Qa&rersTeranud SIS,

7 Qef L qpsiter @t @_emer auigeuorer Gprdl anhc
wafisEg 25 S Gussde sereft uTUApg. o
sl Gy SH0 ot aufwrs CaefiCumib gedrentils
ST Djem ey STEHTEN P

AL BT

(a). 1540 @s83 (b) 78920 Gai83 (c) 51975 Qouf?
17825 Qa18% (8) £5 : 48 (4) 27 : 848

16 : 25 (8) 800 @83 (7) 221760 @ad:
10 Q&8 (9) 21852 &rrib (10) 482 Qs183.
962500 Q#53,

fo gmaby : oyifapsid

S LIUT S QL g aisrsajth el Bor S e
ouLSSar anfCu QFodgid GHs Carly.d pm wysirafame

e éfwrasyd ypourly eusveray Lriurseud @ erer
Q.o Cpi siby ererIL(Hib. o

uith §5-1. uth §-2

&



185

CemGaranr waCarenr euyousdpisrer @i @‘L:_SD')L-S?U
TR F&0arerGairth. QsrliCaTaTSms HLEHU BB ubdb
sofid oCoauib Qairanp HéeTs PUSH SPHHs LG
2 (HEULD Fn lDLTGLD.

20 et o sfufafldry muwmar usssddr o fiCw
DY SGF Cledgib Car@ sruywrhd aariu@h. gubisr o &
B st owvwsIpen QorCuusier QeuGSHS
RBSTMEVRY T thIFEST D11y th <G

srwwrih ] sraitmib §SHus b h ersrpib @ HUALLUGD.

QenGsramr yiCearaws syppfursd @ L résludd
&a 101963 Syem ey el A6tT uUBHLOT Y

W&Caret E8r sieaxTh = eruurid

WéCaranrs #pHpd HyFGULESD = QFUGSHIWT B

YT DTG LSS = By BT

o

uLsdsd 04 = Qenigs
Gwgid (h)
AP = gyrib (r)

OP = sruwyugin (1)

Ygrayev Csmpliung
12 = h2 4 r2

Guaith h = /2 — r2

. uw §-8.
OIS BISHTLE :

RO SminifldT b § Gsif. SIS QeriGSswrd
-12 Qa18. oy geir FTUWIT S0 GG &IOS,



188
Biej:

1= Nh2 3 r2

—NIZE T 5°

— VIdd 7 55

= V189

=18
gruyugih = 18 Qaif.

el HF 5-2-1

&8y Gar@sstu’ Berer UL ausmanrudsd eRZule .
8L _misemers i S8 Qelis.

6T 6357 Sy (r) Qsdigdsiwyrd (h) gruuig b () |
1 8 Q&if 4 Q&1 —
2 8 Q&8 —_ 17 Q&
3 —_— 24 0s18 25 Q&
4 9 Q&8 40 Q&8 -
5 20 Q&l — 29 Q&8
o 60y B 6ir

(1) 5Qs8 (2) 16GeS (8) 7TQsf (4) 41 Q&f”
(5) 210s8
5.2 2, Falily 1 MHAT LIFLILIGTR] T 65T 6D

om el Gararuugdulsr Grew®d Pru usEeHsEmeT
b geTm CoisH1s @968 @ e el Hp o by Al &b,



187

uLw 54, uLth §°<5.

uLth §°7.

L s Garawll LGHEGL HSITTH L BUFSSIULL
-Fn DD HEGb 2 slrer G@rify (98T sumLormy ¢

ssut” L &Garerts LGHulssr Ly iy = Snibi96r euener L Ly
L &Barewrl) LigAulssr efsveletr Ferid
= Sn.lDI6T By &F & PmeTRY

ol L& CErenr (1 LuGHHUT aprid = FatiiIedr Frujuyid



starGau,

188

@ DI suemeT UFLIUeT) =Ll L &G&rra‘mu u@Hulst ug dusTag:

afsvelsir Forih X Syl 1D

2
o D6 g & FPpeTR] X FTiuy D
2
xr x /
2
werl

o D966 QUor S0 LT Liser oy

ORI HSSTLP :

SUENET LT SLIGT®Y - By Ly CLer .
wrl + w2

®Rr(l+r)

PG Smldt rid 8 Qes. st QsmEGss ©wjib-

uLt 5°8.

15 @18, ou 096 susmsm Ly Cruer

ML ST Qor SO Ly Cuer-
MEUILYID ST 6T G,

diey :
I = p2 172
= vV 152 4 82

= « 225 1 84
289

I

SUEMET LT LIii6T 6y
= Rrl
= R® X 8% 17 Q582
= 188K Qs82



. 169

Qurd s Uy Liusrey =nr(l+7r)

2.

=T X 8 X (17 + 8) Q#1852
=7 X 8 X 25 Qa2
= 200r Q82

LU HP 5-2-2
SpsaatiL. JyeTejsmeTim I SeibiB aieneT UTOILSTaY -
Quer S 11 uy duerey S Bwe PwPE ST ETE.
(2) oo 20 Qeif, srywirs 80 Qed
(b) @wrib 7 Q&8, Qe SHwWrh 24 Qel
(€) @rwe 9 Q&if, Qetigsamuri 40 Q8
(d) QemEsguwri 40 Qsif, eruyurh 50 Qg8

Grew® snibysefisr oyriisedr 8 : 4 arsdrp aldsSHin
SupPar srwwrhisst 5:8 a&rp HEssHd GmE-
ST oy pHPTT susmen LY Ly Gefistr el gb eredreur ?

9@ SafH Hy&F SHppara; 48 QFl. HyS&T FrLpWTD-
&0 Q&18 sTeflsh BySer suemer LT LIETEY STRTET P

S S DTS By OuFluerey S8R QFL2. Hysar QerGS -
gwrih 8 Qe etefled Gesr Quwrsy uFlLsSTEIOIE
&G0 B

. P ga DTS euemsT LrlueTey 204 F Qo82.  @ymeir I

22

5 Q&8 sTaflh Bygeir QFd(SSEiUrh eTeTer P (\'ﬁ = 5

R St QTSsd urltuere; 4400 Q82 So&h-
el Lte 40 QFf eTafled Bysstr QeRGEgwrd arais..

x o 22
( 7

M Fo it Hpyuoh srwyugud £:85 edrp edDs5H"
SUSTOTRT, ST susmer uUylinersy 1860 Qeif2 ersoflsu-
DS QEBIGHSHWT S0 FS ST,



170

o LB &r

(1) (a) BOOK @#182, 10007 QFi82
(b) 1757 Q&i82, 224% Qsb?
(c) 889w Gsif2, 450K Qs82

2 65:8 (8) 4807 Qs82 (4) 98« Qsus?
(5) 12Qs5 (8) 10V el Qa8 (7) 4V 21Qa8

5-2+3 &nibyy : %eT HjaTey

SC7 yorey Hrrid, §C7 2yeTey oWy apth QETOTL. o_sied
P Sa by Ui ey, 2 (BT 6ulg.eld CSTET SEISET B S 0L
STBSH1EQaTaTCourtd, Satby eugelsrer Garsrasd Hampu
Borear(Rss L Gmer agsud Qardravgdd o= ppGeurd.
«apthapenm 29 H FUNIST 2 HEDeT ang atd QETST SV L SID
Aroyaem st urisser. SHE@Es ST THS HISASTRITL.,
2_meanerulesr ST SeTe Gu ST 6T SperenaitiGured S g
BTG 6Ter Sfweomid.

F \_y
h h
r
ut.th. 5-89 ut.in §-10

2 penarudsr ser erey = Wr2h

G ST Cs 2 wyemb L6rer S kleT Sar TR
= —=Pr2j

. gTrh

9@ o bi 3k b & Qe g erdiey 2 wgih 15 QzS
ST BSHHT SIT DjOTMUS BT QI Ge



171

h = {22
= -\} 152 .. 92
= 4 225 — 81

= « 144
= 18 Qs

1 ;
ERT BETH) = == Tr2h

3

= -é-x-rtx9><9x 12 Q#1838
= 8241 Qs.185

Lud B 5-2+8

L& STEPID T BMETIW DI Fa DTG ST DiOT MU
&I 60T &

(2) 5t 8 Qef, Qedigssuuwrin 12 Qa8

(b) @rih 10 Q&f, QeBiGsgurt 21 QxS

(c) <wrid 8 Qsf, sruuyib 17 Q&

(d) @yrib 5 QaS, srwwrih 18 Q&

(e) eruuris 41 Qe18, @&'/ﬁ;@g@tugmélo Q&

 Qreti@ swyseflidr gpraest 8 : 5 ereirp fd oS Hauns
T o pidr @Sgurissr 4: 7 srdrp N85S HnlGHsTe -

<iu pAler Gsor Syereyaailear o9 Sib ererer P

Bresr® savysallsr wprdiast  GSsiuFRisst FrobrGGL
§:8 e1sirp o985 S Haycirarar. BjouDDET Sar SyeTayEofsr
el BQ s ot ?

Fio - fupdicameriysoL.il GFaw@ snthsalsr oy st
1:3 ordrp okl pd Hovsirerar. BeumBer ser Sismeysahss
el sGhwatr sor P



172

&, s prisoarueniu By w® Fubyseisr &S5 g s
10 : 11 ereir p 098 5 S Hepeiren evr. Doy PP BT DT
sefisir eld b 6T6d oy, 2

B S sabe@esr By.OuyiusTe) 800 QFl2. g @ggu:ﬂb
10 QL8 sianfish 2 SRT ST Si6TMEUS ST 60T &.

T, m g omdappere) 407 Qel.  Spdr FTuywury
29 Q&8 Tl HFET ST SHETMOUS SN WIS

8. @ s iblsr susvar uyliueTay 887 QFf2. Bisar sryyugh
8.5 Qs18 sTwflsb 9 H60T BRT BIETMOUS HIT VT &,

D. 20 &wds Qurssiuyiume; 567 QFl2. g T B
8.5 Q618 sTonflsh @ SHT S BT DOUD BT VT G

1G. @ ﬂeﬁfcu uigeuloTeT  Sal TJSH6T g L1y Susray

201-,-;—@2. DS eusHsT LI LTy 427—3-”.62, 6l

Qeur (meuha @G 22 -?;uss arpm Caosmauieflsd o5&
g2

™o —

Fol TILD 6TSH SN BpHL-BEHHG @Lmaﬂds@u’z?(

41.9m OCsuBareow (pa&Garswrsdedr usSsmssr B GsS,
12 Qa8 @b, 9 QS usasmg DEFSTEE Qarair®
cﬁppm&@mi_as@w arn_u:@sar ST SISTEMEUULD, UMET UT IS
LIGT 606UULD BT 6TIT S,

A2. o snb@sir 2 &A&Csrawid 60° sk T 7 QFS
sTfleh 6T BT BaTay, SusHer LY UUTE] B dwaspePd
&T TS

A8, @® St sswr yerej S20T QeS3. v YT
8 Qa8 sTeufled BySshT euever LFLLSTEMUD, Qurds UT L
LeTEnaUL|Lh ST TS,

aFemi_ salr

(1) (2) 256R @&183 (b) 700% Qa3 (¢} 207 @&183
(d) 100 Q&83 (e) 1083® Qeuf3 -
«2) 88:175 (8) 12S:218 (4)1:8



178

(5) 10: 11 (8) 1000 @&  (7) 28007 Q&3
(8) SO% Q183 (9) 497 Q&8 (10) 44
¢11) 482~ Q#83, 180% Qo152

£12) %—isz = Qef3, BEX Qes?2

(18) 120n Qs182, 1847 Qe

$:2:4. e@iLdBsrews LUGHuyh niliyd

CICEY L T oK

85 Qef pryd, 2107 mwwsd Gsremrpth 2_6Ter R
st d Carariugd aupad syt Grawrd Ryl ussn
smaryd garg Crips 9B iy QLT b ETILE o

28

Qardieraramaud HETONS. (ﬂ ==

Biag»

urd 5-12.

a1 é CaramriugHuids alsbslsir Borid
= & lifsr g FaDmaTay
asbslslr femib = 860 X 2xr

218 28.
860x2>( 7 X 85 Q&8”~

= 182 Qss



i74

s 196 Hud&ppera) = 182 Q18

onr = 182
x-2,72-xr—- 182
-‘;—4r= 182

r = 182 x4—74-
= 21

Fa 0965 YTib = 21 Q&

alLé Carem Lu@gSuiat rib = snib@er FTLUTD
35 QB

852 — 212
1225 — 441
784

v 784
28

=
(M)
Il

fl

=~
[

I

Fa. D19 60T ST DIETHY
- ; wr2h
1 22.
=-§— x-—;f><21x21x23

ub 5-18 = 12986 Qs183

LU HE 5-2-4

1. 18058 myrmlsravr,. et auyeus S 8BES
140° epowsGarenriz Qarear. @@ HPw eu L &CsTeud L
uEd GalyQuBsastiul (B g6t QrovT@h QWTOUSEDRF-
smerylh ST Gt g 9@ Fathy QeliuGEDG. 3is
Fotbifsir oy b sTeeueTay P

2. asmas@ 1 G OailyQuisaluti. a'ié Gsrewri
ueH Gurs wﬁqsﬁﬁr Quiw eu’t & Gerawrlugd R
o DUTEE "_"au.mJuun_.t_irs\) D SET wWrih wrg ?



- 178

8. 288° evwwd Garswapts, 10 Q&lf KpFp L-sirer L@
L é Cararlugd anagsslyear Qe D7D
udsBisemearwid & m Cot S '9(,_3 &n.tbL] QFdEI L Tsh
D& (98T Qareirarorey 61T ar 2

-4, 100 sowwéd Gsrewreps 25 Q&s rapth eirer Q@
oL Garswrl uGH aigad SeLndr GIawH Wrlusk
shsmad arm GFids G Gmiby Qi reb
DS 1B QETeTOT WU BT RITS . ’

o 6 i_ S 6T
3. 402,?—@5153 4, 1282 Q&83

F-2:5. Gararid : HAT ATy, LFLILIAT oY

4
Carer s Pt GOT HeTOy = -g-wri*

Garer Hsir ypliug Liserey = 47r2
(v = Garer g Far Gpyih)

uits §-14.
TRSHESTLER 1

om GarergHesr prib 12 QFf eToflsd yHeir . sow
BjeTeneud  HT T B,

Biey:

Garer G Hesr aam ey = -;—I'ﬁr3
= % X 12X 12X 12 Qo™

= 28047 Q83



176

afIpssTip 2

STONS. (ﬁ =

9@ Carerd Bsir opTh 7 QFl. Hypdr ypliugOHueTeud
22
7

Biey :

7.

Garer $Psr ypliug Lusrey = 47%r2
= 4x %gx7x7 Q&82
= 818 Q&82

vl HR 5-2+5
o®m CarersHsr g 14 Q5f. g saT Jmemeud

, 22
BT T B = 7

om Carersder o1 1h 10 CFf. s sor JeTay
stirer 2 (T = 8°14)

@reo(® Carermsefisst prasst 4:5 starp NAsS5H
QST aT. BisuD BT a9 Byereysofisir a3 8 sib eTsdreo 2

By () CarerhisstsT san yereyseafisr eldsh 216 : 348
sTaafl6L Byou P D'sHT T BEsifishr e d $G\Losst ot P

. BMBEISEH HT(D i D5 MALb 7 Qs8. 1 QF83 ssvelsr

Beop 27 Syrih 15570 43 GV G607 THLDUWE STRTS..
(5% e B2

-7
om Carer5Hsar mprSms FOLBIG SHwrsierrsy
D ST ST ST & STSUAIT Iy LOT PIth P

0 Carer s Bty 10 Q68 sTaaflsh s susner LFy
uerey sTersor ?

PO Carersfssr a8 b 21 Qe eTaflsd BT oUW
22
Ly OueTey &TeATE. (ﬂ' = -7")



177

8. Grav(® Carerdiseflidr pruast 7 : 8 erdrp Bds3H0
@ ererar. SupPdr susmer uriueTeysat & aE S sTdraT?

10. 9 QGarersPHsr suswer ugFliuere) 616 Q&2  erafld

22
D BT BRT DOT SHEUS ST VIS (ﬂ = =

11. 9@ GarersHedr aar SHoray 38808 QFB3 sTaflsh oy mesr

22
QISHST LIF LILeTey sTSTer ? (‘" < F

¥ 6L & 6ir

(1) 11498 } Q#83 (2) 528:8Q#83 (8) 84: 125

(4) 68:7 15) 485-1 Q&3 (6) 8% v

(7) 400= Q&82 (8) 1888 Q#82 (9) 48:864
(10) 1487} Q#83 (11) 5544 Qss2

5-2:6. 9yemrdGsTarih

g éE Carer $Hsr &;OT DIeTRY =1 X f’ﬂ'r3
= § Nrd
Sy & Carer P suemer uyluera =} X 4%r2
= 212
D7 d Carer $Hsir Qurd 50 uyliuerey = 28/r2 + 7r2
= §Rr2
TOLHBIGHTLD 2

ot Dn7s Carer SHsdr rib € Q&FS. SFST ST BjsTHY,
susmer Ly Luere), Qurdsl urduere), HpAUHMDE STV .

Biay
T ymgd Carer S Her aar erey = § w3

= § XKXBXBXE Qz03

| = 144r Qzi85
M.X.—12



178

jeiy & GarérSHer eusner Ly uieTa)”

= Onr2
= 2XNx8x8
= 787 Qa82

oy d Carer $Hsir Qur$su LT LTy
= 81r2
= 8XT"XB8x8
= 108~ Gls182

Lud HR 5-26

. @f gers CarearsHar pyih 85 QFS. T sor

DETRY, euemeT LFLLETeY, CTSST urlueTey QY EweuH
DM &HIT T Es

ot Sors Gerergdar e ib 11 Q. ys&r aor

- ETey, sumaT UFlusTey, QTGS ugliuerey e h

Mmpd ST S,

Qrevr® Sors Cararhisefiar ofli dissr 5 :7 erérp
g sPpeierar. Deuphsr sor arasels I8z

- QostTer ? euedeT Ug LIueTayse s a8 5 Quosireor P

9 sL_F6ir

(1) 89-88 Qsi83, 77 Qeuf2, 1155 Qs82
(2) 1109 ® Qs83, 805 ® O#152, 90-75 Qw182
(8) 125:848, 25 : 49.

65-2:7. Faibjib @ (HWET yih

TOIHFHTLE @

P® sOTSTCFuld YyMESLIOLDHD G S rrih o_(menear

etr Gued smiby UGS ugGHD Lsrerg. ‘2 @everd
u@Hulsr Ky 1218, 2 Gerarudsdr 2wy 10 B8, sary s Heir
Bs Side 2 wyih 165 18. & s't_rrib @,su\.nesesrz, Comanurer
B4 arar @mﬂuisvr Uy U ey sTeireor P



siﬂ[ :

10

179

uth 5-18,

2_memar uNsiT Kb
o menerudsr o wirb

f

128
108

o @menar ) LrsdHar eusmer Urliiere = 2%rh

o 10196ET T 1b

& nf6sT 2 wirih

= 2x®"x128X10
240 ® 182
128

515

[

|=NE T
=BT 128
— {85 T 124
— 160
= 1848

Frajusyd

Go DT 2UEDAT LT LT R

== 18 3
= W®ri
— ®x18x13 32

= 158 @ T8



180

&lTTD GEES Camanurar Agrefiar uyluaray
= 2407 152 4- 156% 82
= 8968m 82

wud HF 5-2+7

QM FlrrSHsr uiuran 40 Bt el o, 8§
BrLf o wrepth QaraiTL. @f 2. (@aner allg.sud Hasiten .
Cuosh UTsLh Fa iy ey su S Hevieirer Gi. Gewy WLt &Ll bgs
ST euwrth 186 Blid. & slLrrd QEdwd

.Camanurer &g srer Gliewhiullsr LFiuaTENaIS & &,

‘el yp U 25 QFf, 2wy 8 Q&S ereysier e

o memer eugairer GI Hepw poweTS Btk
ateorg. @z oLyp o 1 QFS, 2wy 5 Qs
SjeTeyeiar  Jalby eug.esorer Hpdw GUlseflsy Byl
Werred 61 S gomen Hlnlasst Cgemes ?

S Sniby, @F 2 Hewer PoupNST PrEIGT 8 : 5 TP
A g S Haib o pPsir @ wi missT 2:8 sretrp 983 S Hayib
o _6iTere. SialpIET ST Jerasaer SULIHS.

10 Q@&18 prapdier Qf @emer g aid Gererssg Hebd
Bi odrergl. cdaQeursrmub 5§ Qe 2wy, 2 Qs
<prpib .6Ter 15 2 Courss sn thsemer B SLST BT DT &
wppGbuy. QUiLrd  Qarsrasvgsdaysier  BF b
6TesUGTEY D_WI(HiD 2

Qraor(®  Sulbl&eT  FIOOTOT R wIFib Q&Ir@%r@e‘?;mau.
<6up Pisst el LBt e pGw 8 G&18, 8 Q&i8, ysiiafy aobr

oL b & Béd GG 2 WrusTer L (BerwTs Tt S BT
o_memer ulest LTib eTeliuETEY P

ot swL_Har

(1) 840%™ B2 (2) S0 (8) 2:25 (4) 1.0eof

(5) 288 @as



181
$-2'8. o avarujd Gxrargpid
BOEBIEBTED
90 Bid Qariy @b cpoauys zadp Cs
-pTesiier pyemrdCarerapy Csips  eumsugHaxsrerdi.

. menerufstt ayrih 8 QL. SBHT P 18 QLAL eTefisd
D SET CBTETaTOTENUS &IT T &%,

Biey :

\J

3

m’xﬁ"’ﬂ g

e th £.18.

BrsCabadHar Clarshareray
= 0_(mewnsnudisir Deiralr o o7 61
- sy &G srer & A Gardrersrey

2
= Trh b en RBy2

3

w"r (h + -g—-‘r >

= axs,xs.(zo‘ + _f-x 8') Q483

f

= NxOx 12 QLFus3
= 1087 QL uB3



‘182
L H® 5-2-8

1. opulp sore. & o maunsafisr ssr ammagﬁm&

BT 6TIT o
@)
g
%
[«
o
uwn
2105
Lk 517,
(i)
1065
L 5-18.

Gurgs Serb = 10 Qsf.
2. 14058 syreph 18 Borgpid 2shion @ Qs Hefaly
Ly 2. @dd 1 OFb oL qpsitonr QaL_y.é CareThIsonTSs
QelIgre 67 G pemer Corariae e d@h ?
e 61 Fgir

(1) (i) 28224 Qe85 (2) 117600



188
5-2:9 sy Gamrerapid
TREHSETER :

PO SOQurmst smibyth HHHTEYP HCBH YTEPROLLP
Sy & Carerqud Goi b aug.ousHasirara, Suthifer Sprapbd
gy wenGu 4 Qs8, 12 QxS erafld IO SO HieT

MG &T TS,

2

Biay :

L4 =

uL.id 5-19.

S thylt UG Huler ST DjeTey

A
~

N

By

R"X4X4x 12 Q83

A X
)
@
5
©

Sy & Carerts u@Hulssr seor

I

¢ 00 eolm%‘ D co| = o
A2

X

KX 4X4X4 Q583

128

e 3
) ™~ Qa8

=42§ = Qe

QUris &I JaTe = (84« 4+ 42 'i? n) Qa3

= 108 % = Q3



184
Ui HR 5-2+9

1. Spsach. sar 2 @oug ST ST HeTMIS ST .

)

v §-20. © with 5-21.

8. ot mréCarardHeins g 9Cs yrapsier DM Fnlbenis
PpsS 90 Gerrevg.d Qurbern QFlwiLRIng. BT s
Carew Pt prib 5§ A&8,  gn b sr Fryurid 11 Qaif.
S Qurhento Qeinuiu@orsHG S Coamauwras Wermsivig.d
HSL g 67 Uy lueTay wWrg ?

S. 20 Q#f yyeod, 80 G&if 2 uwggupsiier i 2. Goorsd

S ibdl 2 BéS 2 Qel @yropsrer Caren imsir TS SnT
Qenusorth ?

AL ZHer

(1) (i) 6203®QesS  (2) 105% Qe



185

58. wLFE»S

£-3'1. wLdHma: umyuisn n
a*=b(a#0,a%1,a>0, b>0,a b x€R)

STIUgG a, b, x ereiTp T BEms Rt Cuijsirar Qgri_fteoud
<o mIEnsl.

a By Ten . X HHEG ersir pPCauTib.
b@eit x epevth a PGk, 61. &T. 52 = 25 erafled 5 = V85

xgp a, b@sirapevid sap BID WLEDE THTH GFTOMEVLS
wwish i S i Ceur th.

x = loge b stesrGumih.

G L_SenasudeT ojtq LoTe Lh.

(sauaflas : a a;@ésaﬂs&r D)1 LOT 63T LPLD D (S1LD. )

a* = b sTéTug HYBHBHEBHIF T UTEH. JSHBDFHS

x =log, b aisirug L EMBF FWG UTEH JpGib. @)y swT(P1b
a, b, x oo Quuysiter QBTL FOUS Faquth (LA DSATT Gib.

BB GPE ewsTur® wi_&m&§ &wsruT®
23 = 8 log, 8=3
8¢ = 81 log; 81 = 4
23 = 1} . log, §=-38
a® = 1 log, 1 =0
q! = a log, a=1
HeUNEL 3

1Ger iL-&ens (6Teb6vr Dy o7 6T SH HSL0) g,éﬁum#@x.h. )
ot aarefer wdme G Tl Sy Lo SH DS
1 o @io.

sT@QSHESTLR 13
log, 84 ersiier ?



186

‘fiay 2
log, 84 = a srara.
29=-64=2Xx2x2x28x2x2=280
s a=86.
" log, 64 = 6.

TRISBETLH 2 ¢
log; x = 8 eraflsd, xGeir WHOMUS ST &,

Siey ;

l lbg7x =3
x =73
=TxX7Tx7
Sox = 248.
v & 5-8-1
1. 5Pé@éePé sudstur@sars wrHms.
(2) logs ® = 2 ' (b) logs 218 = 8
(c) logs 825 = 4 (@) log; 15 = —4
(e) loggm=n (f) logsp=gq

2. wL damsd sudTUTHSMTS LT HHIG.

(a) 85 =82 (b) 85=720 (c) 125% =&

(4 8—11 =81 (e) m=1 ) K=a

8. x@er wfiewud araira.
(a) log, 266 = x (b) logs; 8126 = x
1
| (c) log, 8a = x o (d) logyx=26
-(e) Ioge x =38



-1.87

4. iy srors.

(a) log;, 1000 (b) logg 18 /
(c) logy 8 (d) log,,°001
el L FHeir
(1) (a) 82 =29 (2) (a) log, 82=6
(8) (a) x=8 (4 (a) 8

$-32, wLdma of Peer
Peoerey gatas : a* X a¥ = a'tV; a* = a¥ = a*¥
1. logom = x, log, n = y sTsir &,
m = a* n=a’
mn = a* X a’

= qX+v

logo (mn) = x +y
~ loge (mn) = logam + loge n
S6uaT $Fsb QETeTS ¢
logg m + loge n # loge (m + n)
2. loggm = x, logy n = y eeirs.

m=a* n=a’

m ax
n ar
= qx-y

oge (2) = 5=y
s log, (_%n_) = logo m — loge 1

8. logem = x T &,
m=a’¥
mv = (ax)n

= g™t



188

log, (m*) =n.x
& loga (mP) =n.log, m

log, (mn) = logem + log, n
log, (%) = loge m —log, n

log, m* = nlog, m

TRIHISTLD 1:
fyﬂurrri&&: log,, 18600 = 2 + 4 log,, &.

Siay : .
log,o 1800 = log,, (100% 18)

" =log,, 100 + log,, 18

2 4 logy 24

2 + 4 log,, 2.

nuu

THSHEHTLD 2: ’
1
,]§)=2—210g103

-

Boeys : logy,
Siey

1 100
tozso (115 ) = torso (13

= log;, 100 — log,, 8
2 — log,, 82
= 2 hand 2 loglo 3.

TS EGHTLEH 8:
15 84
‘19@15’45= log;o ST- 10810,8*1 - 10319 ;-*7 = log.
Bioy :

15 o84 q
logyo 35 + 10810 81— o810 55

15 84 4
= log1 (7@ X &1 *ﬁ)

15 64 _ 27
= log, (ﬁ X g7 X =)= log:0 5

4



189

d@}g&srd@ 4:

log 8 = 0-4771, log5 = 0-6990, log7 = 0-846%

srafisd log 105 @sr wHliemud sravms.

Biay :

105 = 8x6x7
log 105 = log (8Xx5%X7)
=log8 1+ log& 4 log7
= 04771 + 06990 + 0-8451
= 2-0812

Lud HP 5-8+2

FMEBSHS :

(a) log,o 85 + log,y 4

(b) log;, 16 4 log,, 9

(c) logyo 16 —logyo &

(d) log,4 64 — log,, 16

(e) log;o 18 + log;y 20 + logyo 16
(f) logy, 80 + log;o 20 — log;, 10

log 2 = 08010, log 8 = 0°4771

log § = 06990, log 7 = 0-8451

sTefleh SpdaairTi.epPsir WAL STRTS.

(1) log 16, (2) log€ (8) log85 (4) log2k
(5) log 72 (8) log6*t (7) log &8

Bmeys : logy, 72 = 21log;o 8 + 3 log;, &

Boeis : loggo 2500 = 2 + 2log,o 5

2
Bpeys ¢ logyo (2 4—9) —2—2log,, 7

Pooys : logy 126 =8 — 8log;o &



180

9 27\ : a8\
“7. Pmsys ¢ logy (?\ —logy, 82) +‘logm (—4—) = 0.

B. HFMEGS :
5 7 7
o (5) o (3) o ()
D, H®IGS *
26 65 55
logyo (gg) —Hogy,o (6—9> + logyo (21—6’)

ol emL_FBaT

25
(1) (a) 2 (2) (1) 11761 (8) log;s a8 (89) 0.
5-8:8. wLE&MS L L QIS 6T

Gaia)ha jarm
&G GaL : WL-SDE ST

210 = 1024 = 1000 = 103

L

s = (210)1;0'_ (103)T° = 103

]

o 10g102 = '3
log 04 = 108,082 = 2log,,8 = 6
l0g,08 =10g,083 = 8 log 2 = '8

10 .
log105 = logloé‘ = 10g1010—10g102

= 1 — 8 = 7

f

B¢ =81=80=8x10=109x10! = 1919

3 =.(101-9)i‘ = 100.475
- logio 8 = 0475

logyo @ = log;y 82 = 2l0g;4 3
logy0 9 = *85



181

logyo € =1log;, (2x8) = log,, 2 + log,o 8
= 8 + 475 = 775

72 =49 = 50 = 5x10 = 107X 101. = 017"
7 = (101.7)‘5 = 10+85
5 logy, 7 = -85

67 606 112 3 4

A

e | 718} 9|10

wLsme | 0| 8} 4756 |°7]1+775|-85|9]:95] 1

&Heueulld &
1. log;o2 = 08
"~ log,,20

fl

log (10 x 2)
log,o 10 + log,,8
11+G8 )
1-8

f

I

10810200, = log,, (10 X 10 x 2)
log,,10 + logy (10 + log,,2
1+1+4+08

2:8

it

i

10g,0,2000 = log;o (10 X 10 X 10 x 2)
log,o10+log,010+10g;,10+log; .
1+14+1+4+08

= 838

2. log;,2 = 03
log;020 = 1'8
10310200 = 2'8

l0g;,2000 = 83



182

Wy ST LGH L. SdSH @pap 7T ST Yk IF AL LG H
aot_ Eend 196ITTID 6T Mib S pUILI(BILD. ’

- @ Gaumafgiorsd GOMIL LU L rest B, L densuisir
gjgorerd 10 ster Gy Qamsir e LuBIb,

.
() - i
i QarHasn “Wmiﬁ‘:%g w_dos | dos | oo
| oo srair | Bv&sbs epep sTedr | Gesicorid )
: 6T 60T 60T S DD
i ) 1 0 475 | 0475
i 80 2 1 475 | 1-475
i
) 800 8 2 475 | 2:476
j' 8000 4 s 475 | $-475
i
4,
L Sems wL_demne .
sTebT QL sT60T 96T 6T b S
4000 3 8 88
400 2 ‘8 -8
40 1 ‘8 16
4 0 -8 08
-4 —1 (o)1 -8 18
04 —2(a) & '8 88
~004 —8(2) 8 -8 ER:
£:3:4: urdms, aPi wLLEMS 1w EmaT

LIS U B & gt 6D

SsRSHIGErt® 1 ¢

S478QdH v sdmamUS BTOT S,



198

Biey :
84788 tdier @edadiseiiar staranfiéams 4.
@y, 8478Fsr wLdams wpp sTer 3.

1L E0& L suensreded @b

WL GM&E

§ srrad Gaugur®
6

1 84 ‘5408

8:476@esr wLdmas = 0:5408 4+ 0-0008
. = 056411
aerCai, 8478Fer L Gms = 85411,
THSheTH 2 :

@i eTTeRiler L_dems 27312 sTafsh, ybS 6760 smswrds
ST S,

Biey :
T HF L dmE DL L ousnewTuded® b

TR L_Gems

grrefl Cougur(®
2

-78 |5:883 3

7812@6r T Hi wi-dma = 5:888 + 0:008
= 5+8886.
wgenas 2:73812860 wL_&s qpy sTer 2.

1 Cat, sTadrenilgisirer @eodamisedr 3.
2:7812@¢r TP L dms 5386,
M- x-""ls



184.

v H§ 3-4

1. Ser sumeusron pHsir 1oL denamwd ST .
(1) 4187 (2) 7284 (8) 6485 (4) 72'15
(5) 4182 (8) 5418 (7) 48812 (8) 2-84.
2, SpssTEgmid WL EMSHWE QSTEITL. 6760 N6 & &N 60T .
(1) 2514 (2) 8712 (8) 4222
(4) 1-284 (5) 05147
§-835. mLiws oL L0 6 6TT DILT ST uU® SR F
FHEGSD T i
sTavr QFwsh L sms QFwsd THSHE6T(H
.. . g " log (152x 824)
e s M =log 152 +log 824
.. .. log (400 — 34)
HORIS sPboed = log 400 — log 84
2PEG Qums &sd log 285 = § log 28
apsotd UGS D60 log V30 = } log 80

TOSHSHTLH 1:

0L &8 UL umaT Wl uuSTuB SHE FméGs :
48438 x 8748

Biay :
6TERT Q& wieh 6T60bT &6l DL &6 1oL dens OFwsd
X 434-88 2-6878 -+
37-48 1-5788
4-2118

anti log 4-2116 = 168280



o5

TS HBETLR 2 ;
BL_&ma DL usTwl LuSTuB S el arairs.
4-825

‘081

Biaj:
TN QeFused 6T 60T 6T [TTIR- - Y 3 B &ms GFusd
x 4-825 0-8860 —
081 —2-49 14
2-1446

anti log 21448 = 1896

TRSHESETLR 3:
UL dms LTl LLETUBSS (41:87)5@Qeir
wHimus TS .

Siey :
6T QEFwish TR ST 1L_dens L dens Qewesd &
PRI 41-87 1-8187 X
(41-87)% | 6x1:6187

anti log 80885 = 121200000

a@sH85ETCH 4
| L4668 S LSS I vwusTu@Rs P 581 ﬂ:@dr autds
apoOLh ST, ‘



198

Figc'e
STt QFwisd sTebr ' w_dens m&i?f’
6617 27495
-apsoLd V(m § X 27485 -
= 1:8747

anti log 1-8747 = 28:70

TREEHBTCH 5
Wi _$MG L L umeRrenwy LustuB s 75 18Fsr aar-
@ApovLh ST S,

6T 05T Q1&F w6 © eTeutT un_&.an»a; m&iﬁau
75183 1-8758
o | yEE=18) | ¢ x 1-8758 -
= 0-6252

apti log 0°6252 = 4-219.
| LudpR 5-3.5

LGS LTSt LWGTLUD SH & 1hésaiTL ena
SMTF FMHSGS.

(1) 4182 x 6268 (2). 728+5 x 61:58
(8) 4-2576 x ‘00271 (4) 8718 = 252
(5) 4784 - 1:686 (8) 0:0128 = 4-128
(7) (54-67)7 (8) (88:47)8
9) V4814 ‘ (10) V7229

| . afemiL Fein
(1) 21770000 . (4) 1-478

(7) 1481000000000 (8) 2077



197

UTL & S &H1Lb

1. sor 2 (HUBISET :

LSS DIs060G!

. Qur st
2 (msulh susmer . ST HTOY
uy Cruerey Uy Luemey
1. vl sn
P= & & b per
Pgiietritid B Ph + 24 Ah
=g bug LueTey
h=2 wrib
2. 2 msver
r=mjg. 7D 2%rh err(h+r) wr2h
h=o wyib
3S. eniby
r =Sy Prid
h =@smwyib wrl wr (] +r) 3 T™r2h
| =&myuwgb
12 =h2 452
4. (Sawmu:‘ arr? . $ 73
I:%qm
S. o7 &Casrerid 272 372 3 wr3

2. el éBasrawr ugHubasr U usstamersd Caigzmid

&n. by @ (Beulb QFunwiiu’ L e,

So b6l eTwIre = el &CaTatrd LGHuTr b

Sa D196 S RPTI = UL L &Caremr u@PuIar gpHrib

L &Carar Peray

360°



198:

8. ar=0b eretrp Qoriieu x = logs b ererp ST (Beuge
. 0L (LA PIIT (GLb. ’

log (mn) = logm + log n
log—'::- = logm —logn
logmr = nlogm

4. oo QFuNEMEGL WLLEMSSF QewsemmdGn o-ser

Q@m_iy :
eTEOIT GlFuIh mia:z:g& sTOS HdsrLi B

QU I a6 gt _sd log (16x48) = log 15 + log 48

aGssh | sPsso  |log (%?—71> = log 524 — log 87
FTCLEIS) Qumaassh log 85 = 5 log 8
@psuth uGs s |log Y58 = 1 log 58

Sarer MoyF CaFr Hemeor

®® Cpil ulLassddr uourTsh 7 QsS usspsrer
RS SDCETOT augand HHGh. ST Qwrn 12
Q&8 sTooflsd Bygeir QTGS uFlueTe), ST HeTay K Aus
UPDDS HT T &.

@f o meoneruler rapth, 2wy woepCu 8 G#8, 10
Qs eTefls) BySEOT euemer LTFLILETEY, ST BleTEY D S
UDEDDE STV S,

@ sl sryurd 89 Gel. @ypsr @prd 15 Q.
DG ST By, QTSSO ugiueTe) o HusnsHem Do
&I &,

B0, Carerdfir s ojerey 6™ Qrfd. HyFSr suener

U CILI6T 606U & - & IT T &
Lt . H



199

H. 20 Q58 yrgpe 180 Qaf wruyd 2 drer @f 2 Cars
2 pwmersnws @ (dAR 4 Qs  yrysrer Carerdissr
TS gemer Qednusord ?

log,, 64000 = 8 + Blog,, & srars ar’(Hs.

7. wLéme L oumemrenwl uwustuBGH 1T sumatar
apMDS &I T S,
(@) 4878x1284 (=) 2489187 (@) (82:84)8
(%) V82187 (o) Y7455

Csia)he Sjarm
%600l % 10601 Wb - Gsme. &
(APHBIBET 5 T & B APpBBIBHGT D
YCar_GLrellelr gpibgy ST @ (HumsmerliupH T LMD
QUGUY Seoflg Wt pdHd uriFCasrid. @UIBurgy jsudPeir
weTysemer pWiGeurb. 2 PFEHSr Gsvast, aidsst QT
Dsuaymaumnsnea Jmnss LPUIsLS.

mreoIp&

uLth 5-22. . uLi §5-28.

S

Q@& (warsgi) aenipd

uein 5-24, uih 5-26.



200

ubdelE

uL.th 5-28,

Beuaymeunsisst QeQeurer Mayh @ Ffs6ir, laflhyssit,
WYSBISET 6TSHMIT ST TR UL uwid UBRSSIS. Bjoup iy
B Qs 2_6iTer QBT TS STOIS.

2 (msuth apadisst () | efefibyser (e) | e édssir (v)

B gpd é8 12 8
S L
sTer (L

vBeflmapd

Qoudsryd

UL saisst, wppih Gunpun ser 2 (meuBIBEnH G GLogs
aLarn efleurdisanardy Ul g uBSHs. Culser sTewris

wlL v+ f=e + & erelr

sTend STehTE.

b 2-poy QaipPp&h QurGsdpsT

Bdiaypelienar 17625t epeirigsd wpiseoi s B



6. gewflaser

1. @ su@gly wremrsurf wPORusT UHCeur’ig.aflsir o1 Fews
1wTemTeui &6t QsusuiGougy urL misafisd QuHp- LHOEQuUaTEsT SCL-
Qa1 BssL1ul (Hararer.

wremeut gy pubow ezt HFaTwsd eureoTge

4 40 50 80 42 47
B 80 85 68 70 53
e 25 15 80 12 40
Dsoer 40 50 80 42 47 '\,
( 80 85 68 70 53 )}
25 15 30 12 40

sTeiT M Byl 2 Bou S Hev HHESWOTS TApSOVTID. BeIuUT DI TR
dairnsomar 9m Qs owibds GHOUmS sy’
srarGurn. CupsddrL. yewfudss 8 Aenraepd, 5 Hysssemb:
e diarer. @psH Hewhulsr auflsms (8 X5) startiu@id. (4%x8)
aufimsusirar Hepiudss 4 Aorses, 8 Hisvsest B®EGSD.
gswillgrdrar sefiuc L efeurdisst o gy sar eTaTOUBD.
Culo AU L. Hewiudsh 15 o giysst e ererar. (4X8)
suflnsujsirer elluded 614 gmer o puyssst FPmEGd ?

Bsng oyswil
M Py vl Bz QaradvL. oof Doy ool g
By Qudd stardu@d.

sahssdarc e (1 8 5 7) stdug Hooy Bjswmih
wrgw. Qasar sufiens (1 X4) HPHSib.

By gewit
om Breb w (P Qarar. ol Hyed oyl  eTarie
UGB, .



202

apisdsriLrs

4
;i srsTugG Pred BjewiluirGib.
3

Qs aflens (4X 1) Sp@n.

FHIF Hjeooh

ot Gwmiulsh Penrasefisr sTavenldens  Hrshasfier
aremlidanad@Hd Fob oIl DH PO FHr ol sTer
(b,

THSHEST D (; ;) By (2Xx2) aflmsuysiear
~<DJGRIILIT (51D,
LF P gyevfl

ot gyeilulsr o glyssr mardait  1pFAwinTet rer
~DS LFFW gl sTewu(Bib.

’

0 0 0O 0 0
(000) (00 stagruear pdfw  yewft

0 0 0 0 o0
~& 61T IF (FHiDs

~-&10 pyeshear

9C7 aflmes Qarae. Growr® sl 95 G
wefled @ eTeor o mnyssT Q6T NSQsTET Y S1oth sTsENs DU
&0 DJIINEHET &b,

FYCEY T L1 5
(Z :) - ( 1+1 )
(23) - (

h
a=e b=f c=g d=h oo



208
v H®  6-1

1. Sgssramib e safisr sufievssmerd STETE. D
© Réiter @ mitseflsr erevTenildens e1sireir P

(&) (8 8 7) (=) (7 5
2 1
@ y4 2 (%) 1 7 5
7 1 (g 8 ?)
: 1.
g8 4 2 4
(o) 1 21 1
5 1 2 8
4 8 8 1
2 1 8 §§
2. 3x2., 2x2, 83x8 afmswysrer hFF wilsamen;
DODEE .

8. (a 4) = (8 b) sraollsd a, b@sr wHIY sTEIS.

4. (x W = (0 "\ 61 sfisd X, Yo m, n QAW Hen D
8 y n 8 & T GOUT G o

(x = 1N (s)e‘rsoﬂsb X, y eTeliaueTey ?
y+ 8 2 '

Y1l s &5 6ir

(1) (o) 1x38 (o) 2€x2 (&) 3x2 (F_s) 4x3 (o) 4x4-
(3) a=8.b=4 (4) x=0,m=5,n=8,y=28
(5) x=18, y=—4

6-2. yovdsaflar Fn 6D
Smaui @ r ghseflsy surdidu Uit Bisafissr efeur Bisar
19607 62 (Heom gy ¢
(1) amersudl 1982
A umiiy 6T 6UYT 60 605"
O{ETL , 15 &4 4 448 - Sl
@per i i 10 88 B -7 4a



204

(2) Goyaun 1982
<BSiTLY : 10 &8 4 44 4 8
QT B BH1b 12 &4 0 &4 568

By &r(® wr ghisefigun eutsar Gl g curdidw L oy
&eflesr Quorgio :
~BY6TLY (15 + 10) |4 (4 + 4) &4 (8 +4)a
perpsth (10 4 12) 88 (8 + 0) &&8 (4 +5)e8

o penn Hyewll ey oS Hb JmES

15 4 8 10 4 4
(10 8 4)+(12 0 5

+10 44+4 8+ 4
1o+12 61+0 445

_ (2 8 7
~\22 8 9
STQTS (&P SBeVTLsIEEUT P

Wlgeul wIgsHo Hyeuiasr surBIw TN MM DjOTRY
Qaflwuradi L reéd, o wrsepth euriid 61 nenTuler Djerey
STewT  @usyor P @uieor g.

15 4 8 10 4 2\ _ 25 8 34°

10 8 4 (120?"2264+?

aomGst, & aflmgwydrar oevllamarGw o CL
Buigyib eter P,

s aflmssmamymiw  yolsefisr  m@an  Usvssr
Dwuleir  euflemsuyh  pyehieu s efisr suflensQuiwir b,
<. (B DuUSIGISTOT . YIS  Fa Ll CiBid DjswflEei gyeirer
B35 LpliysDNT Sl é DL &GLb.

ST I BTl @ 1:

48 5
& areire..
(268) (563)” areme



205

Biey :
485 7 10
(2 e 5)* (5 6 5)
_ (447 84+1 640
_(2+5 8 +8 s+s)
_[11 4 s
—( 7 12 n)
Qurgisurs,

S0 Qe

a c P q
d f -+ m n
g k x y

a+p bi+g c+r
= d+m e+n f+I)

g+x h+y k+:z

N e
S

a@IaEsriH 2:

(Z5)+(Ta)+ (53 )m

&U’dﬂt&.
L£iqy: ’

2 8 8 7 § 4
(46)+(18)+(2 )
24+6+6 8+7+4
(4+1+2 5+8+9)

_ 18 14
o 7 17

L HS  6-2

©

Ogrsaumh  Bjewilsanard gl BuiQuafidh sl (Bs.
@tusutr@ﬁarﬁsb STFERUTLD Su [is.

1. (8 &) + (7 4)

2. (2 7))+ (4 -3
&« X 8



208

8. (4 8 7)+ (11 5 —8)
4. (5 9 8 7)+(8 1 8)

~(2)-(2)

(2 8 —1)+(5 8 2)+(4 7 —8)

9 7 1
5 AW ] 4
' 4 7 5 8
& (2 e)+(21)
7 -5 -5 8
o (¢ Za)+( 7> )
4 4 -2
o (55 1)+ (s o)
2
11. 3l+(2 8 .5
5
18. 1 4 5 5 4 6\ 8 -9 2
Bl 7 Y[ 7 s y+[ 5 11 8
5§ 1 86 8 —5 2 4 7 0 }

AN O~

18. 4= 5 7 = -8 \C= 1 -1
9 ~1 65 | -2 8 §
4 6 é 51 8

steflsv, (&) A+ B, () B+ C (@) C+ A4 plun
IBODE ST VT .

AL FBar

(1) (10 8) (@) 11 (8) 2 1
( — ) ( 18 —2)
10 , ~

(18) 8 —1 18 4, 7, 11 Quarg.
.(14 11 23) )

16 8. 8



£07

B8  gemiixeielr &1f S sd
7 Py

A= 1 -2 =5
1 -4 8
7 1 8 ] asrs.

AGsr o piydser eaidaurs Par sl smedfameard
wReardmr(® oyl Hmlowd uricGurid. g

" B= -1 2 53
~1 4 -6
-7 —1 =8 [} s

A 4+ B, B + 4 @aupenpd arairs.

0 0 O

A+B=B+A= 40 0 O
(0 0 0):0 sTaord SreTdHGpr.

posbeosur ?

sreiGou B. A@edr et Pyevol erer HLBid. . B@sr auflens AGesr
auflmsCuurgn. B@dsr e mpliyssst ARQaEr 955 e puoy
.@ofisr sl g SPfsarTG. AGS aHFemiow —A
STeré @PUGUT LD,

CICEY I ICE

2 -8 4 . -2 8 -4 .
(3 —4 _2>@msr,ﬂgamﬂ _8 4 2)&@1.0.

B 5 HD 2
A, B asruer Cr aufimeujsmL.w @reir® Sisflsst sTaRd
A — B = A+ (—B) aer eusmvywpiGuyib,

SRS HEHTLEH 1:
/-8 4\ B=[-1 —5 ;
A=( 2_7> (.e _S)s'rsaﬂsb.A——B

wrg 2



)-(

)+ (-

- Btey:

~3)

1
)

4
-7

-3
2

A—B=(

15
es)

4
-7

-3
2

(

4+5)
2—-68 —7+38

-8+ 1

(
(

TRSSHSHTLED 2 2
& BEGS ¢

9
—4

-2
-4



208

§—-2-2 —21+44+8 885

7 6 -8
= -1 -5 -8
1 &5 —5

v e 6-3
1. &y’:dc'akl_ Sflsefisdr o1 Hrenllamenrd araws.

(1) (-—5 4) (=) ( 4 -8 5)
8 —7 -2 1 0
-4 5 1
(2) B = 8
-4 -8 -7

2. 90 Y&Hu oMl erHyewh wrgy P

( 8-145 44042 -5+2—3)

S HEGS :
8 (1 5§)—-(2 —-7)

4. (-1 8 4)— (-5 8 —2)

(+ -G )
o (Lb A)-(70 2
n (-2
S (23D
o (A3 9)-( 75 ) +(L 2 D)
wa=(35) 5=(718) en(2 %)

M.X.—14



210

sl (o) A+ B+ C () A—B+C (@) A—B-C
(7)) A+B—-C (o) C—A+8B pAuapopd

51T 600T B

aFsmL&Her

4 =5 -1
\ - - :
1o (13 7))@ (-2 1 -3
‘ ‘ 4 8 7
e -1 2 6 2 18
3. (—1 12)7(5) (—12 8) 7 (‘--9 1 2)
-2 =1 2 _ 8 -4
o (75 To 1) 10 (7 )
-9 -2
’ (ﬂi) ( 9 8)
6-4. gehd Fw&TLTGSHET
P eu®sHs Qarers :
QualiGuwiesTssflsd 0 sTETUG S LLd Fafl oG

4+0=4
W UBUTE Hyfsefieh LA Bl sl & soah o @d.
45+00=_‘“4+05+0_'46
(23 00_) 24+0 8+0>—(2 8)
A. B sterusr G aufimeysmLw oeolssir. X - A = B
sty sUGUUIy ister X s16rp Semflleowd srarGurid.
X+ A=B
X+ A+ (—-A)=B+(~4)
X+ 0=8B-~4
X=B-4
TGSHseTC® 1:

Bidks
2 -5 -4 2
(5 Ta)rx=(77 5)



211
Biays

(2 -)ex= (71 )
e (74 ) -(37%)
-(7 _§)+(:§ _2)
S(iz2 e
=_(:g -7)
TRSHESTLR 2 ¢
Bids

1 -8 2\ , (-2 -1 38
(5 1-4) T\ 4 52)

(571 D-x- (55 0)
EGRDROR ]
(R D ( )

Bioy :

-8 2

Do oe)

8 -2
X‘( 1 —4 —e)

L HP 6+4

Bidks ¢ ‘

1. X+(¢1 2)=(56 7)

2. (8 ~4)—X=(-1 2) |
8. X—(4 8 ~7)=(1 .5 —8)



R G )(”’ ?)

4 5
( 2 —-8)616137}5. X+ A=0 ersirp s
-4 5

®
-
f

urgausrer X ienflenild &,

6 6 I_ & 6IT

) 48 @ (58 —19) @ (g 7T
(7)( 4 10)

6-5. oewils QU@mESD : gavfisenar  Danaud Busrsd
QLB EHHD
A4+ A=24, A+ A+ A= 84,
A+ A+ A4 ... nyeop = n A sTar susmrwumiGurib.

A.—:(: 3\)6793”1)”’5&
Sd=A4A+ 4+ 4
/2 38 2 8 2 8
=(s7)*(s7)*(5 7)
_ 24+2+2 84+8438
5:4—5-{-5"["-57-{—7-}-"7)



218

_(3x2 8><8)

A@eir gdeéJmi 2 mitsmuuph 8o Qumss S4 AL
Apgl. Daweards DenFud B Qb & %D eTssr Gumib.

SRS BSETLD :

)

- (3
5X=5(—; ) (5x-—5

= —25 30)

X¥( 4 g) sTsflsb 5 X gpd Srevirs.

Biay

(e}

)

Ll H8  6-5.
1. 4 = 4 -1 afleb 5A pé TS
) . = ( 5 7) 6T 60Ti6V ¢ P& & .
-1 , ]
2, X = _3 4) et 2X, 83X, 7X pAwaipompd
&1 0T &
FHBHSS :

8. 2(5 4 8)4+8(—4 2 1)

1 -6 2 0 2 0
0 (e ) ()2 (i)

1 8 5] 1 s ;
5 ,4=(_4 5>B=(6 7>sTsuﬁsu2A+3Bg&-
&IT 6T .



214
14 7\ . (10 —1
6. ”=(2 8 —5) B~“’(2 1 o)

4.5 1 . ,
c=( s __2> oy A — 28 4 8Cmé

& I E .

) 1 5 2 7 .
7.A=(6 _4) B-(Q .I)a'rszsﬂsu

X+ 84 =B srgud sLBUOUTLggysler guosirur’ ent-G
Siré s,

of ML %K aT

20 -5

(1) (25 35) (8) (-2 14 9)
17 8 _1 -8

(5) (10 31> (7 (-9 13)

6-6. 9oviti QuEBEED @ Hovy ewilanw BHyd gyl
wred QLmEHased

A ersrusul e g of g n@H 4 T Esit, & 7 EH &6iT,
10 sursmprs Lpmiast surhiderri. 1 gunfaflar efeme 70
enusr, 1 repflsit efemsv 0 emusr, 1 eurenyps L HSeir
afemsv 10 emusr stard QsrerGeurtd. ysuf  eurwrdi Ligpmy
sofsr Qurga ofemew = (4 X 70) + (6 x 80) + (10 x 10)
= 5380 smuesr. - ‘

Qeuciaysemgs o Beorr, @0 Hyd Gudlgrs ayds
& (hGsurid.

70
(4 5 10) (30)=(4><7o+5><30+10x10)
10

= (580) .
GG oyt QU diaed 61er LD,

ol auflens I1x 8, Gredriri oaflulsr sufleng
Ix 1. QuEBssp wevsr yewflufsr suflsme (1% 1).



215
L HF 6-6

QU ES HUENRTS ST 60T S,

1

1. (4 7 8) 2
5
5

2. (5 -2 1)(7)
S

8. (2 0 -8)

x
4. (a b ¢) y)

2
5. (4 & 8) (1)=(19_)€rs_rsﬁ6ﬁx@sr§r wHomus

ST TS,

ST TS,
ol smL_ &ar
(1) 83 4) (ax+by+cz) (5)x=8 (8) x=4
6:7. gt QU@HaHD : gyevllenuwr oyeolulrsd QLims s

Sparamin enfl GHaui apauenat QuTBsTaamear aurbRus
s Hmnss PSS,

2 § 8
4 2 8
om eoLwlsd lustTLbsefdr  elmevssr wpenpCur
. 10, . 15, e 20 ereir pred @;;zswtrwmli surdidwl LisshTL. ke



218
-sofldr Qurgs efemev . [(2X10) 4 (55X 18) X (8x20)T
= m. 255; @QrewLrwal surmdu usTLlssfllsr Gergs

efme 5. [(4 X 10) + (2 X 15) + (8 X 20)] = 5. 180.
Geupmpd Spésai. papulsd gsowiGurid.

2 5 8 . _(2><10+5x15+8><20)
4 2 8) 20 4x10 + 2x15 4+ 8x20
_ [ o255 '
-\ 130
HEDT®M  BemL_udsd @,ljuwb'rl;rﬂasrﬂssT aflsmeuasit  pem pGus

. 12, e5. 16, . 18 stairpred Quurg s efeneoseafisr oswflsnws
Cupastr_surm srapsiGeaurid. ’

(2 5 8) ;g _(2x12+5x16+8><18
4 2 8) \ ;5 4x12+2x16+8x18‘>
__ [ 248

(12a)
CupsarL. Bg elouyasmearyd Caisa1,

10 12
(2 & 8) 15 18 )= (.255« 248)
4 2 8 20 18 180 134
<Teor 67 (Lp i Courib.

QrevrLrih Beofl efemevseaflssr Smilwrgh.  gCgauib
RO L SHir  afemsw  QsTREsOULTaTt LT Quor &
eflemeemiws areor Gugpior ? Bueorgl. starGas, wagoemiudsd
2.6iien Bysosefiadr eatramllsoms Gretri.rib Beilufed 2 sirar
ooy seflesr sTowemflsanad@d FLTS BoEsTRO SIS Diewil
Cumessd Qaliw Guiguth, Cupan P sTHEGIdsTL 1 6,

(o ieoflulsr suflens 2x 38
Gramrid oiudsr afes 8 X 8

QU S BHLIsOST a;mﬁu‘i)s&r auflems 2 X 2



217

Boup Pl ig priv-yPeugt 2
<2601 QUEES68 6D

(1) wpasd Hyiulssr Hydsofisr sraradamas Gy b rik

oswiludssr  Henyaefissr 61601 anfldam & d @G

Bnd s Caalr(Hib;

() wsd Gwldsr suflens [xm. Gy rib sjswiudsr
auflme m X p eTer pred QuUEmSSHUNST  Byeonudssr

afens | X p ap@b;

{3) w3z Syswiulsr Peoy safisir o miliysensr @y SrLmid
Sjsmiudsir By soseflsr @ mlyserTsy Qumaed, QuU®s
&puest soflsit m.(HB0 Qm wulisafisr QuBHESD

UsVSTISST 2. mILI SeNeT S S (HLD.

2 5 8 10 12
(4- 2 3) 15 18
20 18

258 10 2 58] |"
15 16 -
; 20 18
;
12
423 10 42 57
15 — % 16
20 8
uLis 6-1.

STRSHSHTL®D ¢

4 5§ -8 2 -1
2 —4 e -1 -2
—1 6 o 3 0




¥

1.

218

wososmiuds @ drer Preéoaseir 3. @gmn_.trm &mﬁuﬂstm
o siter BevgyaEst 8. sTanGou, QUBES @u.lgmb.

QumE s HUGST 3

4 5 -3|]2 4 5 -3 -1

- -2
3 0

2-4 62 2 -4 6| |-
A 2
3 0

1-1 6 O 2f1-1 6 0 -1
4 -2
3| » 0
utts 6-2.

2x2 4+ (—4) x (-1) +68x8
(—1) x8 +8x (~I)+0x8
4x (—1) +6x (~2)+(~-8) x0
2x (—1) 4 (—4) x (—2) + 8x0
(=1) x (—1) +(8) X (—2) + 0x0

—8 —14
= ‘28 6
-8 -~11

(4x2 +8x(—1)+(—8) x8

. udp& 6-7
@@&5W@m‘amﬂ&smmﬂ Qumds Fuigyor ?

pS6o jemiludssr By L gjenfludest
auflan& . afiens
(2) 2x 38 8 x1
(b) .1 x8 2x 2
(c) g x2 1x2
(d) 2x8 2 x 8
Ce) 3x2 2x 8
® 2x 2 2 x:8
() 1 %38 8 x2

)



219

2. A, Berssip yswhaefisr QuU@msspusvsr il C steflsd
19esraumth B eusnenrudsh edBuULL. @i-BiseneT Broys.

ereoor -} A@ehr sufiens B@er eufleme C@sir m,rﬁsmf‘
2 2x8 8x56 —
g-Q, 3 x4 4 x 2 —
a 4x 8 = 4 x 2
R § x 4 — &5 x 1
. | e= '3><5 ' i x86
mr' — 2x 8 5 x 8

(8) (8 47) B=(56) srafier, B @or auflewe wrg 2

@4 (1 2 8\ B=,4 7
4 &5 6 7 11 6T 50fl60,
; 5) 6
B@)str suflenFeniid &6 &,

Bipdargmih el QUEBESLHETE QFUS.
(5) -3 & 8 4
4 2 ) ( 5 —2 )
(8) 1 8 -4 2
(5 1 2) ( 8 )
. 0
{7) 1 8 -8 I 8\
( 5 & 7 ) ( 2 4 )
) ‘ 5 7
(8) 1 2 .12 8
( 4 0 ) ( -5 1 2

—5 1



sraflsd AB % BA siowé ari (s

(11) A=(1 2\B= /8 0\ C=/—1 4
(51 (23 5 2

ereofld (B1) AB (=) BA (@) BC (%) CB (o) AC
(o) CA (s1) A2 (g) B2 () C?
QY AuHo nd ST NS, .

(12) A=/4 8\ B=/2 1 .
(5 7) (3 o)"“ﬂ‘“

(4 + B)2 5 42 4+ 24B + B2 srend &1 (.

N sML_FHBaT

{1) ¢, d@uerg (2) (o) 2x5 (@) 8x2 () 1xF

@ e @ (2790) @ (330

9) ,18 52 7 ' / 88 52
(46 9 37) (e (”““3)2:(104 81)

71 15 58
72 48
2 2 _
A2 + 24B + B (123 77)

F-8. 2x2 afasysmLw sgewhuldr Gmi wrgysnL ur
Byl HTEWTD

B|VG 5ol :

X€ER stafllsb x X 1 = x eraruded 1 erebrug Qumsbassy
swefl. starCiu@Bh. G sUBurGa gif il oG oyl
Wrsd QuEss BaTBh HCs ol A&,



221
aBSGIseTLLrE, -
4 8 1 0 4 8 .
(2 5) (o 1) =(2 5)""”@"3'
1 0 . .
(O i ) TRTLgG 2 X 2 aurensusmit g sl

@G, Q& | orarsd @Jﬁids&tlu@fn_. DVG djsmiiEsit  FgGr
DjswllserT Gth.

8 X 8 wullemawsirer e el
1 0 0
0 0 1

SPpéeabrL. el QUEmEsisameT s ST &,

(1) 5 1 2 —1 _ 1
9 2 ) -9 53 0

(2) 5 2 ( 8 -2 1
7 8 -7 5

(!
> (1D (ED-C0)
T e
(D T )

(o 1)
- @oup e Bl Frib STETLIgG

1. s el 2cftor  ape apemevalili. o g seir
By gemflufed G 1h wor Puysirersor.

)
)

OO =~ O = O

2. apoh gemfuisd o sirer G1enawr apaned el o iy ser
@i rih genfllulsy @R Lo fufsirer o «

8. wupPsdr QuEBdEHUNST DG RN DG DS,
Sjewnfluier oo Hemeuledts QumESHH @b,



222

- Cugid sTHSHSSTLH 8 Ge6b,
(ape0 apsmev o9 L @ minjsefledr Qu®é s HLISVST )
~;. (gmemr gpenew oL 2 pilysafist QU &S HUSVET)
=(4x5)=(TxX2 =6 |

STQSHs&STLH 4Q60, (3 X (—2)) ——'(2 X (_])) = —4
8, —4 ersirusw jeflsofier oyaold Gnrama wWEHLiy cTerLs

(b,

4 2 5 -2\ _(1 o0
(75 6- 6 | \O0 1

-7 4

86 8
5 2y/-2 Zs\ _(10
(_1\_2 —4 -4 _01)

1 3 .

—4 -4

eTeT& BT AGDTD.

C @rererih gl pgerd Hyenflulsr @i wr mewh
sterlu®n. (2% 2) wyewfludssr Cpior pewllenwd &revwr, -

1. oo apenev L. @ Ml ssmer B _th wor Hms.
-8, giemenT apenso el L @ pysafisr &N wr HmE.
DieudSr HewllSGarensuy LHUIL ST TS,
-4y wrppliuc L @ piysmerd QarairL. Semiudsr geQanrm

2 pismuuyb ewfld Caranauudsir LHOIUTD uEd s,

(s Z)@s&r Gpi or memL.w 6w & ewr,
1./ d b
on 14 (41
d -b
ug 2: (_c a)



2238
.'ulq. 8: ad — be
d —b
ad — bc ad — bc

—C d

ad — bc  ad — be

\ a b\.. o .
A.= (c d )@m Cpi tor pewh

Adig. 42

d —b .
A2 = ad — be ad — bc G-
—c a
ad — bc ad — bc
AA™l = A1 4 = | sTeor& &mewreorin.

ad — bc = 0 gpswasd Gpiwrpenl Havewirgy oar
DI

THSHERTLEE ¢

( __g ; )@sér Cptor pepilenid &ireiras.

Biey :

L 2 7
Hi L (_3 4

2 -7
uyg 2: (3 4)

ug 8: (8 x4)-(=8)x(7)=8+281=28¢

2 775
‘Ul.q_ 4. -59_ —2?
3 4
29 29
4 7O . . . /2 -7
<~-8 2)@@ Gpit tor pewh 55 Eﬁ—\
8 4

29 29 )



224
uud pF 6-8

Bpsear. HoNees@ G o7 peflser - G@BSSLTaTTes
SUHED DS ET TS, '

o (EHe () ®(
@ (533) @ (7478) @ (=)
@ (15)® (7s) @ (1 7a)
an (73 7h)

W

e Har
5 —2 -8 &
€ (._7 3) @ [ 16 18
| .
T ANT
8 7
2 s 5
=1 4.
5 B

{8), (10) Gpitor pewfl! S wrGl.

€6°9. _gevilseanearti uxusa'ru@g‘?g 2 wrisefd o drar
Pl & FIrUT® seflar Siajd HsTLh & reursd

STBSHHETED ¢
Sida s
3x +5y=29
x4+ 8 =11
Biey :
8x +65y= 289
x4+ 2y=11

wrsiuems @row® elsofidr Qupdsn uneTis srugs,



28

®
8 &5 7 x 29
(1 2) (.V)=(11) D
s e s |
/(1 g)@ﬁcp#mwmmﬂ(_l 3)%@1-”.

<usrur® (1)@sr Qoupeptd ( _,_? —g By eacrypid .

CEREHE-E D
(o) ()~ (858
¢) = (%)

x=8, y=4
Sioybaewris = { (8, 4) }

TH S s1dsT @ 2:
Slaemer s LwaTUR SRS Stéa :

4x — 8y = 14
5x + 2y = 29

Biay:
4x — 8y.= 14
5x 1+ 8y = 29

Sl s Gretr® seefasisr QLGS HLOATTS TS

4 ~8Y (% 14
| —\ a9 v (1
(5 2)~ (y) (29), ()
r4 8\ . . P
‘(5 2)@“’ Gpior pewf) 1.0 §

-—8 4

28 28

M. X.—15



898

swsur® (D@ Qoupwd (2 2\ e
apsiry pib
=5 4 | Gupss,
25 23
7 2 8 4 -8 x
35 23 \s 2) \,)
—5 4
28 23
g 8 14
= 28 28 (29)3
-5 4
8 o8
1 0 X : 28 +ﬂ
(1) C)= (= +=
_ | =70 118
25 T 23
A x _(5
(3)=(2)
XxX=86, y=2 )
Stojssamrin = { (5, 2)}
Lu? H& 6-9

- oeflisefidr 0 gal Qardr® Géraimnp swsrur@ssfisr
Blajsaem tigemor d arors,

(1) 8x+2 =56 () 4x +8y =17
x4+ 8y =10 8x -4y = 18

(8) 2x+ y=8 = (4) 8x—5y=28

, 6x — 8y = 15 7X+ 2 =5

b)) x—82=-8 () d4x — 7y = — 58
8x + 4y == 26 Tx — 82y =~ 21

(7) 4x — 5y = —8 (8) 2x—8y=1
6x — 8y =1 x4+ 4y =28

(9) 8x+ 8 =—18 (10) 6x—7y=11
x—-4y7=5 & —3y=35



l'

2,

8.

9.

8.

Oy

28e7

€1 {1} (@) {(&38)} (8) {(8,0))
(4) {0, =D} (5) {(25)} (8) {(-1.7)}
7 L2y (B {1}y

%) {(=8, -2} (10) {(-2 -8)}

LUTLF FHEHEHID

sy efleuyBiseT R QFsiuius LNID ST L CUBHo S

* jewf) Ter LRI,

mxn eufisusier yeulludsh m Henysepn, n Bysosenid,
mn @_mILLSEHL @)W G Lb.

&mm,&@ 2 M sEHh  LhFFWIOTES Qaredi. 5wl -
Lpd P gyewh sTeor a(Bib.

26y auflsms Qarar. B ollaaid 955 BLEi@afsn
2 orer @ M ssir GooflS SafGI QeiT NISQASTT QY FLOLOT T T 60
DIFINY FLO- BIETISET T (G 1h.

2Cr euflenawsirer Syenilaamer$Srsr sl L. woiguyb. Djeup
Pt (D@D Lot Hyswufsh 2 mItiyser eud ST @5s
B iisafisysrer 2 mitijsefisr Gefld sl o (B SsosarT@Ld.
@f ewiudsir @ giyser QeQeursT Bsir g (Do Bwsv
Sfsemers QaTar(l 2 (HeuUTSSIUBD il wgevseiludear
61 S swoflwr (g Lb.

A—B=A4+ (- B) 6T 60T suso)gu.l@&&uu@w

@i jeoilufesr @m(Bsumr 2 piyh 9m GO Quods
Qi1 605T 6307 60 Qqu&auu@mg} SeonFulells QUBESH 6TearLd

u(®ib.

QumssiuBd swhufsr By soasr @u@e‘s@dz Sjswiludlesr
Pojsapd@s - FLLTRITOSTST  HNLGUBSSH  ausnHy
wmsatuGApg. Sy, Breéd Geryl QuBsssafisr
Fa (DB H LSOST&EST QLSS H usoeflsir @ pIlismer S B @®the
( g Z)a‘rsﬁr;p Djsouniufesr amﬂ&@swmm;mﬁﬂq (ab — bc)

%SG



228

10. (: Z) stéirp oyemiuldssr Cpiorg (BUEdsH S )

8.

Sy,
d —b
ad — be ad — bc .
e 2 & Gib.
ad — bc ad — bc
SOToT WayF GFr Bswer
FOHESGS ¢

(53 72) (e
(1) ) (-

steooflsb A — B + 8Cyps srawra.

' Stéa: 5 2 1y +x=41 1 1
8 10 2 —1 8
-2 4 2 5 1 4

© QUHES HLIVSTT BT ST TS,

1 -2 1 4 &
2 o 38 2 1
5 0 4 7 6
, 4 3 . . . ,
( _s —1 )@m Cpirpanflepws Srams.
Swfl@semert) LUSTURSHS Sida.

2x + 8y =138
8x 4 8 = 12

2

2.1 0
-4 5 2
1 0 3

1)



229
oo (1707 — 1788)

F+V=E+2 eoip &3I15m5 it augliysefisd
BT aoGLrh. @soard soLDhs QUG sl
Gueng 60Cwirern i ayiseoi {Leonard Euler) ersstusuf apeuri.
Gropsé© QO N BITHEBES Gt urphs Qeut, aella
BrieL & Geippeut. Iy PTTUISEHS S (HDT ST S
QsrEss QaueflliBn uswl sL_$5 DBUG PSTOSTTES
QarLipg Hsphps uedpg. puigud, Reorayn ousw
qpig UL wWefsmsn. g G UL ULaeflsr erajn S&Tann
aye erfeor edwliemus o efey LML SSma THTID S
Bhhspsd oot SHEns

1707 gpth Spoir(H glged wWrgd 1o gylb prer oy iieol
Ggreirderri. Qeui spmguri oo Afssa wsLGurgad.
puiomd  wslCurgarre ayGueTBh  earCn s
Spomgwri edmbOarri. perred. &Hafllgs ssval g disufisT
SUTPEMSL LT GoW 10T HHweSsH eI L gGi.

Cudlsh LhsHVE SPESH5H0 SSHMUWD FU®m QuTHuyh
puleoi apmTi. HOCuUTEH Corssrsv QuiGarTed sTETD
sewllg @ush g epflsr @aridy GauhaE gpu_g. apdtm
Ssoauumpasie. sowndlphs TLBS sl Guen gsmer
D wdpsfiss QuamuysmLwg QuiGarredular @@HbuLb.
DS55G Anly aurdips QuiGsTTed auissr. QPHUINGHEES
ety @m urih &pllés epsreupgri.  Qui Gerrelulssr
BlyLar—gaud GRuusmass Ceipgs GCLeil. ;ﬁ@awwf
509G wrAsr Carpewuh A yuwgrs. QuiGarreiulsr GO
WS HO @ourraGen HHuisol wHseO Lri

o mAwredsysier UL dsUTE  SPad, HESTOSGHD
D odeér wQAUEE  Gfelud BT  HpausTorss
BDappss. dspssIsr vEsHvs Hopuls i
Qaipari. argsmers upld rrw pulli. eud, eduler
SSTemwenw efardsaid Hm0 upPw usv CsrurBHsener
2 meurdaayb QFligri. b WGBSHO QPWaSSHHOT UDL.O
4y@6 gpouth sTSGImpips gwrsd Appg SleTms  Fuigiid
sTeTu B Spuisor QIS s &1 g i,

o mAwurelshr Qar@ruCsrerld opuli @&, gplsof
Quislsr sasHd Car aups HwYlnlener o Hord. SOCuUTH



. 280

Gy pri@® o oeufi-b susbu eupg sy urrTii
pul i,  eperrsn puiwGrr, rfulst ply  ssr@:
wdprwsd @R QarHaer w HCW uBvelGeri. -« rebrau _er
Gus ger embueisienso?’® etairm - o Hulsir elerTed H(G.
< ufevi Qe rsirer ufeb: *GuAlarred HTEEOHD BT I
Omig supseust prer . GOuHOST apooh Uil oL
BObS 0§ ST BT DI LT T (Lplg.Ujib.

HUCurgy  QuisGanear PporQaups 9QrLRE oy,
pieoflsst  Guy fHeneutt - uwsuemsulguth Lweru®h S HEC@T T
wri. Bri® srewrs qpemp,, BrOurger. o nmieufs Qseveay,
gu'.:gb,@luds Pl b g el usv Gempaefgyid FF@UI_@ Qsum i
SEWTL.  Qpussofsir Gur ey efwéasd sassTgh. Gt
R_eodsir  Lsv ,lblr@assrﬁm poLapempulsh B@bgund ¢ T o
M;ﬁn_ur gUipPwg HUL b’ ypuied sufulsd oupsameulus
D4 (G1LD,

S soauliGe srgfuwrsd Cush @pHpe Ghors.
&ag&w;sﬁmns\), GO L RS HredeE Spiisod Lﬁﬁ@mg up o
Gopus Qasrimdug. Gphome WwrHpSHs WiHS.
Pt pueot, BarBo SlCisuts (Gerepu Qeehsr
ArrB) pE®EGS Qodrm, S HHITUEA ualow Q@riith.
grt. HUCurs o BAwredd Csgaysr o fulsr g
ub yBw A Apiure Pepisg. @plivengub Deut i

GObuSHori LHQwTDITLDTUD iy & ufiGeur® ssueflgsri..
psireor Gy 9@&@01 uriesusmw QuUbHmbs Dpussor, HuGurg
B35 soT uTTemamWLD BéETearTi. WS G@LTTeT
Osrgys  puiivg g o Heurppsh  GibBugid & pwaflsbsnev. .
Qo wwHCCw L srOGwBeser waTULTLh QEdig
ertss Beneraur hpsd DUMSGU QU SFImeRTWITES el i
Aug. s syerorar B saTims BTy G e
sutaer Cur’® efemiudsh S0y QovdsSHed WrYUL L. sTEHT
amery Quipert. e Couguri.enr. - iR ib Qzpfels .
Curg, wearsHCCW & sawdma’ GuIl(Ré shurer
sfoLaw 2.1 Car Qzfedsari. 2L p@mp BGBLIsybd 9.
wsICsr(h® FRUL® QPUIST DTED B PRITSSI 6T HIOy;
Bbmew eTHUSDG pUivCr  eresr preuti. Sjouflsir  Beneor
ourppeveoth werSHpsmard @b P Audssr apsuth yf b ge
Qarsirersurs,



281

sollg Qevsn, pleofar ofays Sperrd a‘mr_ﬁ‘g
WS &6r 1BS0 LVITGLL. ST R Meukisefisr 2. dfassr afafit
AJHET wausst QeunPpRen Cu o srer Qzri_iiGanerd
@ B pgaut apilinCr apeut. ‘Garefdsioutd Lyt sterp L&
urPss ydeoor IPaISsumin Gy <gpeuri. apuieod
UTPHS &revth augsor pmudF Aplismuls QupngCuraCa, elsua'g
Anem peyth euyeor i mis FPULIHL_WST(GLb.

T10) ‘zbrrx' wrenew Cor $Hv, yHsras 5a&r|‘_15uﬂ Qupp
v safissr alarQauelll LwaT Sms RUY. Ao BarsGEmar
ot Curle ri. @Grefed pedrutasessr ed@mpa o QdrLriE.
suCuy e uu_svr fHg Cpy b alsmerwirigws (Feir, ynsd G Pwamd
£CY g ¢ preir sTACmsir * st M QEmsved @ udief L.
puieoflsr gty Hpsir B, Jaui wpayh eNwundph
(CUTELCTR

affouwrefl Ruis - pilteor, 2 0BHH HPurel FpsTH.
BUT G UT PSS LT $ Hed el psfuyb Ceriayh wor B tor i
Qb BT Qouisib, 9C6r werSgHLsr oPauryrdisHuld
FRULE LopssTi. srib ewdd CararPug fm Qumb
G.r_r,'réasg.@sar QuUrBLGL. .eTaTus o uipg - ourppsait
Qpeurt.

i aurpsosulsy Bspbs Fapsfssr umab, pusEG
u 'nfener SmouareuTGid. Gplievsny LGurey. Hemsrour H payth,
Anpsmas QeuuGnarBib erarnp Hpsemeryd, Hoards
»sd FTHEGL Hpauib PTG GBI QU LusCarT(BHib.
DBIBISTD  (pllesT pred,  19HGTeD QLT HSTEWLTSE  ayenioujth
sTET LI H6d sTsiTamen eyih spuILlsLsmev.



7. anger Quied
7-1. 8Euysd

7-1-1. siar swudss apSGsror K1z

o0 samshd §Cr Carilnsd Howwrg A, B, C saadrp
wsrp ysiefsarrsd Stwrefdsnu®id AB. BC, CA sTe8r
gy Cor (s ger@acfiar Cotiy 9m wdCarsmwdy starie
u@Bid. G AABC sty @PssiuBd eeirmy s aGLIDs>
up $Csrh. dGasramrdisaTOuppy srerd  meh & Do
asmdgiamar @UOurqpgy HotnIl uriHGurb.

Brar® cupa Quid o parkisdr Ry yerayd 2C
e paIgph QSISTYBEZTO S FFusiwid T TR h.

(i) AABC, ADEF@®

AB = DE
AC = DF
LA = ¢D
¢ F
A : B D * 3

uL.ta 7-1.

Sudsd Garaurd udsd® Sy dCareferu.,
AABC = ADEF



238
SUMEE ¢

suvdstisefm _Cuysior CsTawmdssT FWWLTRITOSTEr
wéCaramiiatr Fiausn o @b ‘

AB = DE; 'AC = DF; (C = (F apentéd Syomes
Fltaiswwrs Puiéss Csamaiufsame

(i) ALMN. APQR@s.

LL = /P
LM= /0
Ii = 7D
N R
L M P Q
uL.tb 7-2.

‘Casreawrid us&sd Corard’ g éCsraflsruilg.,
A LMN = A PQR.

(i) A XYZ, A X'Y'Z@s.

XY = XY
YZ = YZ )
ZX =*7'X’
z
£ +
ueth 7-8.

‘WAEH LE&KD UEBWLD iy &CarafisirLig.,
A XYZ = AX'YZ



2384
qiv) A ABC, APQOR sisirp @m QehiCarem apdGsrear®
seflsv, '
mLA = m/P=80°
AC = PR

BC = OR

N LN

A B P : Q

vt 7-4.

‘g e0r1h LB g.&Carafisrulg

QsdCasraw A ABC = QsmGarenr A POR.

LU HP 7-1+1

Fitou swUTERIGST (& Bés0U(HeTar Ysraumh YPéCeraxd

Ceorgas sio cwUES WECETETRST P STJTD JaPI%.

0

v 7-5.



. 286

uth 7-6.

vt 7-7. uL 7-8.




238

1
[

ut s 7-18.

e Ber

(D oo (2) @dow (3) b, Caru Car’
{4) BQsvensv. (8) b, ‘s u . (6) wpw, ‘U Gar u*
{7) @b, ‘u Gar u’ (8) @b, ‘v Car u’ (8) <pib,
“u 0w '

7-1-2. yerafl anfs Gar@ser

ensir ) Dysveog! apsir s Cuopuri Can@asdr om ysrefl
Ad spHSsTH G pw ydrad enfs BHT® &6 sTeOTL
LRSS per.  @UAUIEH 9w eCarar SHdr Qm  ysief
wufs GarPasr Avapeps srawrGuribd.



237
1' AABC@sby A!BQC

sTeérp @ iflaafebBmig
wpemnGui AL, BM, CN N M
s16r'p QFRBsHTEH BT
su e g wiul (B er er . o
Smeu  FEHEGWL  Leiref
0, A ABCGar Qom
Bsr @ eowwid srewl) ,
ufd, B L C
uLw 7-14.
2, A ABC@e,
BD = DC
CE = EA

AF = FB eroofisv,
4D, BE, CF
B3B8 Gar@sar  opGib.
- Qmer  apsirmib FhRSGh
B D C ysirell G.
uLih 7-185.
AG:GD =BG:GE=CG:GF=2:1 etora)d srewr
ST iD.
G, wpaCasrenr eniowitd sTewiL(Bib.
8. AP, BO: CR wenpQ@u LA, (B, £LC Q_,:ﬂum;ba’np
Bm swés  FaPHR6E peT. A
B ysrp CarcBd S B
sepd [ eisirp ysirefl  anf
wrsd Q@ & &b a1 & &7 M e,
ID L AC aps eusnys. Igp Q
sowwirseyd,  Dgy priors R
ayih Qarair(®H msﬂwnu@m
e t_th AB» BC: CA «pdw

Uusastasmar $ QpriHi. ~
starGou, I, upaCarenr Heir B DP ¢
o 61 L v steariiu® uLd 7-18.

Enst.

X9



288

4., @n waGsrawshar apsdryy LESSHGET sznm.zué-;
G558 Car@asT 9@ Yool aufGu Qedgyfstpar. U yeraft
&OHm el ewuib starOubaADngl.

A ABCst,- D. E. F gpsopQui, BC, CA: AB gy el H PHer
BEUsToREST @p@ih.
A

DS L BC
ES L CA
FS L AB

5;—5', E.S» F—@ %@U
BLwd G5 H5id Car@ser
S ersirp ysrefiudsh =5 HE
Seirpar. S LWILTE
eyin, SA g BT
Qaratr®  euEyWlLELY
v o Ll 4, B, C
uLh 7-17. ; suifiGu Qedgidpgy. S,

AABC @eit s pay el L smwusth Sh@GLb.

Ll HS  7-1-2

i grmr o1y & Healair cym)w usmaugw 2_63YT ) LD 63 61T &5
BT B,

1. @f @® suuss wsGaraw $AHASr ouNLdsSHdT g
Sl@is aoruiudn Geuginsd Gar® &8k
Carewrseong B)® #0d s PHEADS.

-8, gt @w Fuuds wiCsrawrsddr 2 FARB@ES Sinlr
ussSSPe aruIuGn CFRGSHSCar® @g.LiLd
sjms Q6 m&“ﬁ‘?ﬂ@@m@.

2 @i Gu FwLUES '(yzéGsrrmrgf;@G&r QFUCHI (R entausid.
2.6 UL enowib, & pHmoE sute. mwlum ;%aiimaf,a m(‘g
(Sarn_tq.su 28 LY 15 6T 61T T



2389

4. pm swudss wiGarawSHar FHMm L. endwid, D e
UL sowownd, QeiiGsr () wwwid dur apsir pid Gsusis
Cauprewrsmauuicvev. @B vysirafl ;Qb@Lb.

5. om ONGsrawr wasCasrarsHh apm L. ek
QeaGsr @  emwweb péCararsHpEe Qarefil;pb
BT HET

7-1+3. ouile g6t

et th @i eTeflus apgur  susmersy. enlL gply ST
2 lypuph Geipg sl tiugd aariu@ips. el s Hesr
pretrasr, o padr, Carewiadr gpdwma uHd BT 9P s

QBT BB SSidasmer 18 Hih Aensarayui® &Hé OareirGairid,

(1) 906 awlLsfd singn pravasr ol e G B
SOBEG F10 Qsravewalsy R srerer.

Syt enwowitd O

AB D = EF

fi
Q

OF L 4F, 00 L CD,

OR 1 EF aofiéd

OP = 0Q = OR s,

AT T8
Lt 7-18,

P FSMEOWTE QO WL GousHEGSS #1005 rms0als
&_6irGir [5iT 6007 B6T FIF QU FLoL, I



240

(2) ool sHsdr st so praast stausw of peameny
Qeut’. (Pebr pear .

Ogp snworsd Qarairi. sul' L g




241

C
LY HHOWTS P QUL l.G R Q
St srauswn alpasr &ieu
GO BETTTSENST R0 L-TEG
Hesrpesr.

o
N ~~ ~
APB = BQC = CRA srevflsh

P

wth 7-21.

(8) @i ey alLgdd Hyowynr e Ld Gsremrd
QeBiGarenrid Sp(gLh.

b

A0B oL b srafiss AB@ed

mL ACB = m/f ADB
=m/s AEB = 90°

A (0] ‘ B
uL.th 7-22,

(4) 2@ QL prpsysHdsr e HisCaravriad Bams
Proiwys Camswr i1 Qb
c

C
D 8
Y,
B
P P
A
vty 7-28.

AMa "x-- 18



242
ABCD @@ St prparih srafs>
mLA Y mLC=mLB +mLD = 160°
D "

Guognth ABCD stéirp uttes
BTH&T S Hed
msD = mfCBE = m{ BAC
+ mZ BCA

=

uLih 7-24
LU 5 7-1-8

i 9o el 580 @@ oI L b o sramt Gurg weerd

yereflaamerd Caresr@orarar. efiL g Hsir Serih 20 Qwl,

presieir Sonib 16 Q18 ereofed et G Bebr seowl & Flel (1 b 2
Bratr credniorey OaTenesled R.sTerdy cTaTd TR S,

e 2@ alLidPe 0 OsT@Car@® susng W UL (H6iT 6 gt
Gsr® Cartly p& Eawre sl BresT Qar®
yeiafluded eusmywiL’e. oy s B@Esws s PpBEpG.
prezficn  Berd 18 Qeif ershrpred  eul g Hedr By
sreueweney ? |

8. E = CD stasfled

=
AC-&5 aiteu swwoner
effist sTgy ?

LJLL";’, 7-28.



4,

248

AB O el gHdr el @sHE oHIoypBssin
i gEarfgy BC = BD swampsurgy C, D oearn Ho
yerefasit o erererr. GOQuropsr NABC wyib L ABD upn
Fieusiowr 2 e ? '

uth 7-26.

AN R umpeems s
ACB stsirp f @or el shd sumruiue. AC, CB
TETD BraveE@® el sowwh O-s9:3mEg open pGus
OD, OF stéiiusmeu Qb sgs Carl.(G s @Wn’@'&m 6Terflsd
£ DOE@sir syeney wrg ?

ABCD T Uit BTy SHd mL DCA + mL DAC prp
&y ST sTECarewr SHET SereydEGs wh? .

Q&Fus FHy LT (55 F 67

QW ani.th suyis YD R prevows GRLEEI .

BIENSGS Fhou FIUDTRT LD BT OTSMT 6UanT Bt 26u i e
@i prefl@smers GPés. G enow s ysTaAadr ST B
G TRIHSE Osradr L SHENGHCar G Gurg ssuw
QILLL_10TS ByenwEelT HeaT.

o 6T51_ & 6V

‘1)‘6 Qe (2) 6{5‘ {8} ED (4) ,:v%f}j, N YT RAd
£6) 90° (8) miB



244

7-2. eulpafwied &S 16T,

BUGurg u ydwu agefwsd soSSHismeT ST
1R 5560, srar QALBsd apowrsd &HpISQsTsTCMuTD.
UL Biser sueny pg Supepéd &M uriiGurin. Gugrh, sowd
ABs0 ol e LUSTUBD umEssmeTh B 55 Qarer
Gauride

7:2.1. apQargs wpiGsrewT Kissar
T srerenaymanisefisy 18s stoflw @ @weuib w&Garemrior Gib.

uLth 7-27.

ABC etiiguid @® waCarswrd aers. HsSr uEs
DTYSWA S sTaTE.  Qeaseraysaner IGLTe ao Ly
uds jeraysensiar wéCarenrth POR g eusnyas. Bsuafy oo B
w&Ceramriisefisr 955 Carswr DTSN S STANS. o
ereliour 1 @ 6irereor ?

P53 Carawr ymojamard Qarahr.  wéCerswr diss
aupQards wHGsranwr Kiser ster Ui,

R




45

O ABC, A PQR e Swrgpesny siers. B soer,
A ABCIU A POQR emié B nIBGsurd.
meLA = mgP, mgyB=msQ, meC = mLR
AB: PQ == BC:Q0R = CA:RP
AR BC CA
Sy 55 ~OrR T RP

T Bosl CuieBa (&) eoibul Bl  (Sp) BT LLEG
uss Beneyast D orer (p&Carenrmias eusny bg et GurenGe
®d3 Gary s Garommaalsar GHaajemarsd sravrs. &S
Coryouss eareaefist oIdgtismard sTers. GarHi
Ampg unQurgs wiCaranbiasiled uss eTOSST LT D
Bt pemrCovwetr 15 Banevor  yemsyasir  Lor pisu et emew ﬂsurumgs

<y Hlwsson ik,

am aundurss @a@&nmm&aﬂsu @gsg, L& & mI s 6l eir
Sjereysefssr 69 ghiser Flo.

10 1) G 6 GOUIT &,

an wasGasravhisefist ©bs ussissiEr ey
soflesr  efldghissr FwwTEITd®, b ECaTwriss
e Geur & @ smeu.

i

Culs ashL-fpgmauasmard GQarar® BOEGS Gﬁ&nﬁ;
wrer 698 & mSemer U QL peoTiD.

A

THE ST LTS,
A ABC, N ADE Gsv
LA = LA
LB = /4D

& A ABC W A ADE i
AB _ AC _ BC uL 7-29.




'}:—g N . ‘:g = (Q(g.up@th 1 péd &.68)
AB— 4D _ AC—AE

AD T — AE

BD  CE

D4 — EA

Ltk 7-28 @b A ABC @ ewgib by, A PQR Gew

&.wrid by sTefsd IEI—AB—BC—Q‘;—‘k
T T "k, T PO~ Ok T RP ~
AB = k PQ

Cuguth, hy = kb,

A ABC Ber ugliuerey =IE><AB><h]
1

=5kt POk hy

=1 k2.po-n

=7 2
A POR Geir uriiuersy =—;x PO xh,
. . 1 1
- A@c ¢ APQR = -5 k2 PQ hy:i o PQ - hy

am@m rﬁq.@mrr;ms yECsramiiaalid vdatiasi k : 1 ersdrp

W Bopsrd eupfar urdusteest k2 : 1 eterp
aﬂczgs & s8m e i,

hr g our e,

winGawds yredCarauitasfiar ubatissr /: m srarm
AEsS P AoESTS DupSsr UysueTeydsr 2 : m?2
adirp idp 5H8@a@h. |




247
Ll HF 7-247
1. A ABC g
AB=9; BC = 12; CA=15
A DEF s DE = 6
A ABC 4 DEF sresfisy EF, FD sTelsusay ?

uLib 7-81 @b

BC, CE @sr 1@y stsiren $

8.

u.th 7-82 @sb DE sTelisueTay P
A ABC, A\ ADE auyOsurg s

aCarewr tisearr ?




248

4. A
D , OLh 7-88 8¢ Qmbs sTomar
Cuguh @rav® oylurss.
@é@swmﬁ:&mm STAQSBIS,
B c

uLt 7-88

5. O» mlq_@sun:;sg wéGarsmrmiaafisr S liLdatisensr
afdgh 4 : 7 ersirpred youpPHer urlueTaysafisr eiHg b
sreirer 2 :

6. QG andurss wiCasravrdisaiisr uy tiuerasofisr aid b
4:8. upPsr oy Lusstsaiiar a9 g erarar ?

s % e
(1) x=8,y=10 (2) 4,12 (3) DE =} 8C, b
(4) AABC, 0BDC, AADB @eupped s1emsuCuigpith Qrer®
(5) 16:49 (8) 2:8
7-2:2. ayQursgs o @aEInHaT

QmEupp B0 uFulsd m Ay st cTHESTL &6d
Bhs QLG5I 2 BurGh 9B Ay e @Cr Lrrsd
Quilw el iotes eeerg \
domeaagin saemiss

Qarabr® CGurausmgls urig
SoaECpTib, . : ,
L BIseNeT 7 Bisefeir . /\

AEgh Qsfpsred e ant <€ KO -

L iisefidr uy dysafsr o8 s &
WG& STVOTOTE.  THSSHS
STELrs B® eul L Bisefier
KpIBSST 1y, Ty OGS
ST P ed Syou H Pedr Ly Lierey Y
&6 T panpGu w2, ry2

uL.'b 7-84.



249

ST HVGHT Gp@h. rCen, Hraasefidr eldgh ry-2ra-
S1657 pred  ul L daefer  urdusTeysafisr elfgd Tr 2 : Kry?
=% :r,? e,

Byb u_smg ahsm a0 QuigrdGaueng BT
AT ECnrb. 9w Fmy engaud U Quigréstiu@aCurg
srver O g Bulu QuilgréavuBanCaussrH om GEAMI
wGd w o Quigréelu@aBdme. TerCal, UL SHEr uss’
JBomid Quft g7 @Cuwisr i Carswr a7 ay&6r T pT.

A -
CZH B?_ vy Y Y
(8) YyY v
‘C_’J B ) et
I [ - >
0) A Al A
us 7-835.

By oD sgy augails LL_tisefear uda jersysefier aldgib
ayta, aSTPre Seupdst uydueTaysefisr edf s a,2 : ay2
@b, uLBisshidr womerd Garawhadr suQuTapgih 90°
&S BT QW& G-

A

Capy B2 o2 R;

Ss R

9
Cig Ba 2 8
Ch B 9

P Q
Py ’ Qt
P2 p £ QZ‘ a

O A AL.Az e

uta 7-886.



260,

suq.@su:rgsgs &G WIS, CashinslissT, - - BT )&y Breseir e&@m
upen oLt Ul S Peb @617 oUT DI SO0 S Fi . STLLL 6T LD, .

Ui 7-87.
LA HE 7242

uL. g8 Quflw B
&5 eulgeud &THorig.
W6t 2. LG Huled auig.
Qourss HPw BT H&T
Qg6  URNEMTS &Tdl
s QULOLUBEng.
TGS TS S d Hedr
, g wpp ué s ST O
uLih 7-88. & DT & HIT6UIT B
4 Q8 Borapd, 3 Q&8 Sseoplh B_sirer Hpd Ut 75

QF.8 DBOYST o HTG0 QUASTESIUL L Teh BT Bomd.
ﬂmmmm?

.@@ ‘5’Qmﬁl56fﬁw ue sjeraymofisr sﬁ@gsm 8:5 ST -
:9!611.@@66? UU“LEGYT&I’&GYﬂGUT o gth sTesrer ? -

B &gmrmamﬂm uquusrrsuasvﬁsvr 20k A 16 85 sreflsy,.
agm,r_n;ﬂszsr uds syereysefsr eldsin sTsireor ?

uss, Bere; 4 VGBI QT @(r_r, agw'g,@enr iy
uerenauiGurs 4 LG uguumm Qeraii 2® srd
Hebr uds Serey wrg P



Vam® gt
257

v

4. 9 OsdnussHir forh 6 Gslf, Gsvih 5 Grd. ol
Cures 2 i im Lds SsraaeT Qoreiri @ Qadias
&S @str L1y Lerey wir g P ‘
5L HaT
(1) 8,6, 182 (2) 10 9s18 (8) §:85
(4) 4:5 E) 8 . (8) 120 @82

7-2:8. Fmasyer Sadmit -

S euinTuL. § Srefled Lie gyareysst 3, 4, § B0 EeTr
BareTi-  paGararh amis. 8, 4 HOGSHTET USSH
safigr Beiliy. GeuCareamniora DEDBAUMN S STOTS. 65U
Peur® udsdSeiril gith QF aHTh euenga. eupler urd
ueTajssr wampBur 9, 16, £5 Qeif? e e aTanms udTUL G
Srefle@um b e &1 et somih,

furwy 9 + 16 = 25,

S -g. 82 + 42 = 52,




252

. B atCuraGa suenruL g Freflsh uds Sereyssr 5, 12,
18 ogsdter 9@m WwaGarewrd aumrs. 5, 12 DjsVGsireT
udshisafish Gaity QoenGsrawriors JoWUMFS STHTS.

PUQur® UsSFIGTEGID. M FHTH uDFS. I HDIr
wrdusreysst gepCu 25, 144, 189 oy oib.

‘@uidurgy 25 4+ 144 = 169
52 + 122 = 132 evoré arar&Cnrib.

Qurgyeurs,

Cc

A ABCgdomL A = 90°
6T 68T Ot

BC2 = AC? } AB2
9 -&. a? = b2 4 c2

A

eTeu1 Qe

PO QeiGarewr weGsremr g Heir & 60T & Hevr yem efsdr
witdah QeniGaraw 1 usstiaafar Djow &eflcir suiSasm
soflsdr DS Ogranad@é s,

dgraysiv (c 582 B:C) Tarp £CrE54 senlis ey pi
Quwgred Bgu 19 FrEHT OO CaHpik sTar suprisILBA D).

4000 yparPsersE s arCr ur@Geerssfwd v (&

9L QeuGarswr WECarewr $Her LIdsEISaR s B g risener

- APBIGBESS1b. THO ST sLgw 197 80 seflsr g iudst

sofldr  apsevast OFmCaremwors Smwow 3:4:5 ererm

g 350 o sirer pig.5ad s@psmerts LUSTUESH aims.
Wb ewitnd pGMivsr 2y @i,

' 9w QeniCsrenr WPSCaTwr S Hels YSET  ussRsefNsT
- dutdsdisers AL Cuusior QsTLidy elGrer  eTairgy YY) 3



253

Carib. wrprs @ wsCarar S Hor udasnisensar it datisemd
SenL G esiter Qgriienus QsraTC  bapdCemeur i
QFaCeTer wWaGasTswrwr sTan S B wrsfdasorid.

THSHIHTLD :
PG iCarer SHedr LLS YyTeyseT 9, 12, 15 yu@SeT-
sTeflsb Djoogy Sy QFRCHTowr (LpdGaremrionr ?

Biey :

92 = 81, 122 = 144, 152 = 225 ; 1§2 = 92 4 122
sTeiTugTs 9, 12 Gugsiar usstissr Qg BGaranr ILESHISsT,.
15 geogerer usah sieorid ston G Siwreondasor. srar G,
9,12, 15 arstip ués Heroyset QaraiT. wWwaGasTead Q.
QemiGarar up&Caraurih @b,

Qurginurs R weGarar P a2 = b2 + 2 sTeir pred o
aiter $ Heor peremauyd b, ¢ QemiGsrewr $Hsr Lds BeTaY,
&emenwib &HEG 0.

Bomgl CGurewGsy  apH 1  DjeTeyssr  QaT(HESLILL LT

Dsmal @ CemCGarawr WaGarTaw $HST UdES DeTOyEMITS.
B@éSr sTard S L Hiulsur b, ‘

ereur Gau,

R w&Carewr AT R LSS DeTelsT alfdatd wHD
Aouss eraysafisr aufdstisaflar Fwml HS0sTmadE
FUOTOTT BjbapdCaranrih g QemCarer waGarsmrth
QpGh. Quilw udssHHAeHCrujster Garewrd Qsa
Csrewrih @1,

LUl HE 723

1. Aedreumi UsES eTayast Csrair.  wiGarawh Qs sy
Carenr qps@arenrior sTers CorHés.
(i) 12, 20, 18
(ii) 28, 10, 24
(iii) 8, 15, 186



c._QJ
9.4, 5, uss SEressr’ (Qararl. - QFmGarawr . W&
Garewr s snCured (i) " @amwnig (i) ppboLieg
(i) BT LLBkG Lds SerayssT QarairL. waCsT e b
a6 GomGarent upsCarewriisenr P

Gsroumd QeaGaramry Uss JeTeS6 Qsratr. Qs
Garewr wpdQCarenr S Her i 6wl SHAT Dorensud SrevTE,
() 15,2 (1) &56. 6 (i) I, 13
Dehouips siaTsHir Erepd GediBsrawd ussGEsr
Gerayb pempGur Garar Qm QstGaT T (y)&(é‘esrrmr,ds

Seir wHGorm QFEGarawrd udssmGsh GTOT S, .

() 1-8, 05 (i) 15, 1-2 (i) 1'7. 0°&

af e 6ir

1. () @y (i) @b (i) @hme 2. ayb

8. (i) 25 (i) 85 (iii) 17:“;-
4. (i) 1-2 (i) 0°9 '(ii) 15

W24, Garayav Ggppib - 11

STHESSTED :

ugHd 2 = a? 4 b2 4 Sax eTewd T,

A

vt 7-41,



255
Bday 2
QediCarenr A ADBB®
AB2 = 4D2 1. Dp2
AB2 = AD? 4 (DC + CB)2
€=yt (x4 a)?
€T = y? T 4 Sax 4 ut

QstiGarsor A\ ADCGsd, y? 4 x2 = b2

T ot = a? 4 b2 4 20x

U!L@‘/_f)@ '70204

ol rﬁ,
uib 7-42 A
dB 1 BC,
DC L BC araisd |
ACS — AB2 = BD? . DC?2
aawd sri(hs,
8 » c
i 7-42,
D
L uih 7-48 Gsd

DB L 4AC arafied
A\ ' C D2 + BC? = AB2 |- DC%
ersur d 5”&@5*

uLth 7.43,




256

A |
8. uLib 7-44 @6
m{ ABC = 90° stesiled
D AC2 4 DE2? <= AE? | DC?2
sTord &rL(hs.
B E o
ur.th 7-44.
4. _.
urth 7-45 Ged

BD L AD, AD @er entowils
yerefl C, mZ A = 45° eresfled

AB2 = 8 AC? srané &T (P&,

uLth 7-45.

725 aliL &Bmnremrth
sreflsd @@ UL Gmg sy py Cauly TR SSH S srsirs.
,@ﬁjm];(_éﬁn’msﬂ' gQsaih @ UGS wyés. PURurps

C




257

AB s1cirp 189 90 ACB, ADB ersiip Qreaw® ertle g 10057 @
ar Sent_&Berper. ACB Quilw eulL Sgiar® ; ADB & pfur
Sl &g E.

Qui eul L smerH ACB @ £ APB, £ AQP, £ ARB,
L ASB S5&u eult & Caramdissmer g ds. L P g wlBir
b 7-47 Geb suemer Cary L@ srigwuyg Qe sTHE S
L QO LR £S @suQeurst Per gl Qur@SHIuTT S gred L P=
0= LRm /S eadrusngd STERIQTD. F)6Ua i enoeniss
an_1b atang pgt SAUTH&seorid.

utp 7-47.

S KL umrs. BH AB THID BFTEveRT eusnys.
BuGurs Quin el sHiow® ACB §do LAPB, L AQB,
LARB, (LASP pfw e’ d
Carswriisefier o er & & e 6T L3
uTenasLor sl ani & Qs sbr (B 3 P,
Sl S Sjere] QSR (HLIL
MG s ST,

AmsliGureGar A an’e .
SIT(® ADB@s> ,AXB, ,AYB,
LAZB spduw euli &  Carswrss
smar S X Q @
Gty QuBsE LY, LZ Reérbg




258
wags LX =LY = L2 amg  QsfpHOaTsTereorba.

.@m@urrsv(?su Lth eueny BSI ‘CaTT BT T B! @summr"
wsHw§ FRUrFESeTID,

steorGeu,

QP UL &SI 2 diar L & CHret hsear Fio }
g1,

wrpres AB v m prevsr P, O,
R, S srstip ysrafisafled gemnd
@ LAPB = L AQB = L ARKE
= £ 4SB staiflsv APQRSB @@
L gy sir  eflsbelsir f g
@gsmmiqm ﬂmumgsu ULty

4.

- 4B, CD stéruensu Ogp soiows
AT &S QETRiL. el GHeir
L missir. mZOBC = 4Q°
erafld LA, LD, LC spAw |
G s rewT misemsr DTS BEN ST S
ST EUTE . D AOD = A -COB

. STSTUG maﬁre&;mum? ger ?

X
utib 750,



e uth YR85 B
N APD M A BPC ersdru

ehpd ERLTd S,

B. APB ersirg aysnrdigersHei ms APE LD g gt Gy
whed <2q s e B
&M RIFS Rl o7 G 676360 P Rstr Bhuedursn 5 wirgy ?

th_th 7-52.

c

"L ADB = m/ ACB erafied
4, B, C, D srsirp sirafisemearts
upnd eisirew dnp pigugth ?




afemL Bar

1. msZA=msD=mLC = 40°; b,

=
2. “uGasru’ 8. A4PB

4. Cr eutli_gAsr Gusd Hyemwouytd Lsit e seir

7-2:6. emwurdk Gsweoorid

P® alLegeag sroer THHSHEQETRTH I®BF
silurSurs wy ds. GUAuTrgg AL G5 T QI L BIST

B slurHures Ly s ORGsred el enwowid [OF

P

AN—___ B

wm_th 7-54.

AL s8ng. ML L. SO S
gCsmir @ uLGHW
wedg T Cs i PG
premswr  [AB] omwiss
Qa&reird, BTN (LPSHEOTLE
ysireflasit [A, B] ¢psuQeursr
spuyth ullt. enwSCsrH!
B)eo 60T & (& thsusr Ul sh Log & Si:
e® eowus Csravsoms
[£AOB] gpu®@ssis. eul’.
Lshar ugHulsd Breamé S
Wt T Lué &S5 H e
2aiarCGar HCs ubs I
[QuAw Vem;l_ﬁ &I 6TBTIg 50 ]
aul L $HerGosd. @ ysiref

ows CaipesBss [P] sreowfler - el yeir eflaGerr (B
Bememr &@ih aumaudsowyg S5 @® L& Caraw samg [ L APBT
FgpuBssa. QUAOUTES W G&nm‘rﬁmg Qo g QuIBR S &1
B CarawrisaTrs iy $H40arsies Qi urHé Carawr S5

L& Carewr P QU (BS Hi e

eowwis Garemr GHsd urHujib.

L& GaTeRTeplh L0 Ty D_6iT6Teneu 61601 & Smeodr HC prid.

[-;— m/AOB = m[P]



2681

P® oL sHdr evnws Carewr SN Ty HyFeir
olseldsirifg Hoon el & CarowdPer sjerenail:
Guirsh oL k.

Bogl Udtau@h dTOIIESTLHR0T Coaflaju®d st
JG&QW.
1.
uL.ib 7-55@eb O sul’ . enioush.
AB el AP a@ssms
Oareirer u L. aflsb.
L AOP eminwrd Qairevor ib,
L ABP il & Garewrib.-
D BOP@es Gsuefld Garemrs
Detr jerey mL AOP = m £ OBP b
~+m/OPB. OB = OP = an"_
-pFid aarugrd A OPB g
8o svuia YaCarend . Uk 7-55.

aTear@su, mLOBP = m¢ OPB
s niyzAOP = 2m OBP.

=, p uLw 7-58Qs0 O el
SOLDILILD

AB e 1b.
Z AOB, snwows Caremrib.
ms AOB = 180°

LAPB, i Seor el g
Bsvisit er @& irevor 1h,

8 s m/APB = 90°
5. LAOB=2m/APB

uLw 7-56.



g2
) HE 7-2.8

4.
uLlth 7-87 Ged
mL PO = 120° srafsd,
mé PRO stéhsusray?

L.

ULk 7-88 @
mf ACB = 85° arafs:,

ms ACE sréi:euarrsq ?

UL 759 g

TRrUgG Fhur 2




uith 7-60 G
mé ACE = 80° svafleh,
mLAYB eTebsousTay ?

uL.p  7-80.
6 eme_ &6
(1) B0° (2) 70° (8) af (4) 140°

7-27. Qar@ Gaur®

i dag @8rour® usirefiuld QaulGn Car® Csr@:
Bar® sTariiu(ib.

AT

'

it 7-61,

FgBagh guusiefl Og emtowior &d Qarar® SO S d-
aeys.  Ssdr g gCsgib G uwwﬂ Amé @ﬁm@ 3

apreiuded al L5806 @0 Car@Giar® AT(JQ eusmr,rs. urena.
corefepwd Qeran® mL OAT = 9C° srdrusmg s,



264

srenCau,

i om 'L Fhsr S5 9@ ydieflulsd aedgwiin@h
| Car@Car®, @sr@ ysirafiudsh susnrulL®b T 55 HGS
QonisS3TS 26T6T i,

marprs‘gg aclL $fd gCsgun @f oy O4y aars..
BTSSPGL L. sHpEb Qurgiaurer ysrafl AQ oGz

+
9O QsliGS554CaTH ATH UMTS. JoFH BT S5JEGS AsTH
QGarLrs @ 6ren gi.

eren Gsu,

oM L P oy s5Peir Geuafigpenear s ysirafludsd
aswiu@hd R Qsugszsé Csrl® alL PGS
Qzr® Car® =y,

24Csppiaidnts 50 mL—l—:sfﬂm@st Qasr@Csr(y
QUDJ b WpDDMW B PWIOTD.

LS HR 7-207

1. Og swvwwras Qerave @m el sHoH . g e Gwsus
o siar ysrefl A @6 o145 ser Os7(® Car(Basr Hyenwuwyd ¥

2. Og oviwersas Qsredre.
8@ Qurg: soww anli_ms
sepsr QUi sulL & Seir
predss PO Afw sl G
Sp® A@d Qp®
CarLrs  gmudns:.
P4, Egﬂ upp v ST
S papigujid ?




285
+
3. Oy ouvunrss Qsrer. L FPw AB efi.ib. AP..
+ - ++
BO el gApes Qar®h Car@ssr staflsv, APyt BQeayls
stOug Oul L GesrBasr ?

< 8
~ >Q

A —>P
ULt 7-63,
4. prh OA@sr sysrey 5 Qsib. o0@» Qmb T'srsérp
yerefludesr @grenevey 18 &l sTaulisd, AT Hsr Syerey wrg ¥
A

4V

uh 7-84.

i sHi_SBsir

(1) g (2) PA=4Q (8) Qeoww Gar@ssr
(4) 12Qs:8 ‘



266

‘:?’-2 ‘8, Q;mr@@&rn_@a (3&‘-!"19656"'
9@ prafies O ersirp ysrefionws GHss I9CsDid 2@
AUECh umrs. el FHne QaefliGu 57(3,5@1'.7: 2@ ysraft

Pt @Pbs oBBobs WL 5DHE P4, PB stéirp QaT@
~GarHsmer uanjs. e CETmens Qarebr( m PA = m 2’3
STfruen g s,

A
utih 7-68.
srparin AOBPyp Qauly sTBSS OP@ev 1013 &@GuUT g

DA, OB up_syie, PA, f—’:—9 Wb Qur BheBpg. PA = PBs
LA = LBeasiumg 0.

useasraienus Qerar® mL OAP = m/ OBP = 80°%
ml POA = m/{ POB sishumg M.
PA L DA - m/PAC = 90°.

PR Y OB .. m/PBO =

OsdCaramr qpéCaramriias A'ZOAP. A OBA@e
(i) - etevorin:OP Bm @cz@&.rrsmm&@&@w @urrgmursurg;

(i) 04, OB aun’i_p Bsiv SpIisst srerugred 04 = OB



2687
eren Gow, ° ofanTih LuGsh’ wyu.éCarafisrig.
A O4P = N OFP
Cuoepin, 2 P0A = LPCE

sT651 G,

9@ Nli dPiE CuelCuusiar o ysrelulshEba

oL g5 i amrniu@e Qo OsTGCsrl@s saw®
sEpth  Fisvrmod. w@ppa el owugS0 BB GG
Curess i sar efaugioib.

Leaf HF  T-2.8
o o wem T-58 &é
O8 = v
OP = d srafisy,
(1) BP sveusuerey ?
(ii) ACBP ersboums prpsgd ?
Ly

AW

uth 7-88.

P

€ i 7-87@d AL, AM Gar@Gsri(s g (asir
AM = 8 crefle, AL sréliouerey? mL OAM = 80° eraficn,.




268

i) mLLOM, (ii) mL{ MLA stcbeuerey ?

M
o 2005 A
L
uth 7-87.

3. uLb, 7-68 @b 40Bediri. 4D, DC, CB Qpr(
CariiBg g Basit s1eoflsd, m L DOC stéhausray ?

B C
6]
A D
uLth 7-688.

L
4, 9@ sHd A4, B, C, D ij
eT8r p ysirefiaefisy suempwis
ulL.  Qgr® QCar@ssr
PORS eretip Brosy seng D
Simwsdsrper. PQ + RS
=QR 4+ SP ardrumps S~y
Fflurtss. 4




2489
7 6L FH 6T

(1) Nd2 =72, el prosy

(2) 8, (i) 120° (ii) 80° (8) 90°

7-2.9. Ozr® Ga1® - prawr GHrVTD
20 L ghsr Bgierer ysirell 4 Qb TCad R AsTH

“

Gsr(® PAQ g euerys. Qar®n ystel AQS prar 45 @
Uy G QU UL g SI600T 1460
gCasyu mw Carswrb L ACB
Buh APw sult g gHevdrged
gCGsanb ow Carewrh L ADB
PUE  uTS. . GUOUTIRS
LACBQ QaullyQuw®s g
LOAB QGur@® Qurmsgs.
LQAB = L ACB stsitusngs
srers. HHGureGeu £ AD By
Qo yQuBss L BAP Gur®
Qur@msgis. L BAP = LADB
STETUM S S Srerd.  OQousiiCoum
uLBI&mer ey b Qerell® sl swhRSmETy UTmSLTef
Qarar(® er s sfuriss.

uL i 7-70.

B pretr AB e 1ors yeming
D srsb AB 1 PAQ.

msLQAB = m/ BAP = 90°

(g}

o - ADBC 9® ei’L. prpsyid.
star@ou L C, LD ooy eulli g
Dvisitar G 6wr IS 6ir o '

& msLC=myD = 90>

v4\
>
9]

& mZQAB=mzACB
uL 7-71. ms BAP = m/ ADB

& X — 10



270

st Gou,

PO L sAsr Qar® Car@n Osr@® ysrefluds
ueFWULIL L. Freyih DS GD Psueurm Carewrepth .
DHSDPG THCrusTer ulL G Gotriged Rerer el & -
Garewr $ HHn@é &isusiob.

AOT 1) S HEVWIT S

k)
#

B L A0 prewlist @ pemer Pl e
Bar(h WUl Ssma DMWSGD  RebleuT
Carewrps Hspn@ THCrupirer et g gueirigsd Qeirer
L& Careanr 5HHG& siaswwrairsd HECsr® sull g
Snes Qsr®CarLrGib.

)

L HF 7-2-9

.
uLth 7-72@s0 XPY Qar®
Car(®.

() mgRPY (ii) msRPX
(ili) m/ O stéiouarey? '

UL 7-72.

' e
2., uLib 7-788s% AB Qs
. Gar®. -

:myBOD = 120° steoflsb

i) mZBED (i) mDBC
sTslsuaTeYy ? ‘

UL 7-78.



271

—
8. uLub 7-7486 B4 QarBCarl(pé sHt.
mfL D = &0 sreflsd

m s B steusuerey ?

vk

A
uLiy 7-74.

- - —
4. wed 7-75@ AC, 4B QarRGaTL (D& aHissi.
mLA = 80°steoflsb, ms D steissuarey

C = A
80

B
uLtn 7-75.
o 6T L F 611

(1) (i) 80° (i) 150° (iii) 150°
(2) (i) 60° (i) 60° (8) 40° (4) 50°

7-2_10. @l ® euilr miagr _

srefied 98y - @propsiter @ QeueGoup el dadr
ey gl Qo qTOSHE0TS.  Beupsmp @il perdgy
QarpTsl Qurgsss (Hoe 1), Gdr Guhempé AP gy
APFTe paiS5Hé QaraiTGL. Qesir pred, UL & Hsd ST g wieur g
ML BISST @TmpoursTy  QsT@h  Howd@ (B 2):



272

aumBsrper. 9pg @® OwdGuny ulLBsmres Solss
Boder peor (Bemew 8). Hemsv 14@b 2a@b Fen Cus aut’t s
&t @V mpurss o 2 ysreflaefeogrssr  Qsulliy & Qarstap
AT per. QewSL UL 1D uenT By sAUTT&S. apsst oy yeir of sefl 60

QT LT sul L mssT RSICnrrarm Gur®bHel(H B peore

O O

Bemev 1

O QO

Semev 2 fsoe 3
UL 7-78.

8¢ Corgeamarsnws QeusiGougy raCsraL. Gm sl
gretseery LSTURSHF OQouis. @@ ul L nissr 8 ysroft
seffish Qouly dQareirer surdniy Geemev sTerd ST HCprib.

uL 7-77.

@ﬁ’sﬁ@m@ Brib P g Oareraug :

8o owwbisst wrputCLr g =7 BT wrg
ulGLr 26Tor aULL Bisdr Q@epQursry Galyd
Qarsir@pid ysrefladr G e @Cuwsd QuasTg.




278
7:2:11 Qar® a1l dinsr

B® s g6l enpEhuTer D 2 yprsGair Bshsug
QauefitiypraCeaur @ ysteiulegrsr Qasr@Eh sTaOTUMS
7-2:10@6 Qsig CorgmarulsB®mig P pg GaramGLr.

D AD
[ N
— )1

IJI_.I..D 7-7 8.

Qg ysirel CuleBmpg wpEed e L GHr enwwith Agms
. ©
Cridgh b AC&E Qar® Car® CD Qsiissars 2_6iTor .

©
mZs ACD = 90° Guguh, CD, Qgr@id yeirefl Culefispgy
BrewLreug eul L. gdAsir enwwib Bpd Cais@th @prih BC&@s
Qeriigssre SouaDssE sravdGprid. m,BCD = 90°,

+
" starQeu, CD Grabriroug sl $SnGh Qar® Car® <y @ib.
CA® sumy pgs s QsT@® Car® Grovw® el disepsGhd
Qar® GarLre muumgd srardBpri. Qg Qurms
" O3i@ Car@ sTarLuBE DS

5"66]’(361!9

@arenpClursry Qgr@it @l L micsr, Qsr@b
ysirefudeb @@ Qurgs QOgr® Cari.a- QupmisTerer.

usv Gary el L mi&sT o) g  GdiaTrenenind Fd
LIri&&E6UTLD.

M. X.—18



274

7:2-12 Qar@® QUL DWIEISHET

u_ih 7-788% A, By eowvwuwiss Csrar Qo
L disdr @aropQursty 2 LyporsCarBiag G'su_avﬁu_’r
‘yprsGur OsTELCUrE AsrEn ystefl CHRH sumrwitBe

-
@sr® CGar® CD, AC-4@ OQom@ssrs Qg aord
&R GLmid.
- . :
CD L AC —y m,ACD = 90°
hid —
€D L BC — m/BCD = 90°. stemGau.
m¢ ACD = m/ BCD = 90°
mZLACD 4 m{ DCB = 90° 4 90° = 180°

ACB g Gasri(s siaw@®. starCeu, 4, C, B oyBuw apsir ps
yeirefiasenid Cr Cariiy.sh s mer sTerd &1 HCprid.

st Geu,

Bm el Bisst @sremplwrdry Qs Tl (e QT
LT Geuppssr emwwBisepd QsT® ysrelwyih & Cr
Cariligsd Bemiodeir peor.

Guosynd, @pg,sﬁ L S8ST  Jprb ry, GQreviraug
Ul L SHT HpTib ro 6Tef0 Q@ eulL misefsr e BsEnd @b
B CuuysTer O FTensvey

d=ry +r, (@6 alldsemd weliypwrssd
Qasr@uCurg)

d=7ry =ty (@0 L Bisenb 2 ypiorsd QarEibd
Gurgt, ry >ry)

LU HR 7-2:12

1. 5 Qef, 7 Qed, o5 Soreysd Qarahi. G sl missr
Qeuefiliypiorss  Qariired aupPs owvubsard
A Cuusirer QaTenevay wirg ?



275

2. el ghsr yerey 10 Qef, 12 Q&S Qarewme. FHw
el missT -2 U yporss QO TLLTe BeunHHsr  enwowids
&65& B Cuiwysirer QFTemsvey wTg ?

8. 5 058, 8 Qs8, 7 QB T SeTOYSEHSTET APSIT Y
Ul L BiEsT @sirm wHp Frerent. Geusfilypwiras Gari
LTe) HeumDiehT nWBIEST DWEGLD WECarsmr G Heir
L&SE DOTaYST Wrenad 2

4. 8 Qe ol m Qarevi. @@ L SHpgsit 4 Qaf
L m Qarewri. @ euli_digsT ousnywi’ (Heirereor.
DU HOST MWBISEHSG G Cuuisior Qgransay wrg P

69 6 L_FH 6T

(1) 12Qs8 (2) 1Q#8 (8) 11Q@s8 18 @Qsi8.
12 Qa8 (4) 4 Q&8

7-2:13. Q@b gradrHar
M ULLID UMIS. DHD AT HQWTSTY Qaitlig &
Barsirenih sTmuGuayth Rrebr® srovrast AB. CDgp susnra.

U1 7-78.

Smal Qe G ysirell P eTeirs. all-SADG weirGer
Spovg QeualiGus P pmioitsorid. P4, PB, PC, PD =y&us
aupenp Sjerpg  AEraumod Sl usnsmrudsy  Ghss. F
Cor e sow i Hi BB delis.



276

Cergoer | PA| PB| PC| PD| Pa.PB | PC. PD

W 0 -~

S sumaTudedwpbst PA.PB = PC.PD erawr B
&G prib.

sTar@af;

B L GHO B  prewssr eirenpGired gy
G’y & Qasreabrired, QRS SHIRTHETTO DjHLouLD
Gedinsmsafiedr LrdueTeyssr Fwib,

ZICET LT MRS F
‘UL, 7-80 @b @sirer A APC, A DPB @
mLA=m/tD (9> BCEer
Ut &G & T eor Brs6ir )

mntC = m/tB (a9 AD@sr
uL_L & G I 6TT 16T )

NLAPC=m/DPB(550551&
Car soriissir §

s AN APC W A DPB
P4 _ PC

Y ‘ PD T PB

uLt 7-80. PA PB=PC.PD




77
SRS HEHTLPH 2:
uee 7-81860 e.sitar A APC, A DPB@s

ml A= mygPDB (L. prparsHar QeusflaGsareanrpin
st 2 1 Garewrupid &iouainid)

mLC = mLDBP (e’ pripaysPHsir QauefsGarewrapdy
st St 2 1. Csremryntb Flousiah)

m{ APC = m/ DPB (Qurgisuren G&rewrib)

. P4 _PC
** PD ~ PB

PA.PB= PC.PD

SaIahds 3

Ca(Rs gT@selsr Qurgigsner Qe (i ysired,
prEwssT sl SAp@er Qeulné OsrawrBsor, QauaflGus
Qailyd OarawLrGor, GuC (RS HaT@Hsmert QuA@Bb

Qurapgl  Swes  PUCTET UL Qe Bih  ysirefludsd
Q@rLBiEa)ib.

urth 7-81Qd Qo (Bs gHISw@ast PA, PB, PC, PD
&b, AB, BP, CD, DP svev.



278
il p® 7-2¢13

1. uth 7-82@s0 x@er WAL} wrg ?

£ 6
\V‘\j

uLth 7-88&.

2. ul.h 7-88Gw O staTug sulli_ sntowih.

C
/-‘\
A

D

uLth 7-88.

OA.OB 4 0C. 0D = 82 sraflsv, el GHer Qpriy
sreirer 2



279

8. uL.th 7-84e0 presir
AB-&3 o CD Qedr
GSaTE derergy. QLG
Sedr aprih 100e8. el
oo S HeB b g Branfisir
Qgrensoey 6 Qe sTsohed,
srenfledr Djon ey sTeTer?

A\B/ B

ueth 7-84.

4., wth 7-8550 CD@sk sjavay wrg ¢

ut.h 7-88.

il s & 6ir

(1) 2 (2 4 (8) 16@saf (4) 6

7-2:14 QuL@ECHTOh OsrE CET@d

P Ul uany s, L GRp CweliGu gCsanth puw
yeref! Amé @hss. A@QH Aops gCGsaubd 9> Ol @Ré
CarlBp ooT® 4BC B MBS, HH UL GDG Qe G



280
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